EXHIBIT 39

| 1 | Counsel for Indirect Purchaser Plaintiffs | |
|--|--|--|
| 2 | | |
| 3 | | |
| 4 | | |
| 5 | | |
| 6 | | |
| 7 | | |
| 8 | | |
| 9 | | |
| 10 | | |
| 11 | | |
| 12 | UNITED STATES | DISTRICT COURT |
| 13 | NORTHERN DISTRI | ICT OF CALIFORNIA |
| 14 | OAKLANI | DIVISION |
| 15 | | |
| 16 | IN RE: LITHIUM ION BATTERIES ANTITRUST LITIGATION | Case No. 13-MD-02420 YGR (DMR) |
| 17 | | MDL NO. 2420 |
| 18 | | DECLARATION OF STEVEN G. SKLAVER IN SUPPORT OF INDIRECT |
| 19 | | PURCHASER PLAINTIFFS' MOTION FOR AN AWARD OF ATTORNEYS' |
| 20 | This Document Relates to: | FEES AND REIMBURSEMENT OF EXPENSES ON BEHALF OF SUSMAN |
| $\begin{bmatrix} 20 \\ 21 \end{bmatrix}$ | ALL INDIRECT PURCHASER ACTIONS | GODFREY L.L.P. |
| $\begin{bmatrix} 21 \\ 22 \end{bmatrix}$ | | |
| $\begin{bmatrix} 22 \\ 23 \end{bmatrix}$ | | |
| $\begin{bmatrix} 23 \\ 24 \end{bmatrix}$ | | |
| | | |
| 25 | | |
| 26 | | |
| 27 | | |
| 28 | DECLARATION OF STEVEN G. SKLAVER I | N SUPPORT OF IPPS' MOTION FOR AN |
| | AWARD OF ATTORNEYS' FEES AND REIM OF SUSMAN GODFREY L.L.P.; Case No. 13-1 | BURSEMENT OF EXPENSES ON BEHALF |

I, Steven G. Sklaver, declare:

- 1. I am a Partner of Susman Godfrey L.L.P., ("Susman Godfrey"), Counsel for Indirect Purchaser Plaintiffs ("IPPs" or "Plaintiffs") in this action. I submit this declaration in support of IPPs' Motion for an Award of Attorneys' Fees and Reimbursement of Expenses. I make this declaration based on my personal knowledge and if called as a witness, I could and would competently testify to the matters stated herein.
- 2. My firm has served as counsel to class representative Anna Jawor, Andrew Fennelly, David Reymann and other IPPs throughout the course of this litigation. The background and experience of Susman Godfrey and its attorneys are summarized in the curriculum vitae attached hereto as **Exhibit A**.
- 3. Susman Godfrey has prosecuted this litigation solely on a contingent-fee basis, and has been at risk that it would not receive any compensation for prosecuting claims against the defendants. While Susman Godfrey devoted its time and resources to this matter, it has foregone other legal work for which it would have been compensated.
- 4. During the pendency of the litigation, Susman Godfrey performed the following work: conducting legal research for purposes of preparing amended pleadings and opposing multiple motions to dismiss; assisting in briefing responses to multiple motions to dismiss; assisting in preparing amended pleadings; conducting document review (including foreign language) for purposes of responding to motions to dismiss, preparing amended pleadings, and taking deposition discovery; reviewing documents for production in response to written discovery requests; preparing and serving written responses to written discovery; preparing and serving amended responses to written discovery; preparing and serving written discovery on defendants; reviewing defendants' responses to written discovery; identifying deficiencies in defendants' discovery responses and participating in multiple meet and confer conferences with multiple defendants to address deficiencies in written discovery responses and document productions; taking the lead in coordinating the depositions of class representatives; preparing with class representatives

4

5

3

6

8

9

7

10 11

12 13

14 15

16

17 18

19

20 21

22

23 24

25

26

27 28 regarding case status; and conferring with co-lead counsel regarding case strategy, discovery and case status.

- 5. Attached hereto as **Exhibit B** is a billing summary of Susman Godfrey's total hours and lodestar, computed at current rates, from June 1, 2013 to February 28, 2017. Counsel for Plaintiffs are not seeking attorneys' fees for any time billed prior to the appointment of lead counsel. See Order dated May 17, 2013 (ECF No. 194). The total number of hours spent by Susman Godfrey during this period of time was 2,781.90, with a corresponding lodestar of \$1,224,114.50. The lodestar amount reflected in Exhibit B is for work assigned by Lead Counsel, and was performed by professional staff at my law firm. This summary was prepared from contemporaneous, daily time records regularly prepared and maintained by Susman Godfrey. A compilation of those detailed records is attached hereto as **Exhibit D.**
- 6. Attached hereto as **Exhibit** C is a list of the historical rates for Susman Godfrey's attorneys and staff.
- 7. Attached hereto as Exhibit E is a summary of the expenses Susman Godfrey has incurred during the course of this litigation. Susman Godfrey expended a total of \$190,523.88 in unreimbursed costs and expenses in connection with the prosecution of this case. These expenses were incurred on behalf of IPPs by Susman Godfrey on a contingent basis and have not been reimbursed. The expenses reflected in Exhibit E were prepared from expense vouchers, receipts, and bank records, and thus represent an accurate recordation of the expenses incurred.
- 8. I have reviewed the time and expenses reported by Susman Godfrey in this case which are included in this declaration, and I affirm that they are true and accurate.

I declare under penalty of perjury under the laws of the United States that the foregoing is true and correct.

Executed on May 23rd, 2017 at Los Angeles, California.

/s/ Steven G. Sklaver Steven G. Sklaver

DECLARATION OF STEVEN G. SKLAVER IN SUPPORT OF IPPS' MOTION FOR AN AWARD OF ATTORNEYS' FEES AND REIMBURSEMENT OF EXPENSES ON BEHALF OF SUSMAN GODFREY L.L.P.; Case No. 13-md-02420-YGR (DMR)

| 1 | ATTESTATION | | | | | | | | | |
|--|--|--|--|--|--|--|--|--|--|--|
| 2 | I, Demetrius X. Lambrinos, hereby attest, pursuant to United States District Court | | | | | | | | | |
| 3 | Northern District of California Civil Local Rule 5-1(i)(3), that concurrence to the filing of this | | | | | | | | | |
| 4 | document has been obtained from the signatory hereto. | | | | | | | | | |
| 5 | By: /s/ Steven N. Williams | | | | | | | | | |
| 6 | Steven N. Williams | | | | | | | | | |
| 7 | | | | | | | | | | |
| 8 | | | | | | | | | | |
| 9 | | | | | | | | | | |
| 10 | | | | | | | | | | |
| 11 | | | | | | | | | | |
| 12 | | | | | | | | | | |
| 13 | | | | | | | | | | |
| 14 | | | | | | | | | | |
| 15 | | | | | | | | | | |
| 16 | | | | | | | | | | |
| 17 | | | | | | | | | | |
| 18 | | | | | | | | | | |
| 19 20 | | | | | | | | | | |
| $\begin{bmatrix} 20 \\ 21 \end{bmatrix}$ | | | | | | | | | | |
| $\begin{bmatrix} 21 \\ 22 \end{bmatrix}$ | | | | | | | | | | |
| 23 | | | | | | | | | | |
| 24 | | | | | | | | | | |
| 25 | | | | | | | | | | |
| 26 | | | | | | | | | | |
| 27 | | | | | | | | | | |

DECLARATION OF STEVEN G. SKLAVER IN SUPPORT OF IPPS' MOTION FOR AN AWARD OF ATTORNEYS' FEES AND REIMBURSEMENT OF EXPENSES ON BEHALF OF SUSMAN GODFREY L.L.P.; Case No. 13-md-02420-YGR (DMR)

EXHIBIT A

Attorneys

REY L.L.P.

Why Us

| Susman Godf |
|----------------------|
| |
| |
| |
| |
| □ Consumer |
| □ Products Liability |
| □ Securities Fraud |
| |
| |
| |
| |
| |
| |
| |

Class Action

For over thirty-five years, Susman Godfrey has been one of the preeminent firms in the country in class action cases. We have secured billions of dollars in victories for our clients across many fields, including antitrust and price-fixing cases, securities litigation, consumer class actions, and products liability cases. From the Corrugated Container antitrust class action, where Steve Susman's team recovered \$500 million for the plaintiffs, to 2015's \$37.5 million class action win (\$23 million after fees and expenses) for a class of more than 7000 limited partners who invested in 12 oil and gas limited partnerships, the Firm has a tradition of winning results, against the fiercest adversaries, when the stakes are highest. Defendants have also recognized the expertise and prowess of the Firm in class action litigation and the Firm has been retained to represent Defendants in a number of high stakes class action cases.

Careers

News & Awards Search □

Contact

Some of the other recent significant results in class action cases the Firm has handled include:

• In a seminal insurance class action filed in the Southern District of New York, resolved in September 2015, Susman Godfrey served as lead counsel in a case that challenged Phoenix Life Insurance Company's and PHL Variable Insurance Company's decision to raise the cost of insurance ("COI") nationwide on life insurance policy owners. After winning class certification and defeating two motions for class decertification and a motion for summary judgment, the case settled the day of the final Pretrial Conference—less than two months before trial. Settlement terms included: \$48.5 million cash fund (\$34 million after fees and expenses), COI freeze through 2020, and a covenant by Phoenix not to challenge the

policies, worth \$9 billion in face value, when the policies mature on the grounds of lack of insurable interest or misrepresentations in the application. At the final approval hearing, the Court concluded: "I want to say publicly that I think this is an excellent settlement. I think this is a superb – this may be the best settlement pound for pound for the class that I've ever seen."

- A class of 800,000 Comcast cable subscribers represented in part by Susman Godfrey alleged that between Jan. 1, 2003 and Dec. 31, 2008, Comcast and other cable companies entered into subscriber swaps and acquisitions that deterred over-builder competition and enabled Comcast to raise prices to supracompetitive levels, in violation of sections 1 and 2 of the Sherman Act. The parties settled for \$50 million after remand of the case from the U.S. Supreme Court. Final settlement (after fees and expenses) is to be determined later in 2015.
- In May 2014 Susman Godfrey secured a \$19 million cash settlement for customers of two New York City tour bus companies (approximately \$12 million after fees and expenses), Coach USA Inc. and City Sights LLC, and their joint venture, Twin America LLC. The settlement ends an antitrust class action against the joint venture, which plaintiffs said eliminated competition between the two bus companies and artificially raised prices for passengers.
- In December 2013 Susman Godfrey attorneys secured \$86 million in settlements (approximately \$62 million after fees and expenses) when serving as co-lead counsel in litigation involving more than 70 class action cases on behalf of airline passengers who alleged that between January 1, 2000 and August 1, 2007, Korean Air Lines and Asiana Airlines conspired to fix the price of air travel between the United States and the Republic of Korea. The lawsuit asserted that the two airlines, in violation of federal antitrust laws, participated in meetings, conversations and communications during which they agreed to establish artificially high prices for air passenger travel.
- In July 2013 Toyota Motor Corporation agreed to pay benefits worth up to \$1.6 billion (approximately \$1.4 billion after fees and expenses) to settle multi-district class action litigation pending in federal court in Santa Ana, California. In the litigation, plaintiffs, represented by Susman Godfrey, asserted claims for economic losses associated with recalls for unintended acceleration problems in Toyota, Lexus and Scion vehicles.

- In March 2013, Susman Godfrey secured a jury verdict in an antitrust price-fixing class action brought on behalf of direct purchasers of vitamin C against two Chinese vitamin C manufacturers. The \$54.1 million verdict was tripled as required by law and after adjusting for \$32.5 million in settlements with other defendants (\$19.5 million net of fees and expenses), a final judgment of \$147 million was entered against the defendants. The judgment is now on appeal to the Second Circuit Court of Appeals.
- Susman Godfrey represented investors who were allegedly defrauded into purchasing securities issued by the parent of mortgage lender IndyMac Bank. The complaint alleged that IndyMac had misrepresented its financial health and the quality of its lending practices. In January 2013, after more than five years of intense, hard-fought litigation, the court granted final approval of a \$6.5 million recovery for the class (approximately \$4 million after fees and expenses).
- In White, et al. v. NCAA, Susman Godfrey served as co-lead counsel in an antitrust class action alleging that the NCAA violated the federal antitrust laws by restricting amounts of athletic based financial aid. The NCAA settled and paid, after fees and expenses, an additional \$218 million for use by current student-athletes to cover the costs of attending college and paid \$10 million to cover educational and professional development expenses for former student-athletes.
- Susman Godfrey has been appointed to serve as lead or co-lead counsel in over a dozen antitrust class actions since 1996. In appointing Susman Godfrey co-lead counsel in one such case, In re Crude Oil, Judge Pauley praised the firm's long history of serving as "lead counsel in hundreds of class actions, including complex antitrust actions." See In re Crude Oil Commodity Futures Litig., No. 11-CV-3600 (WHP), 2012 WL 569195, at *2 (S.D.N.Y. Feb. 14, 2012).

© Copyright 2017 SUSMAN GODFREY LLP Attorneys at Law. All rights reserved. Attorney Advertising.

Unless otherwise noted in website - Not certified by Texas

Trial by Agreement | Disclaimer | Sitemap

Attorneys

REY L.L.P.

Why Us

| Susman Godi |
|----------------------|
| |
| |
| |
| |
| |
| □ Products Liability |
| ☐ Securities Fraud |
| |
| |
| |
| |
| |
| |
| |
| |
| |

Consumer

Susman Godfrey prides itself on its deep bench of talent, wide range of experience, and ability to take on any case, any time. Its experience in class and mass action cases is not limited to the antitrust and securities fields-the Firm has scored multi-million dollar victories in consumer and civil rights cases, oil royalty and contract litigation, and has successfully represented defendants in a host of "bet the company" class action cases.

Careers

News & Awards Search □

Contact

- Clark v. AdvanceMe, Inc., a class action brought in Los Angeles
 federal court challenging financial arrangements with retail
 merchants under California's laws against usury. Marc Seltzer, Arun
 Subramanian, and Drew Hansen served as lead counsel for the class.
 In 2011, the case was settled for approximately \$23.4 million in cash
 and other economic consideration, approximately \$19 million net to
 the class.
- In 2010, Susman Godfrey was appointed co-lead counsel in the
 wide-ranging Toyota Motor Corp. Unintended Acceleration
 Marketing, Sales Practices, and Products Liability Litigation.
 Susman Godfrey partners Marc Seltzer, Steven Sklaver and Rob Safi
 are in charge of this high-profile case, representing the economic
 loss class action plaintiffs.
- In November 2008, the Firm won a jury trial for a class of California residential telephone customers against AT&T. The case involved a claim that AT&T overcharged customers by collecting \$16.5 million more in Universal Service Fund charges than it paid into the Fund. The Tenth Circuit upheld the verdict. In re Universal Service Fund Telephone Billing Practices Litig., 619 F.3d 1188 (10th Cir. 2010).

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 11 of 68 Susman Godfrey served as lead trial counsel and briefed and argued the appeal.

- In July 2008, Susman Godfrey represented the Hertz Corporation in a class action case challenging the company's rental car fuel service charges. Eric Mayer successfully argued and won the appeal in the case. The class consisted of tens of thousands of class members and Plaintiffs alleged millions of dollars in damages. The Court of Appeals for the Thirteenth District Court of Texas reversed the trial court's class certification order and decertified the class on all claims. This victory will serve as persuasive authority in similar cases around the country.
- In 2006, on behalf of 4300 royalty and overriding royalty owners across the United States, Susman Godfrey attorneys Tom Paterson, Shawn Raymond, and New Mexico co-counsel obtained a \$27.5 million settlement with ConocoPhillips for alleged underpayment of royalty on natural gas liquids produced from the San Juan Basin of northwestern New Mexico and processed at the New Blanco Plant near Bloomfield, New Mexico.
- In 2005, less than a week before the start of a jury trial in Clayton, New Mexico, OXY USA, Inc. agreed to pay \$12 million to settle a class action lawsuit brought by Susman Godfrey's Thomas W. Paterson and Shawn Raymond and New Mexico co-counsel on behalf of a class of royalty owners who had leased mineral rights to OXY for the production of C02 at the Bravo Dome Unit in northeastern New Mexico. The \$12 million settlement represented approximately 90% of the total amount of actual damages sought by the class. The settlement also required OXY to pay litigation expenses of \$400,000 and settlement administration expenses of \$200,000. Finally, OXY has agreed to change how it calculates plaintiffs' royalty on a going-forward basis. This change will result in a near doubling of the royalty amounts OXY was paying the class members before the filing of this lawsuit in 2004.
- In 2004, Susman Godfrey's Bill Carmody won a net \$40 million settlement in Shockey v. Chevron U.S.A., a royalty class action, after prevailing on hotly contested issues of class certification and choice of law.
- Susman Godfrey obtained class certification from the Middle District of Florida for a class of African-American employees of

Consumer - Susman Godfrey L.L.P.

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 12 of 68

Western Auto Supply Co. (now owned by Advance Stores Company, Inc.) who were suing the former auto parts retailer for racial discrimination. The defendants immediately appealed the certification decision to the United States Court of Appeals for the Eleventh Circuit. Susman Godfrey's Joseph Grinstein briefed and argued the appeal, and the Eleventh Circuit affirmed the class certification decision — the first such class action the Eleventh Circuit had upheld in decades. The case settled in 2003, with the defendants making a substantial payment to the class.

© Copyright 2017 SUSMAN GODFREY LLP Attorneys at Law. All rights reserved. Attorney Advertising. Unless otherwise noted in website - Not certified by Texas Board of Legal Specialization

Trial by Agreement | Disclaimer | Sitemap

SUSMAN GODFREY L.L.P.



Marc M. Seltzer Partner

Los Angeles (310) 789-3102 mseltzer@susmangodfrey.com

Overview

Marc Seltzer has practiced law for more than forty years, litigating complex cases in state and federal courts throughout the United States. Before joining Susman Godfrey, he was a principal in the law firm of Corinblit & Seltzer, a Professional Corporation. Marc Seltzer's relationship with the lawyers of Susman Godfrey began in the late 1970's, when he worked with Steve Susman on the *Corrugated Container* antitrust case. In the ensuing years, Mr. Seltzer joined forces with Susman Godfrey on a number of other cases. In February 1998, Marc Seltzer became a partner of the firm, and opened the firm's Los Angeles office. Since then, the firm's Los Angeles office has become one of the leading litigation boutiques in California.

Marc Seltzer's involvement in nationally prominent litigation began in the mid-1970's, when he was tapped by Jack Corinblit to work on the massive *Equity Funding* securities litigation. That case consisted of more than 100 consolidated class and private action cases, and was settled in 1976 for over \$60 million, then the largest recovery ever achieved in a securities fraud class action. *See In re Equity Funding Corp. of America Securities Litigation*, 438 F. Supp. 1303 (C.D. Cal. 1977). Later, in the 1980's, Mr. Seltzer was appointed by the Los Angeles federal court to serve as sole lead counsel to represent the plaintiff class in the *ZZZZ Best* securities fraud case. The *ZZZZ Best* fraud was described by the United States Attorney for the Central District of California as "the most massive and elaborate securities fraud perpetrated on the West Coast in over a decade," harking back to the Equity Funding case. The case resulted in several important published decisions sustaining plaintiffs' claims. *See In re ZZZZ Best Securities Litigation*, 864 F. Supp. 960 (C.D. Cal. 1994).

Since joining the firm, Mr. Seltzer has continued to work on complex litigation. Marc Seltzer was, together with Steve Susman, a member of the Susman Godfrey trial team representing approximately 90 financial institutions in a negligent misrepresentation case against one of the "Big Four" accounting firms. That case settled just prior to the commencement of trial. Marc Seltzer also teamed with Steve Susman in prosecuting the In *re Vitamin Antitrust Litigation*, which was settled pursuant to agreements that made more than \$1.05 billion available to the class.

In *McCourt v. McCourt*, Mr. Seltzer served as co-trial counsel with Steve Susman in representing Frank McCourt in his marital property litigation with his former wife which involved competing claims to ownership of the Los Angeles Dodgers. In 2015, Mr. Seltzer successfully argued the appeal taken in that case by Ms. McCourt from the order denying her motion to set aside the settlement reached in that case.

In the *In re Toyota Motor Corp. Unintended Acceleration Marketing, Sales Practices, and Products Liability Litigation*, Marc Seltzer was appointed by the Court to serve as one of the co-lead counsel for the economic loss class action plaintiffs. After three years of hard fought litigation, an historic settlement was reached valued by the Court at approximately \$1.6 billion, with the class receiving net benefits valued at approximately \$1.4 billion.

In December 2013, Mr. Seltzer was named to *Law360's* annual list of legal "MVPs." He was one of just three attorneys in the nation selected by *Law360* for recognition in the Class Action category. In 2014, 2015 and 2016, he was named to the *International Who's Who of Competition Lawyers & Economists*. Nominees were selected by *Global Competition Review* based upon "comprehensive, independent survey work with both general counsel and private practice lawyers worldwide."

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 14 of 68

Mr. Seltzer has been appointed to serve as lead or co-lead counsel for plaintiffs in numerous additional cases noted below. Over his many years of practice, Mr. Seltzer has also represented defendants in a wide variety of cases, including antitrust, securities, copyright, trademark, trade secret, unfair competition and other complex litigation.

Education

- University of California at Berkeley (B.A., 1969)
- UCLA School of Law (J.D., 1972)

Honors and Distinctions

- Recipient, 2012 Jewish Federation of Los Angeles' Bruce I. Hochman-Maimonides Torch of Justice Award
- Recipient, 2004 American ORT Jurisprudence Award
- Named a "Super Lawyer" by Southern California Law & Politics magazine (2004-2017, Thomson Reuters)
- Named one of Law Dragon's 500 Leading Plaintiff's Lawyers (2007)
- Named one of Law Dragon's 100 Lawyers You Need To Know in Securities Litigation (2008)
- Named a Litigation Star by Benchmark Litigation (2014 and 2015)
- Ranked by Martindale-Hubble as an AV Preeminent Lawyer (2015)
- Named by US News as one of the Best Lawyers in America (2016, Woodward White, Inc.)

Books and Articles

- Co-author, California Federal Civil Rules (LexisNexis 2015);
- Co-author, California State Antitrust and Unfair Competition Law (Matthew Bender & Co. 2014), published by the Antitrust and Unfair Competition Law Section, State Bar of California
- "Choosing Between Class and Derivative Actions," published in Second Annual Institute, Class and Derivative
 Litigation in the 1990's The New Frontier (Prentice Hall Law & Bus. 1991); and the same topic for
 subsequent Annual Institutes
- "Measures of Damages in Private Actions for Violations of the Federal Securities Laws: The Basic Rules and Selected Problems," published in Securities Litigation 1990 (PLI 1990)
- "Shareholders' Derivative Suits in Contests for Corporate Control," published in Securities Litigation 1986: Prosecution and Defense Strategies (PLI 1986)

Professional Associations and Memberships

- Past Vice-Chair of the Executive Committee, Antitrust and Unfair Competition Law Section, State Bar of California
- Past President and current member of the Board of Directors of the Ninth Judicial Circuit Historical Society
- Past President and current member of the Board of Directors of the Legal Aid Foundation of Los Angeles
- Member, Executive Committee of the Litigation Section of the Los Angeles County Bar Association
- Member, The Chancery Club
- Member, Board of Governors of the Association of Business Trial Lawyers
- Member, Board of Directors of the National Equal Justice Library
- Member, Board of Directors, American Friends of Hebrew University, Western Region
- Member, Board of Trustees of the Lawyers Committee for Civil Rights Under Law
- Member, Board of Directors of the Friends of the Los Angeles County Law Library
- Life Member of the American Law Institute
- Member, Advisory Board of the American Antitrust Institute
- Life Fellow of the American Bar Foundation
- Member, American Bar Association (and its Business Law, Antitrust Law, Torts and Insurance Law, and Litigation Sections)
- Member, American Association for Justice
- Member, Consumer Attorneys of California

• Member, Selden Society

Notable Representation

- In re Korean Air Lines Co., Ltd. Antitrust Litigation, consisting of more than eighty consolidated antitrust class action cases pending in the Los Angeles federal court. Marc Seltzer was appointed by the Los Angeles federal court to serve as one of the co-lead counsel for the class. The case was settled for \$86 million in cash and travel vouchers, with the class receiving approximately \$60 million.
- Schulein, et al. v. Petroleum Development Corp., et al., a case in which Marc Seltzer served as lead counsel for the plaintiffs in a class action brought in Santa Ana federal court on behalf of more than 7000 limited partners who invested in the 12 limited partnerships. Plaintiffs alleged the defendants made false and misleading statements and omitted material information regarding the value of the partnerships in its proxy statements used to solicit votes in favor of mergers that cased them out of their investments. After three years of hard fought litigation and following the court's denial of defendants' class decertification motion, partial motions for summary judgment and a motion that the plaintiffs weren't entitled to seek punitive damages, the case was settled for \$37.5 million in March 2015, with the class receiving approximately \$24 million.
- McGuire v. Dendreon Corp., consolidated securities fraud class action cases filed in Seattle federal court in which Marc Seltzer was appointed by the Court to serve as lead counsel for the class. The case was settled on the eve of trial for \$16.5 million, with the class receiving approximately \$12 million.
- Clark v. AdvanceMe, Inc., a class action brought in Los Angeles federal court challenging financial arrangements with retail merchants under California's laws against usury. Marc Seltzer served as lead counsel for the class. The case was settled for approximately \$23.4 million in cash and other economic consideration, with the class receiving approximately \$19 million.
- CLRB Hanson Industries, LLC v. Google, Inc., a class action for alleged false advertising which was settled for \$20 million, with the class receiving \$15 million. Marc Seltzer successfully argued the appeal from the judgment approving the settlement before the Ninth Circuit. See 465 Fed. Appx. 617 (9th Cir. 2012)
- In Re Universal Service Fund Telephone Billing Practices Litigation, an antitrust and breach of contract class action involving more than fifty consolidated cases in which Marc Seltzer served as co-lead trial counsel for plaintiffs. The case was settled as to one defendant for benefits to the class totaling \$25 million, and tried to a verdict as to the remaining defendant. The jury found in favor of defendant on the antitrust claim and returned a verdict in favor of plaintiffs on the breach of contract claim which was affirmed by the Tenth Circuit. The trial court issued numerous published decisions in this matter. See, e.g., In Re Universal Service Fund Telephone Billing Practices Litigation, 300 F. Supp.2d 1107 (D. Kan. 2003).
- Masimo Corp. v. Tyco Healthcare Group L.P., an antitrust case in which Marc Seltzer served as co-trial counsel for the plaintiff. The case was tried to a verdict resulting in an award in favor of our client. A new trial was granted as to damages. On retrial, the Court awarded approximately \$45 million in damages (after trebling). The Ninth Circuit affirmed the liability verdict and damages award. See 350 Fed. Appx. 95 (9th Cir. 2009). Our client received a net recovery of approximately \$27 million.
- White v. NCAA, an antitrust class action brought in Los Angeles federal court challenging limitations on financial assistance provided by colleges and universities to student athletes. Marc Seltzer served as co-lead counsel for the plaintiff class. The case was settled for benefits netting the class approximately \$220 million, plus courtapproved attorneys' fees and costs.
- In re Structured Settlement Litigation, consolidated class actions brought in the Los Angeles Superior Court in which Marc Seltzer served as one of the lead counsel for the plaintiffs. The plaintiffs were parties to structured settlements who were victimized by the alleged fraudulent conversion of U.S. Treasury bonds backing their settlements. After three years of hotly contested litigation, the case was settled. More than \$100 million was distributed to the class.
- Livid Holdings, Ltd. v. Salomon Smith Barney, Inc., a securities fraud case brought on behalf of an investor in a start up company. Marc Seltzer was retained to represent the plaintiff on appeal following the dismissal of the action by the trial court, and was successful in overturning the dismissal of the case. See Livid Holdings Ltd. v. Salomon Smith Barney, Inc., 416 F.3d 940 (9th Cir. 2005). The case was subsequently settled for a confidential amount.
- In Motorcar Parts & Accessories Securities Litigation, fourteen consolidated securities fraud class actions in which Marc Seltzer was appointed by the Los Angeles federal court to serve as lead counsel for the class. The case was

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 16 of 68

settled for \$7.5 million. See Z-Seven Fund, Inc. v. Motorcar Parts & Accessories, 231 F.3d 1215 (9th Cir. 2000).

- In re IDB Communications Group, Inc. Securities Litigation, in which Marc Seltzer served as one of four co-lead counsel appointed by the Los Angeles federal court to represent the plaintiff class in more than twenty consolidated securities fraud class action cases. The case was settled for \$75 million.
- In re Taxable Municipal Bond Securities Litigation, in which four lawyers, including Marc Seltzer, served on Plaintiffs' Executive Committee, and together with plaintiffs' lead counsel, supervised and managed every aspect of the litigation. This litigation was a consolidated multi-district proceeding brought on behalf of defrauded purchasers of taxable municipal bonds. The case resulted in numerous reported decisions on important recurring issues arising under the federal securities laws. See, e.g., In re Taxable Municipal Bond Litigation, [1993 Transfer Binder] Fed. Sec. L. Rep. (CCH) 97,742 (E.D. La. 1993). After several years of intense litigation, the case was settled for approximately \$110 million.
- Cowles v. Gannett Outdoor Co., Inc., of Southern California, coordinated class actions brought in Los Angeles federal court for an alleged conspiracy to suppress competition for leases for billboards sites in Southern California in violation of § 1 of the Sherman Act. Marc Seltzer served as co-lead counsel for the class. The case was settled for \$6.5 million.
- Slaven v. B. P. America, Inc., a class action brought in Los Angeles federal court on behalf of fishermen and business owners for economic losses suffered as a result of the spill of more than 200,000 gallons of crude oil from a tanker off the coast of Huntington Beach, California that befouled coastal waters and nearby beaches. The case was brought under the Trans-Alaska Pipeline Authorization Act, admiralty law and the law of California, and resulted in several published decisions in the district court and the Ninth Circuit. See, e.g., Slaven v. B. P. America, Inc., 973 F.2d 1468 (9th Cir. 1992). Marc Seltzer served as co-lead counsel for the class. The case was ultimately settled for \$4 million, plus court-approved attorneys' fees and costs.
- In re Carnation Company Securities Litigation, consolidated class actions for violation of the federal securities laws brought in Los Angeles federal court. The plaintiffs alleged that false denials were made relating to the potential takeover of Carnation Company by Nestle, S.A., before the merger of the two firms was announced. Marc Seltzer served as co-lead counsel for the class. The case was settled for \$13 million.
- In re International Technology Securities Litigation, consolidated securities class actions filed in Los Angeles federal court. The plaintiffs alleged that the Company's financial statements were materially misleading for failing to earlier write off or set up appropriate accounting reserves relating to the Company's off-site waste disposal operations. Marc Seltzer served as co-lead counsel for plaintiffs. The case was settled for \$12 million in cash and newly-issued securities.
- Guenther v. Cooper Life Sciences, Inc., a combined stockholders class and derivative action brought in San Francisco federal court for alleged false and misleading statements regarding the Company's products and prospects. Marc Seltzer served as co-lead counsel for plaintiffs. The case was settled for \$9.85 million in cash plus non-cash economic benefits valued at \$8.3 million.
- Heckmann v. Ahmanson, consolidated class and derivative actions arising out of the alleged "greenmailing" of the Walt Disney Co. by Saul Steinberg and a group of his companies. Marc Seltzer was one of the lead counsel for the class of stockholders. The case was settled after three weeks of trial for approximately \$60 million. See Heckmann v. Ahmanson, [1989 Transfer Binder] Fed. Sec. L. Rep. ¶ 94, 447 (Cal. Sup. Ct. April 12, 1989) (order denying summary judgment).
- Financial Federation, Inc. v. Ashkenazy, in which Marc Seltzer and his co-trial counsel successfully defended at trial an anti-takeover case brought in Los Angeles federal court under the federal securities laws and the RICO statute by a financial institution against persons who allegedly sought to take control of the institution. See Financial Federation, Inc. v. Ashkenazy, [1984 Transfer Binder] Fed. Sec. L. Rep. (CCH) 91,489 (C.D. Cal. 1983).
- Green v. Occidental Petroleum Corp., in which Marc Seltzer, together with co-counsel, represented plaintiffs in consolidated securities fraud class action cases that established important precedent in the Ninth Circuit regarding the certification of plaintiff classes and the computation of damages in securities fraud cases. See Green v. Occidental Petroleum Corp., 541 F.2d 1335 (9th Cir. 1976). The case was settled for \$12 million.
- Wool v. Tandem Computers, Inc., a securities fraud class action in which Marc Seltzer played a leading role. One of the notable achievements in this case was a victory for the plaintiffs in the Ninth Circuit which established important precedent concerning the measure of damages recoverable in federal securities fraud class action cases, the standard for "controlling person" liability under the federal securities laws and the requirements for pleading fraud with the particularity specified under Rule 9(b), Fed.R. Civ. P. See Wool v. Tandem Computers, Inc., 818 F.2d 1433 (9th Cir. 1987). Following the issuance of the Ninth Circuit's decision, the case was settled for \$16.5 million.

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 17 of 68

- *Plaine v. McCabe*, a securities class action, in which Marc Seltzer argued before the Ninth Circuit, obtaining a substantial victory for plaintiffs, and establishing significant precedent in the Ninth Circuit regarding the standards for liability and remedies for violations of tender offer disclosure rules under the federal securities laws. *See Plaine v. McCabe*, 797 F.2d 713 (9th Cir. 1986).
- Biben v. Card, consolidated securities fraud class actions where Marc Seltzer served as co-lead counsel for plaintiffs. The plaintiffs achieved substantial pretrial victories, including establishing the validity of their claims under the federal securities laws against the defendants in that case. See Biben v. Card, [1984-1985 Transfer Binder] Fed. Sec. L. Rep. (CCH) 92,010 (W.D. Mo. 1985), on denial of motion for reconsideration, [1984-1985 Transfer Binder] Fed. Sec. L. Rep. (CCH) 92,083 (W.D. Mo. 1985). The case settled for approximately \$12 million.
- Sanwa Bank California v. Facciani, where Marc Seltzer was co-lead counsel for a plaintiff class in which settlements totaling approximately \$26 million in cash were obtained on behalf of defrauded investors who were victimized by an alleged Ponzi scheme.
- In re California Indirect-Purchaser Infant Formula Antitrust Class Action Litigation, comprised of several consolidated consumer class actions brought for alleged price-fixing of infant formula products. Marc Seltzer was appointed by the Court to serve as one of two co-lead counsel for plaintiffs and the class. The case was settled for approximately \$20 million.
- Small v. Sunset Park, where Marc Seltzer was lead counsel for a class of investors involving an alleged Ponzi scheme in which settlements totaling more than \$16.8 million were achieved (\$11.8 million net to the class), including \$12 million paid in settlement by a then "Big Five" accounting firm.
- In re Applied Magnetics Corporation Securities Litigation, consolidated securities fraud class actions, filed in Los Angeles federal court, where Marc Seltzer was appointed co-lead counsel for the class. Plaintiffs successfully defended against defendants' motion to dismiss plaintiffs' consolidated complaint. See In re Applied Magnetics Corp. Sec. Litig., [1994-1995 Transfer Binder] Fed. Sec. L. Rep. (CCH) ¶ 98,345 (C.D. Cal. 1994). The case was subsequently settled.
- Schneider v. Traweek, federal and state court securities fraud class actions in which Marc Seltzer was lead counsel for the plaintiffs. Significant victories were obtained on plaintiffs' behalf in defeating motions to dismiss and in obtaining class certification. See Schneider v. Traweek [1990 Transfer Binder] Fed. Sec. L. Rep. (CCH) 95,419 and 95,505 (C.D. Cal. 1990). The case was settled for approximately \$14 million, \$10.8 million net to the class.
- Johnson v. Boston, where Marc Seltzer was co-lead counsel for a nationwide class of investors in promissory notes victimized by an alleged Ponzi scheme. Approximately \$20 million in settlements were obtained for the defrauded investors.
- Lilienthal v. Levi Strauss & Co., an individual minority shareholder's action for alleged breach of fiduciary duty by the majority owners, which resulted in a judgment after trial for the plaintiff providing for a recovery in excess of \$3 million. Plaintiff subsequently collected more than \$2 million net of attorneys' fees. Marc Seltzer was co-trial counsel for the plaintiff with Jack Corinblit.

SUSMAN GODFREYLLP.



Steven G. Sklaver Partner

Los Angeles (310) 789-3123 ssklaver@susmangodfrey.com

Overview

Named one of California's Lawyer Attorneys of the Year in 2017 and selected as 1 of the 30 Top Plaintiff Lawyers in all of California in 2016 by *The Daily Journal*, Steven Sklaver has secured substantial litigation victories for both plaintiffs and defendants. For plaintiffs, Sklaver was lead counsel for a certified class of insurance policy owners, helping them achieve what the Court in the Southern District of New York described as "the best settlement pound for pound for the class that I've ever seen." You can read the Court's statement in full here. You can also read more about the case in The Deal's profile on the litigation here. Sklaver was also lead trial and appellate counsel for investors against an insurance company that resulted in a complete victory and full pay-out of a \$20 million life insurance policy. A copy of the appellate court decision is available here. To listen to Sklaver's appellate oral argument, click here. That matter was the feature cover story of the April 2012 California Lawyer.

Sklaver currently represents a class of animation employees in *In re Animation Workers* (N.D. Cal.) an antitrust action against the largest animation companies, including Disney, Pixar, Lucasfilms, DreamWorks, and Sony. The Court certified the class in 2016, and thus far over \$168 million in settlements have been secured (amount after fees and expenses is TBD). Sklaver also represents the former members of the legendary rock group The Turtles in *Flo & Eddie, Inc. v. Sirius XM Radio, Inc.* (C.D. Cal.) in a class action lawsuit against Sirius XM that settled less than 48 hours before the jury trial was scheduled to begin. Sirius XM agreed to pay class members a cash fund and royalties under a 10-year license that is valued up to \$99 million as compensation for publicly performing without a license Pre-1972 sound recordings. The settlement has received widespread media coverage from publications such as The New York Times, Billboard, The Hollywood Reporter, Law360, Rolling Stone, Variety, Reuters and Managing IP and remains subject to Court approval.

Sklaver's many significant and widely covered class action results in 2016 helped secure Susman Godfrey's recognition as *Law360's* "Class Action Group of the Year" in early 2017. You can read that article announcing the award here.

For defendants, Sklaver has handled numerous employment class actions across the country. He served, along with the Managing Partner of Susman Godfrey, as trial counsel for Wal-Mart, the world's largest retailer, trying a large employment class action in California. He also successfully defended and defeated class certification in numerous, substantial wage and hour matters for Alta-Dena Certified Dairy, LLC, dairy producers for Dean Foods, one of the leading food and beverage companies in the United States. Copies of the pro-employer decisions are available here, here, and here.

Sklaver has tried complex commercial and class action disputes — including jury trials and bench trials in federal and state court, as well as arbitrations. Sklaver graduated cum laude from Dartmouth College, magna cum laude and Order of the Coif from Northwestern University School of Law, and clerked for Judge David Ebel on the United States Court of Appeals for the Tenth Circuit. Sklaver also won the National Debate Tournament for Dartmouth College, and is just one of four individuals in debate history to win three national championships at the high school and collegiate level. From 2010-2017, Sklaver has been recognized every year as a "Super Lawyer" in Southern California, awarded to no more than the top 5% of the lawyers in the state of California (Law & Politics Magazine, Thomson Reuters).

Sklaver currently serves on the Board of Directors for the Western Center on Law & Poverty, the Los Angeles Metropolitan Debate League, and the Association of Business Trial Lawyers. Sklaver was also selected as the 2016-2017 Ninth Circuit Judicial Conference Lawyer Representative

Education

- Dartmouth College (B.A., cum laude)
- Northwestern University School of Law (J.D., magna cum laude and Order of the Coif)

Judicial Clerkship

Law Clerk to the Honorable David M. Ebel, United States Court of Appeal for the Tenth Circuit

Honors and Distinctions

- Named one of California's Lawyer Attorneys of the Year in 2017 by *The Daily Journal*. Click here for a photo of Sklaver, along with co-counsel, receiving the award.
- Selected as 1 of the 30 Top Plaintiff Lawyers in all of California in 2016 by The Daily Journal
- 2010-2017 listings of Southern California "Super Lawyers" awarded to no more than the top 5% of the lawyers in the state of California (Law & Politics Magazine, Thomson Reuters)
- Northwestern Law Review member and editor
- National Debate Tournament (NDT) collegiate championship winner

Articles and Speeches

"Federal Power to Commandeer State Courts: Implications for the Theory of Judicial Federalism," 32 Ind. L. Rev. 71 (1998) (with Martin H. Redish, Professor, Northwestern University School of Law).

Speaking Engagements

- Current COI Increases What's it All About? The Legal Perspective. ReFocus2017 Conference (Las Vegas, NV)
- Litigation Update: Will the Arthur Kramer Insurable-Interest Decision Lift the Cloud Over Much of the Litigation in the Market? The 2011 International Life Settlements Conference (London, England)
- Seeking Interlocutory Appellate Review of Class-Certification Rulings: Tactics, Strategies, and Selected Issues. Bridgeport 10th Annual Class Action Litigation Conference (Los Angeles, CA)
- PwC 2010 Securities Litigation Study Luncheon. (Los Angeles, CA)
- Life Settlement Litigation Update. 2010 Life Settlement Compliance Conference and Legal Round Table (Atlanta, GA)
- Litigation: What are the Legal Trends Affecting the Market? The Life Settlements Conference 2010 (Las Vegas, NV)

Professional Associations and Memberships

- United States Supreme Court
- United States Court of Appeals for the Ninth and Tenth Circuits
- United States District Courts for the Central, Southern, Northern, and Eastern Districts of California and District of Colorado
- Admitted to state bars of Illinois, Colorado, and California
- Board of Directors, Los Angeles Metropolitan Debate League
- Board of Directors, Western Center on Law & Poverty

Notable Representations

Class Actions

- Copyright Infringement: Sklaver serves as co-lead counsel with the Gradstein & Marzano firm representing Flo & Eddie (the founding members of 70's music group, The Turtles) along with a class of owners of pre-1972 sound recordings for copyright violations by music provider Sirius XM. The day before trial was to commence before a California jury in federal court in late 2016, Flo & Eddie reached a landmark settlement with Sirius XM on behalf of the class in a deal potentially worth \$99 million. The Court granted preliminary approval of that class action settlement in January 2017 and final approval is set for May 2017. Click here for more. Sklaver with his co-leads were recently named "California Lawyer Attorneys of the Year" by The Daily Journal for their outstanding legal work on this case.
- Insurance: In a seminal insurance class action filed in the Southern District of New York, resolved in September 2015, Mr. Sklaver served as lead counsel in a case that challenged Phoenix Life Insurance Company's and PHL Variable Insurance Company's decision to raise the cost of insurance ("COI") nationwide on life insurance policy owners. After winning class certification and defeating two motions for class decertification and a motion for summary judgment, the case settled the day of the final Pretrial Conference less than two months before trial. Settlement terms included: \$48.5 million cash fund (\$34 million after fees and expenses), COI freeze through 2020, and a covenant by Phoenix not to challenge the policies, worth \$9 billion in face value, when the policies mature on the grounds of lack of insurable interest or misrepresentations in the application. At the final approval hearing, the Court concluded, "I want to say publicly that I think this is an excellent settlement. I think this is a superb this may be the best settlement pound for pound for the class that I've ever seen." You can read the statement in full on page 3 here. You can also read more about the case in The Deal's feature on the matter here.
- Antitrust: In In re Automotive Parts Antitrust Litigation. In the largest price-fixing cartel ever brought to light, Mr. Sklaver and a team of Susman Godfrey lawyers run a massive MDL litigation in which the firm serves as co-lead counsel for a class of consumer plaintiffs in multidistrict price-fixing cases pending in a Detroit, Michigan federal court. The actions, alleging anti-competitive conduct, were brought by indirect purchasers of component parts included in over 20 million automobiles, and involve parts such as wire harnesses, instrument panel clusters, fuel senders, heater control panels and alternators.
 - The Department of Justice has imposed fines exceeding \$2.6 billion pursuant to guilty plea agreements with some of the defendants, and its investigation is still ongoing. The Susman Godfrey team together with its co-lead counsel has defeated multiple motions to dismiss. Settlements have been reached with a certain defendants for a combined \$620 million thus far. Final settlement (after fees and expenses) has not yet been determined. The case remains ongoing against the remaining defendants.

LIFE SETTLEMENTS

- Represented Jonathan Berck, as Trustee of the Rosamond Janis Insurance Trust in a \$5 million rescission claim brought by the Lincoln Life and Annuity Company of New York for alleged violations of New York's insurable interest laws and other "STOLI" (stranger originated life insurance) related claims. RESULT: Summary judgment granted in favor of my client. A copy of the summary judgment order is available here.
- Won reversal in a \$20 million life settlement rescission lawsuit against Lincoln Life & Annuity Company of New York. Lincoln's lawsuit was based on allegations that the insurance policies lacked an insurable interest because they were procured by third-parties for investment purposes and because there were net worth and other misrepresentations in the applications. The appellate court ordered that the trial court enter judgment in favor of the trust. The appellate court also affirmed our trial court victory that Lincoln's fraud claim was time barred because the policies were incontestable. The case is Lincoln Life & Annuity Co. of New York v. Jonathan Berck, as Trustee of the Jack Teren Insurance Trust, Court of Appeal Case No. D056373 (Cal. Ct. App. May 17, 2011). A copy of the appellate court decision is available here. To listen to Mr. Sklaver's appellate oral argument, click here. The Teren case was the feature, cover story of the April 2012 California Lawyer.
- Represents investors, trusts, trustees, brokers, and insureds in life settlement and STOLI litigation across the
 country against insurance companies seeking to rescind policies with face values worth more than \$125 million.
 Mr. Sklaver is also a frequent speaker and commentator on life settlement and STOLI litigation, in both trade
 publications and conferences.

FINANCIAL FRAUD

• Represented Royal Standard Minerals, which was the plaintiff in a federal securities lawsuit against a "group" of

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 21 of 68

more than ten dissident shareholders for failing to file Schedule 13-D disclosures. RESULT: Preliminary injunction granted and final judgment entered that, among other things, required for three years the votes of all shares owned by any of the defendants to be voted as directed by the Board of Directors of my client.

- Represented plaintiff who held millions of WorldCom shares as an opt-out to the class in In re WorldCom Securities Litig. RESULT: Settled on confidential terms.
- Represented plaintiff Accredited Home Lenders in a TRO and breach of contract action over a wrongful default
 declared by Wachovia in a credit re-purchase agreement. RESULT: The case was resolved favorably, following the
 entry of a TRO.
- Represented Walter Hewlett in his challenge to the Hewlett-Packard/Compaq merger. In preparation for that trial,
 Mr. Sklaver deposed Compaq's former CEO Michael Capellas about his famous handwritten journal note which,
 describing the merger, stated "at our course and speed we will fail." Mr. Capellas was right.

EMPLOYMENT

• Represented one of the world's largest retailers in the defense of a four month long jury trial, wage and hour class action pending in California. One of the world's largest retailers appointed Susman Godfrey L.L.P. to be its national trial counsel for wage and hour litigation.

ANTITRUST

• Lead day-to-day lawyer for the class in White, et al. v. NCAA, a certified, antitrust class action alleging that the NCAA violated the federal antitrust laws by restricting amounts of athletic based financial aid. ESPN Magazine coverage of the lawsuit may be found here. RESULT: The NCAA settled and paid an additional \$218 million for use by current student-athletes to cover the costs of attending college, paid \$10 million to cover educational and professional development expenses for former student-athletes, and enacted new legislation to permit Division I institutions to provide year-round comprehensive health insurance to student-athletes.

ENTERTAINMENT

 Represented NAACP image award winner Morris Taylor "Buddy" Sheffield in his breach of contract lawsuit against ABC Cable Networks Group regarding the creation of Hannah Montana. RESULT: Defendant settled less than four weeks before trial.

PRO BONO

Appointed to represent Carl Petersen, who was charged by the United States Attorney's Office with being a felon in
possession of a firearm — a charge that carries a five-year prison sentence and an 89% conviction rate. RESULT:
Acquittal. Jury deliberation lasted less than four hours.

Appointed by the United States Court of Appeals for the Tenth Circuit as appellate counsel in five cases, including: United States v. Petersen; United States v. Blaze (specifically noting Mr. Sklaver's "good workmanship"); and Sorrentino v. IRS (appointed as amicus curiae by and for the Court)

Susman Godfreylle



Kalpana Srinivasan Partner

Los Angeles (310) 789-3106 ksrinivasan@susmangodfrey.com

Overview

Ms. Srinivasan tries high-stakes cases for plaintiffs and defendants in courtrooms across the country. A partner in the Los Angeles office and a member of the firm's Executive Committee, she has secured significant victories for her clients in patent, unfair competition, trade secret, copyright, class action, and other disputes.

Ms. Srinivasan has been widely recognized for her work. She was recently named one of *The Daily Journal's* "California Lawyer Attorneys of the Year" for her work in *Flo & Eddie Inc. v. Sirius XM Radio Inc.*, a copyright class action involving pre-1972 sound recordings. For the same matter Srinivasan was named a "2017 Power Lawyer" by *The Hollywood Reporter*. Additionally, Srinivasan received the Trailblazer Award by The South Asian Bar Association of Southern California in March 2017. In 2016, *The Recorder's* included her on their 2016 Women Leaders in Tech Law. *The Daily Journal* heralded her in 2016 as one of its leading California women lawyers for her work on cases involving the Internet of Things. *The National Law Journal* called Ms. Srinivasan one of the nation's 75 Outstanding Women Lawyers. Ms. Srinivasan has been deemed a "Powerbroker" by *Law360*. In 2014, the *Los Angeles and San Francisco Daily Journal* named Ms. Srinivasan one of California's "Top 20 [Lawyers] Under 40". And, Ms. Srinivasan was named one of the "Best Lawyers Under 40" by the National Asian Pacific American Bar Association (NAPABA). Ms. Srinivasan also has been recognized as a Southern California Super Lawyer in 2016 and 2017, awarded to no more than the top 5% of the lawyers in the state of California (Thomson Reuters).

Ms. Srinivasan serves as a commissioner on the Judicial Nominees Evaluation Commission of the California State Bar, which vets the governor's potential judicial candidates. Ms. Srinivasan sits on the Board of the Western Justice Center and has previously served on the executive committee of the South Asian Bar Association of North America. She is a member of the California Bar Foundation. Ms. Srinivasan has previously chaired the firm's Hiring, Training and Diversity Committees.

Before becoming a lawyer, Ms. Srinivasan reported for The Associated Press in Washington D.C., covering national media and telecommunications policy.

Education

Ms. Srinivasan received her Bachelor of Arts from Yale University, where she completed a double major in Comparative Literature and Yale's program in Ethics, Politics and Economics. She earned her J.D. from Stanford Law School, where she graduated with distinction, served as editor of the Stanford Law Review and won Stanford's Marion Rice Kirkwood Moot Court Competition.

Judicial Clerkship

Ms. Srinivasan clerked for Judge Raymond C. Fisher on the U.S. Court of Appeals for the Ninth Circuit.

Articles and Speeches

Ms. Srinivasan speaks frequently on topic such as preparing for trial and trying different types of cases, from defending employment class actions to prosecuting antitrust claims.

PAST SPEAKING ENGAGEMENTS

- 2017 Class Action Litigation Conference Los Angeles; April 7,2017. Click here for more information.
- South Asian Bar Association "Women in Tech" Panel; Wednesday, February 8, 2017, 6:00pm 8:00pm. Click here for more information.
- Innovation in eDiscovery Conference Sandpiper Partners LLC, February 15, 2017, City Club of San Francisco.
- Bid-Rigging without Borders: What's Next in International Cartel Investigations?, ABA International Law Meeting, Tokyo, Japan, October 19, 2016.
- Argument in Support of Certification on Behalf a Direct Purchaser Class Before the Hon. Judge Susan Illston, 11th ABA/IBA International Cartel Workshop, Tokyo, Japan, February 4, 2016. Click here for agenda and photo.
- 10th Annual Federal Court Boot Camp, Pincus Professional Education, Los Angeles DoubleTree, May 15, 2013.
- 9th Annual Federal Court Boot Camp, Pincus Professional Education, Los Angeles Athletic Club, May 3, 2012.
- How to Climb into Any Jury Box, State Bar of California, Annual Meeting, Monterrey, California, October 2012.
- Stop the Presses! Litigating Cases Tried in the Courtroom and the Court of Public Opinion, National South Asian Bar Association annual meeting, Philadelphia, June 30, 2012.
- Legal Challenges and Pitfalls That Affect Start-ups and Entrepreneurs, TiE SoCal, Orange County, CA, May 16, 2012.
- How Much is This Going to Cost Me? Best Practices in Alternative Fee Arrangements, International Bar Association, May 10, 2012, New York.
- Managing Wage & Hour Risks 2012, Trial of Collective and Class Actions, Practising Law Institute, New York, February 13, 2012.
- The Beginning of the End: Preparing for Trial, North American South Asian Bar Association, Los Angeles, June 2011.
- How to Prepare for The Big Event: Trial (The Last 90 Days), Women Antitrust Plaintiffs' Attorneys, Minneapolis, October 2010.
- Moot Court Argument: *United States v. Bhagat Singh Thind*, North American South Asian Bar Association, Boston, June 2010.
- Ninth Circuit Roundtable, Pincus Professional Education, 2006.

Professional Associations and Memberships

Ms. Srinivasan actively participates in a range of legal and philanthropic organizations in Los Angeles and nationwide.

- Ms. Srinivasan serves as a commissioner on the Judicial Nominees Evaluation Commission of the California State Bar, which vets the governor's potential judicial candidates.
- Ms. Srinivasan sits on the board of the South Asian Network, an organization which server and advocates on behalf of the South Asian networkn in Southern California.http://southasiannetwork.org/
- Ms. Srinivasan sits on the board of the Western Justice Center, an organization of judges, lawyers and civic leaders
 that promote research and legal education on alternative forms of dispute resolution and justice reform.
 http://www.westernjustice.org/home
- Ms. Srinivasan currently co-chairs the litigation section of the North American South Asian Bar Association. http://www.nasaba.com
- Ms. Srinivasan sat on the Board of Directors of the South Asian Bar Association of Southern California.http://www.sabasc.org
- Ms. Srinivasan previously served on the programming committee of the Young Advocates Committee of the American Bar Association litigation section.
- Ms. Srinivasan is a barrister of The Judge Paul R. Michel Intellectual Property Inn of Court in Los Angeles

Notable Representation

Intellectual Property

• Flo & Eddie v. Sirius XM: Ms. Srinivasan serves as co-lead counsel with the Gradstein & Marzano firm

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 24 of 68

representing Flo & Eddie (the founding members of 70's music group, The Turtles) along with a class of owners of pre-1972 sound recordings for copyright violations by music provider Sirius XM. The day before Ms. Srinivasan was set to deliver opening arguments before a California jury in federal court for a trial on Flo & Eddie's damages claim, Flo & Eddie reached a landmark settlement with Sirius XM on behalf of the class in a deal potentially worth \$99 million. The Court granted preliminary approval of that class action settlement in January 2017 and final approval is set for May 2017. Click here for more. Srinivasan and her co-leads were recently named "California Lawyer Attorneys of the Year" by *The Daily Journal* for their outstanding legal work on this case.

- Jawbone v. Fitbit. Ms. Srinivasan served as co-lead counsel for Jawbone in its patent infringement and trade secret case involving wearable devices against competitor Fitbit in the International Trade Commission (Investigation No. 337-TA-963) and Jawbone's patent infringement case against Fitbit in the Northern District of California.
- *Title Source Inc v. HouseCanary:* Ms. Srinivasan is co-lead counsel for HouseCanary in this breach of contract case related to HouseCanary's innovative technology for appraisal, valuation and market forecasts related to the residential real estate market.
- *Trianni, Inc. v. Former Employees*: Ms. Srinivasan is lead counsel in this trade secret misappropriation case brought by biotechnology company Trianni related to its transgenic mouse platforms.
- *ZiiLabs v. Samsung*: Ms. Srinivasan represented ZiiLabs, a subsidiary of the Singapore-based media company Creative Technologies Ltd. Ziilabs brought claims for patent infringement of its patents related to graphics processing technology developed originally by 3DLabs. The case settled on the eve of trial after Apple had taken a license.
- *GPNE v. Apple:* Ms. Srinivasan represented telecommunications company GPNE in its patent infringement case against Apple's iPhones and iPads. A jury found GPNE's patents valid but not infringed. Ms. Srinivasan delivered opening arguments as described here.
- *MicroUnity v. Apple*: Ms. Srinivasan represented MicroUnity Systems Engineering, Inc., one of the leading innovators in the microprocessor industry, in its patent infringement lawsuit against Apple, Samsung and major players in the smartphone and tablet industry. The claims arose from infringement of patents covering "mediaprocessor" technology. The case settled with the last of the defendants taking licenses just shortly before trial.
- *PersonalWeb v. Microsoft & Yahoo!*: Ms. Srinivasan represented PersonalWeb in asserting its patents directed at the utilization of substantially unique identifiers against Microsoft and Yahoo! in the Eastern District of Texas. Both parties settled after Markman but prior to trial.
- PalTalk v. Sony and Activision: Ms. Srinivasan represented PalTalk Holdings, Inc., the nation's premiere Internet video chat community, in its patent infringement lawsuit against Sony's World of Warcraft, Activision Blizzard's Call of Duty and other video game offerings. The case settled before trial after PalTalk received a favorable Markman ruling.
- PalTalk v. Microsoft. Ms. Srinivasan prosecuted PalTalk's patent claims against Microsoft Corporation for its Xbox video game offerings, culminating in a March 2009 jury trial in U.S. District Court for the Eastern District of Texas. The parties settled on the fourth day of trial following Ms. Srinivasan's cross-examination of Microsoft's first witness with Microsoft agreeing to take a license to the two PalTalk patents for a confidential sum of money. For more about the case, click here.

Antitrust and Other Class Actions

- In re Lithium Batteries: Ms. Srinivasan and a team of Susman Godfrey lawyers serve on the executive committee representing a class action lawsuit brought on behalf of consumers/end purchasers of lithium ion batteries found in products such as laptops, tablets, mobile phones, and digital cameras.
- Tessera Technologies, Inc. v. Hynix Semiconductor, Inc.: Ms. Srinivasan represented Tessera in its antitrust claims against DRAM manufacturer Hynix involving Tessera's patented semiconductor packaging technology. Tessera successfully opposed the defendants' motion for summary judgment as to its antitrust claims, and the parties entered into a confidential settlement in December 2012.

Other Class Actions

• In re General Motors.: Ms. Srinivasan and a team of Susman Godfrey lawyers serve on the executive committee representing plaintiffs who suffered personal injury and economic loss as a result of General Motors' ignition switch defect.

Employment

- Johnston v. Rawlings: Ms. Srinivasan won a defense-side jury verdict on behalf of The Rawlings Company in a closely watched certified class action challenging the company's classification of its employees. During the three-week jury trial in Kentucky state court, Ms. Srinivasan conducted the examination of company executives and expert witness and cross-examined a class representative. The jury verdict was featured in the American Lawyer. For more about the case, click here.
- **December 2007**: Ms. Srinivasan and a team of Susman Godfrey lawyers litigated to verdict a three-month class action representing the nation's largest retailers in Minnesota state court. At trial, Ms. Srinivasan conducted the direct and cross examinations of more than a dozen witnesses.

Breach of Contract

• NHL v. Moyes: Ms. Srinivasan currently represented Jerry Moyes in a case brought by the National Hockey League arising from the bankruptcy of the Phoenix Coyotes hockey team. A federal judge affirmed the rulings of a bankruptcy court throwing out most of the damages sought by the NHL, after Ms. Srinivasan and her team successfully moved for summary judgment. The case was set for trial in Arizona federal court on the remaining issues before the parties reached a settlement.

Honors and Distinctions

Named a 2017 Power Lawyer by The Hollywood Reporter

Named a 2017 California Lawyer of the Year by *The Daily Journal*. Click here for a photo of Srinivasan, along with cocunsel, receiving the award.

Recipient of the 2017 Trailblazer Award by South Asian Bar Association of Southern California (March 2017). Click here for more on the event and here for a photo of Srinivasan accepting her award.

Named as one of the 2016 Women Leaders in Tech Law by *The Recorder* (ALM Media Properties, LLC). Click here for more.

Named on of the *The National Law Journal's* Outstanding Women Lawyers (ALM Media Properties, LLC). Click here for NLJ's profile.

Recognized as a "Powerbroker" by Law 360. Click here to view the article.

Named by the *Los Angeles and San Francisco Daily Journal* as one of California's top 20 lawyers under the age of 40. Click here to view the article.

Named by the National Asian Pacific American Bar Association (NAPABA) as one of the "Best Lawyers Under 40". Click here to view the article.

Featured in the Minority Corporate Counsel Association magazine. Click here to view the article.

Recognized as a Super Lawyer in 2016 and 2017 by *California Law & Politics* magazine (Thomson Reuters) – an honor awarded to the top 5% of lawyers in the Southern California area.

Recognized as a Rising Star in 2013, 2014 and 2015 by *California Law & Politics* magazine (Thomson Reuters) – an honor awarded to the top 2.5% of lawyers in the Southern California area.

Named to the inaugural Hot List Issue by *Lawyers of Color*. See profile here.

SUSMAN GODFREYLL.P.



Kathryn P. Hoek
Partner

Los Angeles (310) 789-3132 khoek@susmangodfrey.com

Overview

Ms. Hoek is a partner in the firm's Los Angeles office. She is the Chair of the firm's Diversity Committee and serves on the Employment Committee, and she previously served on the firm's Executive Committee. Ms. Hoek is particularly proud of her efforts to increase the hiring and retention of women and diverse lawyers at the firm. In addition to her work at the firm, Ms. Hoek teaches Depositions at UCLA Law School.

In her work for clients, Ms. Hoek represents plaintiffs and defendants in a broad range of business litigation matters, including contract disputes, patent and other intellectual property matters, employment and wage and hour litigation, class actions, antitrust cases, insurance cases and securities litigation. Based on her successful representation of clients in multiple practice areas, Ms. Hoek was named a "Super Lawyer" in 2014-2017 by Southern California Super Lawyers (Thomson Reuters) and a "Rising Star" in 2006-2008 and 2011-2013 (Thomson Reuters).

Education

- Yale University (B.A. with Honors and Distinction in Major, summa cum laude, 1997)
 - Phi Beta Kappa
 - · Rita Lipson Cup (awarded for intellectual growth, personal maturity, and active consideration for others)
 - Mildred Priest Frank Memorial Prize in Sociology
- Yale Law School (J.D. 2001)
 - Yale Law School Coker Fellow (fellowship to teach legal writing)

Judicial Clerkship

Law Clerk to The Honorable Lee H. Rosenthal, United States District Court for the Southern District of Texas (2001-2002)

Professional Associations and Memberships

- State Bar of California
- Admitted to Practice in Ninth Circuit, Federal Circuit, and United States District Courts for the Central and Northern Districts of California and the Southern District of Texas
- Women Lawyers Association of Los Angeles
- Federal Bar Association
- Association of Business Trial Lawyers
- Beverly Hills Bar Association

Notable Representation

NRG Renew LLC v. SunPower Corporation, Systems (Superior Court of California, County of Contra Costa) (2014

 present). Ms. Hoek represents SunPower Corporation, Systems in this complex litigation matter involving indemnification and breach of contract claims arising from the financing and construction of one of the world's

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 27 of 68

largest solar power plants, California Solar Valley Ranch (CVSR).

- Dial Corporation, et al. v. News Corporation, et al. (United States District Court, Southern District of New York) (present). Ms. Hoek represents a class of retailers in this antitrust class action in which the retailers accuse News America of violating the antitrust laws by maintaining a monopoly in the market for in-store promotion services, engaging in unlawful exclusive dealing arrangements, and extracting artificially high prices.
- Ms. Hoek represented the world's largest retailer in some of the largest wage and hour class actions ever brought in several states across the country, during which Susman Godfrey acted as national trial counsel.
- Tessera Technologies, Inc. v. Hynix Semiconductor, Inc., et al. (Superior Court of California, County of San Francisco) (2007-2012). Ms. Hoek represented the plaintiff Tessera in this antitrust action against DRAM manufacturer Hynix. Tessera alleged that Hynix conspired with several other DRAM manufacturers to boycott and suppress the adoption of Tessera's patented semiconductor packaging technology designed for use with the revolutionary memory chip technology known as RDRAM. Tessera successfully opposed the defendants' motion for summary judgment as to its antitrust claims, and the parties entered into a confidential settlement in December 2012
- Ms. Hoek represented the world's largest retailer in a major multi-district antitrust class action pending in the
 United States District Court for the Northern District of California. The case was brought by current and former
 subscribers to online DVD rental services who asserted claims for illegal market allocation and attempted
 monopolization of the home entertainment market. The Court granted summary judgment dismissing the claims of
 one group of subscribers. SG negotiated a favorable settlement for its client as to the remaining group of
 subscribers.
- Watts v. Sysco Corp., et al. (Superior Court of California, County of Alameda) (2010-2011). Ms. Hoek represented Sysco Corp. and several California subsidiaries in a labor dispute in which the plaintiffs sought to assert class wide claims to recover business expenses and late wage penalties under California law. Ms. Hoek negotiated a favorable settlement for her client, which was approved in September 2011.
- MicroUnity Systems Engineering, Inc. v. Intel and Dell (United States District Court, Eastern District of Texas)
 (2005). Susman Godfrey brought this patent infringement case on behalf of its client MicroUnity against Intel and
 Dell. The complaint alleged that Intel's Pentium III, Pentium 4, and Pentium M processors, and Dell's use of those
 processors, infringed several MicroUnity patents covering mediaprocessor technology. Ms. Hoek handled
 discovery and developing the damages case. Just weeks before trial, the parties reached a confidential settlement,
 the financial terms of which Intel disclosed in its Third Quarter 2005 10-Q. National media reported on the
 significance of the case, including articles in the New York Times, the Wall Street Journal, and several technology
 news outlets.
- MicroUnity Systems Engineering, Inc. v. Sony (United States District Court, Eastern District of Texas) (2005–2007). Susman Godfrey also represented MicroUnity in this patent infringement case against Sony, alleging that Sony's PlayStation 2 and PlayStation Portable (PSP) game systems infringed MicroUnity's patents covering mediaprocessor and memory controller technology. Ms. Hoek again handled discovery and damages issues. The parties reached a confidential settlement in the Fall of 2007.
- Livid Holdings, Ltd. v. Salomon Smith Barney, Inc., et al. (United States District Court, Western District of Washington) (2005-2006). In this securities lawsuit, plaintiff Livid sued the successor-in-interest to Schroeder's & Co., Inc., and several managing directors, alleging that it had relied on a Schroeder's prospectus which contained false and misleading statements in violation of Section 10(b) and Rule 10b-5. Livid hired Susman Godfrey after the trial court dismissed its complaint. Susman Godfrey successfully argued before the Ninth Circuit and obtained reversal of the trial court's ruling (See Livid Holdings, Inc. v. Salomon Smith Barney, Inc., et al., 416 F.3d 940 (9th Cir. 2005)), and Ms. Hoek successfully opposed a petition for rehearing en banc. Following remand to the trial court and after substantial discovery, the parties reached a confidential settlement.
- Stark v. Shapell Industries, Inc. (Superior Court of California, County of Los Angeles) (2005-2007). Susman Godfrey brought this class action on behalf of named plaintiff Allan Stark and others similarly situated who purchased homes from Shapell Industries, Inc. The complaint alleged that Shapell required purchasers to use Shapell's in-house escrow services as a condition of the purchase of a new home, in violation of California law. Ms. Hoek successfully argued in the Court of Appeal and defeated an extraordinary writ proceeding resulting in a published opinion on an issue of first impression of importance to California class action jurisprudence (See Shapell Industries, Inc. v. Superior Court, 132 Cal.App.4th 1101 (2005)). After obtaining class certification over vigorous opposition and defeating summary judgment, we reached a confidential settlement on behalf of the class.

SUSMAN GODFREYLLP.



Lindsey Godfrey Eccles Partner

Seattle (206) 516-3832 Ingodfrey@susmangodfrey.com

Overview

Lindsey Godfrey Eccles is a partner in Susman Godfrey's Seattle office. She represents both plaintiffs and defendants in complex, high-stakes civil litigation including patent infringement, antitrust, fraudulent transfer, and professional negligence, as well as a variety of commercial disputes. In addition to individuals, her clients have included nationwide consumer classes, local internet companies, and large U.S. and foreign financial institutions, among others.

From 2004 to 2009 Ms. Eccles oversaw litigation in-house at RealNetworks, Inc. During her tenure Real settled its landmark antitrust suit against Microsoft Corp. for \$761 million. Ms. Eccles also supervised a number of intellectual property lawsuits, focusing on patent infringement and music copyright claims.

Education

- Yale University (B.A. English, with distinction in the major, 1993)
- University of Texas (J.D. with honors, 2001)

Judicial Clerkship

Law Clerk for the Honorable Judge John. C. Coughenour, Western District of Washington, 2001-2002

Honors and Distinctions

- Managing Editor, Texas Law Review vol. 79
- Order of the Coif

Notable Representation

In re: Processed Eggs Products Antitrust Litigation (E.D.Pa.) (2013-present) (represent proposed class of direct purchasers of egg products in antitrust class action).

CoinLab, Inc. v. Mt. Gox KK, and Tibanne KK (W.D.Wash.) (2013-present) (represent Seattle bitcoin software and technology provider in breach of contract action against Japanese bitcoin exchange).

Global Sessions LP litigation (W.D.Tex.) (2013-2014) (represented patent holder in five related infringement suits against bank defendants; settled favorably after *Markman* hearing).

VoiceAge Corp. v. RealNetworks, Inc. (S.D.N.Y.) (2012-2013) (defended RealNetworks, Inc. in an action for breach of a patent licensing agreement; settled favorably after defeating summary judgment).

In re MF Global Holdings Ltd. Investment Litigation (S.D.N.Y.) (2012-present) (represent class of injured commodity customers in connection with collapse of MF Global Inc.).

PACT XPP Technologies, AG v. Xilinx, Inc. and Avnet, Inc. (E.D. Tex.) (2011–2012) (represented plaintiffs in patent infringement suit; obtained \$15.4 million verdict at trial).

Case 4:13-md-02420-YGR Document 1813-40 Filed 05/26/17 Page 29 of 68

Albright et al. v. Kibble & Prentice (AAA arbitration, Seattle WA) (2011-12) (represented investors in Meridian Mortgage securities against investment advisor; settled favorably during discovery).

Lehman Brothers International (Europe) (in administration) (2010-2011) (successfully argued for return of billions in assets from Citibank, N.A.).

Friskit, Inc. v. RealNetworks, Inc. (N.D.Cal.) (2004-2007) (defense of patent infringement; dismissed at summary judgment on invalidity grounds; affirmed on appeal).

RealNetworks, Inc. v. Microsoft Corp. (N.D.Cal.) (2004-2005) (prosecution of antitrust claims; settled for \$761 million during discovery).

In re Enron Corp. (S.D.N.Y.) (2002–2004) (represented Enron as debtor-in-possession in litigation against its former financial institutions; settled favorably).

Be Incorporated v. Microsoft Corporation (N.D. Cal.) (2002-2003) (prosecuted antitrust claims alleging monopolization of the market for PC operating system software; settled favorably during discovery).

Bank of America et al. v. REI (King Co. Sup. Ct.) (2002-2003) (defended REI against misappropriation of trade secrets claim in connection with marketing of co-branded credit cards; settled near end of discovery).

Articles

Rethinking the Ethical Ban on Criminal Contingent Fees: A Commonsense Approach to Asset Forfeiture, 79 Texas L. Rev. 1699 (2001).

Professional Associations and Memberships

Washington State Bar Association

SUSMAN GODFREYLL.P.



Krysta Kauble Pachman
Associate

Los Angeles (310) 789-3118 kpachman@susmangodfrey.com

Overview

Education

- Northwestern University (B.A., Political Science and Communication Studies, magna cum laude)
- UCLA School of Law (J.D.)

Judicial Clerkship

Law clerk to the Honorable Philip S. Gutierrez, United States District Court for the Central District of California

Honors and Distinctions

UCLA Law Review, Chief Comments Editor, Vol. 58

Professional Associations

- State Bar of California
- Board of Governors, Women Lawyers Association of Los Angeles

EXHIBIT B

IN RE: LITHIUM ION BATTERIES INDIRECT REPORTED HOURS AND LODESTAR AT CURRENT HOURLY RATES

Firm Name: SUSMAN GODFREY L.L.P.

Reporting Period: June 1, 2013 through February 28, 2017

Categories:

SUB-TOTAL

GRAND TOTAL:

0.20

0.00

0.80

0.00

0.00

0.00

77.60

1239.70

1.00

40.50

2.40

0.00

5.70

0.00

0.00

0.00

87.70

2781.90

\$20,217.00

\$1,224,114.50

(1) Investigations, Factual Research

(2) Drafting Discovery Requests

(3) Drafting Discovery Answers/Responses

(4) Deposition Taking

(5) Deposition Defending(6) Discovery Meet & Confer

(7) Document Review

(8) Drafting Pleadings, Briefs & Pretrial Motions

(9) Reading/Reviewing Pleadings, Briefs, Discovery, Transcripts, etc.

(10) Class Certification/Experts

(11) Litigation Strategy, Analysis & Case Management

(12) Negotiating Settlements

(13) Trial and Trial Preparation

(14) Court Appearance and Prep

(P) Partner

(A) Associate

(LC) Law Clerk (PL) Paralegal

(L) Librarian

| | (7) Docu | ment Kev | new | | | | (14) Cou | rt Appeai | rance and | Prep | | | | | | | |
|-----------------------------|----------|----------|-------|--------|--------|-------|----------|-----------|-----------|-------|--------|------|------|------|----------------|---------------------------|-------------------|
| ATTORNEYS | 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 | 13 | 14 | TOTAL HOURS | CURRENT HOURLY RATE | TOTAL LODESTAR |
| Eccles, Lindsey Godfrey (P) | 5.60 | | 22.00 | 2.00 | 119.50 | 60.70 | | | 16.30 | 8.90 | 65.90 | | | | 300.90 | \$550.00 | \$165,495.00 |
| Eccles, Lindsey Godfrey (P) | | | | | | | 26.30 | | | | | | | | 26.30 | \$350.00 | \$9,205.00 |
| Hoek, Kathryn P. (P) | | | 0.80 | 22.80 | 64.70 | 14.10 | | | 36.80 | | 7.50 | | | | 146.70 | \$600.00 | \$88,020.00 |
| Hoek, Kathryn P. (P) | | | | | | | 16.20 | | | | | | | | 16.20 | \$350.00 | \$5,670.00 |
| Seltzer, Marc M. (P) | | | | | | | | | 1.00 | | 2.40 | | | 1.20 | 4.60 | \$1,200.00 | \$5,520.00 |
| Sklaver, Steven G. (P) | 6.10 | | | 0.80 | 13.00 | | | 19.00 | 10.20 | | 70.50 | | | | 119.60 | \$750.00 | \$89,700.00 |
| Sklaver, Steven G. (P) | | | | | | | 6.00 | | | | | | | | 6.00 | \$350.00 | \$2,100.00 |
| Srinivasan, Kalpana (P) | 0.40 | | 0.50 | 0.50 | | | | | 27.70 | | | | | | 29.10 | \$625.00 | \$18,187.50 |
| Treistman, Katherine G. (P) | 6.20 | 4.00 | | | | | | 16.50 | 5.00 | | 8.00 | | | | 39.70 | \$600.00 | \$23,820.00 |
| Treistman, Katherine G. (P) | | | | | | | 402.00 | | | | | | | | 402.00 | \$350.00 | \$140,700.00 |
| Name (OC) | | | | | | | | | | | | | | | 0.00 | \$0.00 | \$0.00 |
| Pachman, Krysta K. (A) | 0.40 | 31.80 | 75.60 | 195.40 | 454.00 | 24.00 | | 4.00 | 62.20 | 1.10 | 34.10 | 0.20 | | 1.40 | 884.20 | \$400.00 | \$353,680.00 |
| Pachman, Krysta K. (A) | | | | | | | 1.80 | | | | | | | | 1.80 | \$350.00 | \$630.00 |
| Hormann, Kevin C. (A) | | | | | | | 108.90 | | 7.00 | | 0.30 | | | | 116.20 | \$275.00 | \$31,955.00 |
| Sato, Ken (A) | | | | | | | 291.60 | | | | | | | | 291.60 | \$450.00 | \$131,220.00 |
| Wilson, Daniel (A) | | | | | | | 6.80 | | | | | | | | 6.80 | \$275.00 | \$1,870.00 |
| Yagihashi, Hiroyuki (A) | | | | | | | 302.50 | | | | | | | | 302.50 | \$450.00 | \$136,125.00 |
| SUB-TOTAL | 18.70 | 35.80 | 98.90 | 221.50 | 651.20 | 98.80 | 1162.10 | 39.50 | 166.20 | 10.00 | 188.70 | 0.20 | 0.00 | 2.60 | 2694.20 | <u></u> | \$1,203,897.50 |
| | 1 | | | | | | | | | | | | | | | | |
| NON-ATTORNEYS | | | 1 | | | l | | l | | | 1 | l | | | 1 | | |
| Cobden, Jan (PL) | | | | | | | 0.50 | | | | | | | | 0.50 | \$270.00 | \$135.00 |
| DeGeorges, Simon (PL) | 0.20 | | | | | | 20.10 | | | | | | | | 20.30 | \$270.00 | \$5,481.00 |
| Mata, Kenneth (PL) | | | 0.80 | | | | 48.50 | | 0.80 | | | | | | 50.10 | \$225.00 | \$11,272.50 |
| Sobczak, Dennis (PL) | | | | | | | | 1.00 | 1.60 | | 5.70 | | | | 8.30 | \$270.00 | \$2,241.00 |
| Surujbhan, Camille (PL) | | | | | | | 5.50 | | | | | | | | 5.50 | \$90.00 | \$495.00 |
| Tan, Joel (PL) | | | | | | | 1.50 | | | | | | | | 1.50 | \$270.00 | \$405.00 |
| Lee, Vanessa (L) | | | | | | | 1.50 | | | | | | | | 1.50 | \$125.00 | \$187.50 |

EXHIBIT C

EXHIBIT C

In re Lithium Ion Batteries Antitrust Litigation

SUSMAN GODFREY L.L.P.

| <u>ATTORNEYS</u> | DATE RANGE | HOURLY RATE |
|-----------------------------|---------------------|-------------|
| Eccles, Lindsey Godfrey (P) | 01/01/14 - 12/31/14 | 475 |
| | 01/01/15 – 12/31/15 | 500 |
| | 01/01/16 - 01/31/16 | 550 |
| Document Review | All dates | 350 |
| Hoek, Kathryn P. (P) | 01/01/14 - 12/31/14 | 525 |
| | 01/01/15 – 12/31/16 | 600 |
| Document Review | All dates | 350 |
| Seltzer, Marc M. (P) | 01/01/13 – 12/31/13 | 925 |
| | 01/01/14 - 12/31/15 | 975 |
| Sklaver, Steven G. (P) | 01/01/13 – 12/31/13 | 600 |
| | 01/01/14 - 12/31/14 | 625 |
| | 01/01/15 - 12/31/15 | 675 |
| | 01/01/16 – 12/31/16 | 700 |
| Document Review | All dates | 350 |
| Srinivasan, Kalpana (P) | 01/01/14 - 12/31/14 | 500 |
| | 01/01/15 – 12/31/16 | 550 |
| Treistman, Katherine G. (P) | 01/01/14 - 12/31/14 | 600 |
| Document Review | All dates | 350 |
| Pachman, Krysta K. (A) | 01/01/16 - 02/28/17 | 375 |
| Document Review | All dates | 350 |
| Hormann, Kevin C. (A) | 01/01/14 - 12/31/16 | 275 |
| Sato, Ken (A) | 01/01/15 – 12/31/15 | 450 |
| Wilson, Daniel (A) | 01/01/16 – 12/31/16 | 275 |
| Yagihashi, Hiroyuki (A) | 01/01/15 – 12/31/15 | 450 |
| | | |
| | | |
| | | |

EXHIBIT C

In re Lithium Ion Batteries Antitrust Litigation

SUSMAN GODFREY L.L.P.

| NON-ATTORNEYS | DATE RANGE | HOURLY RATE |
|-------------------------|---------------------|-------------|
| Cobden, Jan (PL) | 01/01/15 - 12/31/15 | 270 |
| DeGeorges, Simon (PL) | 01/01/16 – 12/31/16 | 270 |
| Mata, Kenneth (PL) | 01/01/15 – 12/31/16 | 225 |
| Sobczak, Dennis (PL) | 01/01/13 – 12/31/13 | 250 |
| | 01/01/14 - 12/31/15 | 270 |
| Surujbhan, Camille (PL) | 01/01/16 – 12/31/16 | 90 |
| Tan, Joel (PL) | 01/01/16 – 12/31/16 | 270 |
| Lee, Vanessa (L) | 01/01/16 – 12/31/16 | 125 |

EXHIBIT D

(REDACTED)

| В | E | F | J | K | N | 0 | P |
|--------------|-----------------------------|--------------------------|-----------|--------|--|------------------|---|
| 1 Matter | # 013657 Lithium Bat | teries Antitrust Time En | tries fro | m 6/1/ | 2013 through 2 | /28/2017 - Histo | oric Rates (with Document Review Cap) |
| Date | TKPR Name | Title | | | Historical Rate (w/ | Extended Amount | Narrative |
| 2 | | | | | Doc Rev Cap) | (w/ Doc Rev Cap) | |
| | 013 Seltzer, Marc M. | Partner | LI14 | 0.4 | | | Emailing to and from S. Sklaver re hearing schedule and case status. |
| | 013 Sklaver, Steven G. | Partner | LI11 | 0.2 | <u> </u> | | Conferring re potential South Carolina class representative. |
| | 013 Sobczak, Dennis | Paralegal | LI09 | 0.5 | .} | \$ | Reviewing recent correspondence and pleadings received and updating electronic files. |
| 6 7/3/20 | 013 Seltzer, Marc M. | Partner | LI14 | 0.4 | 925 | | Emailing to and from S. Sklaver re prefiling conference on motions to dismiss and status conference. |
| 7 7/10/20 | 013 Seltzer, Marc M. | Partner | LI09 | 0.2 | 925 | \$185.00 | Reviewing Court's order appointing Steering Committee. |
| 8 7/11/20 | 013 Seltzer, Marc M. | Partner | LI14 | 0.4 | 925 | \$370.00 | Emailing to and from S. Sklaver re prefiling conference on motions to dismiss and status conference. |
| 7/22/20 9 | 013 Seltzer, Marc M. | Partner | LI09 | 0.8 | 925 | \$740.00 | Reviewing Department of Justice press release and criminal information filed last week re price-fixing and reviewing media reports re same. |
| 10 8/2/20 | 013 Sobczak, Dennis | Paralegal | LI08 | 1 | . 250 | \$250.00 | Reviewing recent correspondence and filings and updating files with current information. |
| 10/8/20 | 013 Sklaver, Steven G. | Partner | LI11 | 0.2 | · &· · · · · · · · · · · · · · · · · · | <u> </u> | Conferring with co-lead re briefing assignment in support of opposition to motion to dismiss. |
| 11 | | | | | | | |
| | 014 Sobczak, Dennis | Paralegal | LI09 | 1.1 | <u> </u> | τ | Reviewing recent correspondence and updating files with recently filed ECF documents. |
| 13 2/27/20 | 014 Eccles, Lindsey Godfrey | Partner | LI07 | 0.8 | 350 | \$280.00 | Attending document review training. |
| | 014 Eccles, Lindsey Godfrey | Partner | LI07 | 5.4 | 350 | <u></u> | Conducting document review. |
| 15 3/6/20 | 014 Eccles, Lindsey Godfrey | Partner | LI07 | 1.2 | 350 | \$420.00 | Conducting document review. Reviewing issue outline. |
| 16 3/7/20 | 014 Sklaver, Steven G. | Partner | LI07 | 0.5 | 350 | \$175.00 | Conferring re document review request by lead counsel. |
| 3/10/20 | 014 Hormann, Kevin C. | Staff Atty | LI07 | 2.9 | 275 | \$797.50 | Reviewing case materials in preparation for review project (1.0). Conferring with K. Srinivasan re same (.3). |
| 17 | - | • | | | | | Training for review platform (1.6). |
| 18 3/10/20 | 014 Eccles, Lindsey Godfrey | Partner | LI07 | 0.2 | 350 | \$70.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| | 014 Treistman, Katherine G. | Partner | LI07 | 2 | 350 | \$700.00 | and amending complaint. Training for document review. Reviewing background materials. |
| | 014 Hormann, Kevin C. | Staff Atty | LI07 | 9.2 | <u> </u> | | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 20 3/11/20 | D14 HOITHailli, Kevili C. | Stall Atty | LIU7 | 9.2 | . 2/3 | \$2,550.00 | and amending complaint. |
| 21 3/11/20 | 014 Sklaver, Steven G. | Partner | LI11 | 0.2 | 625 | \$125.00 | Conferring re document review request by co-leads. |
| 3/12/20 | 014 Hormann, Kevin C. | Staff Atty | LI07 | 9 | 275 | \$2,475.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 22 | | , | | | _ | | and amending complaint. |
| 3/13/20 | 014 Hormann, Kevin C. | Staff Atty | LI07 | 6.5 | 275 | \$1,787.50 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| | 014 Eccles, Lindsey Godfrey | Partner | LI09 | 3.3 | 475 | ¢1 567 50 | and amending complaint. Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 24 3/13/20 | 514 Eccles, Linusey Gourrey | Partilei | LIU9 | 5.5 | 473 | \$1,507.50 | and amending complaint. |
| 3/14/20 | 014 Hormann, Kevin C. | Staff Atty | LI07 | 7 | 275 | \$1,925.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 25 | | , | | | | | and amending complaint. |
| 3/14/20 | 014 Eccles, Lindsey Godfrey | Partner | LI07 | 0.2 | 350 | \$70.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| | 014 Eccles, Lindsey Godfrey | Dartnor | LI07 | 1.4 | 350 | ¢400.00 | and amending complaint. Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 27 3/1//20 | 514 Eccles, Linusey Gourrey | Partner | LIU7 | 1.4 | 330 | \$490.00 | and amending complaint. |
| 3/17/20 | 014 Treistman, Katherine G. | Partner | LI07 | 6 | 350 | \$2,100.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 28 | | | | | | | and amending complaint. |
| 3/17/20 | 014 Hormann, Kevin C. | Staff Atty | LI07 | 9.2 | 275 | \$2,530.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| | 014 Traistman Katharina C | Dortoor | 1107 | 5 | 250 | Ć1 7F0 00 | and amending complaint. Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 30 3/18/20 | 014 Treistman, Katherine G. | Partner | LI07 | ٥ | 350 | \$1,750.00 | and amending complaint. |
| 3/18/20 | 014 Hormann, Kevin C. | Staff Atty | LI07 | 9 | 275 | \$2,475.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 31 | | | | | | | and amending complaint. |
| 3/19/20 | 014 Treistman, Katherine G. | Partner | LI07 | 4 | 350 | \$1,400.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss and amending complaint. |
| 3/19/20 | 014 Hormann, Kevin C. | Staff Atty | LI07 | 8.6 | 275 | \$2,365.00 | |
| | 014 Treistman, Katherine G. | Partner | LI07 | 4 | 350 | \$1,400.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss and amending complaint. |
| | 014 Hormann, Kevin C. | Staff Atty | LI07 | 8.3 | 275 | \$2.282.50 | and amending complaint. Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 35 3/20/20 | oraniomiami, Reviii C. | Stall Atty | LIU | 0.3 | 2/3 | | and amending complaint. |
| 3/21/20 | 014 Treistman, Katherine G. | Partner | LI07 | 3 | 350 | \$1,050.00 | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss |
| 36 | | | | | | | and amending complaint. |

| | В | E | F | J | K | N | 0 | P |
|----|------------|-------------------------|-----------------------------|--------|--------|------------------------------------|---------------------------------------|--|
| 1 | Matter # 0 | 013657 Lithium Batto | eries Antitrust Time Entrie | s from | 1 6/1/ | 2013 through | 2/28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task H | ours | Historical Rate (w Doc Rev Cap) | / Extended Amount (w/ Doc Rev Cap) | Narrative |
| 37 | 3/21/2014 | Hormann, Kevin C. | Staff Atty | LI07 | 6.5 | 27 | | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss and amending complaint. |
| 38 | 3/24/2014 | Eccles, Lindsey Godfrey | Partner | LI07 | 1.2 | 35 | · · | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss and amending complaint. |
| 39 | 3/25/2014 | Treistman, Katherine G. | Partner | LI07 | 6 | | | Reviewing documents produced by Sony for purposes of responding to joint supplemental motion to dismiss and amending complaint. |
| 40 | 5/5/2014 | Treistman, Katherine G. | Partner | LI08 | 4 | 60 | 0 \$2,400.00 | Researching points of law re standards for 12(b)(6) and proving agreement (2.0) at request of co-leads. Preparing drafts of response to Toshiba motion to dismiss (1.0). Conferring by email with K. Srinivasan (.5). Comparing amended and second amended complaints of IPPs and DPPs as requested by co-leads (.5). |
| 41 | 5/6/2014 | Sklaver, Steven G. | Partner | LI01 | 0.9 | 62 | 5 \$562.50 | Conferring with co-leads re motion to dismiss opposition re: Toshiba and ownership, control issues re same. |
| 42 | 5/6/2014 | Treistman, Katherine G. | Partner | LI08 | 5 | 60 | 0 \$3,000.00 | Researching points of law re standards for 12(b)(6) and proving agreement as requested by co-leads(2.0). Preparing drafts of response to Toshiba motion to dismiss as requested by co-leads (3.0). |
| 43 | 5/7/2014 | Srinivasan, Kalpana | Partner | LI09 | 1.8 | 50 | 9900.00 | Reviewing Amended Complaint (.7). Conferring with team re standing claim issues (.5). Reviewing draft motion and preparing comments on same (.6). |
| 44 | 5/7/2014 | Treistman, Katherine G. | Partner | LIO2 | 4 | 60 | \$2,400.00 | Researching points of law re standards for 12(b)(6) and proving agreement as requested by co-leads (2.0). Preparing drafts of response to Toshiba motion to dismiss as requested by co-leads (1.8). Conferring by email with K. Srinivasan regarding draft response to Toshiba motion to dismiss (.2). |
| 45 | 5/8/2014 | Sobczak, Dennis | Paralegal | LI11 | 1.2 | 27 | 0 \$324.00 | Locating and assembling copies of documents requested by counsel. |
| 46 | 5/8/2014 | Treistman, Katherine G. | Partner | LI08 | 4.5 | 60 | 0 \$2,700.00 | Researching points of law re standards for 12(b)(6) and proving agreement (1.5). Preparing drafts of response (2.8). Conferring by email with K. Srinivasan (.2). |
| 47 | 5/8/2014 | Srinivasan, Kalpana | Partner | LI09 | 1.8 | 50 | 9900.00 | Reviewing draft to Toshiba motion to dismiss as requested by co-leads and providing team comments. |
| 48 | 5/9/2014 | Treistman, Katherine G. | Partner | LI08 | 3 | 60 | | Researching points of law re standards for 12(b)(6) and proving agreement (1.0). Preparing drafts of response (1.8). Conferring by email with K. Srinivasan (.2). |
| 49 | 5/11/2014 | Srinivasan, Kalpana | Partner | LI09 | 2.8 | 50 | 0 \$1,400.00 | Revising and revising opposition to motion to dismiss at request of co-leads. |
| 50 | 5/12/2014 | Sklaver, Steven G. | Partner | LI08 | 5.5 | 62 | 5 \$3,437.50 | Reviewing and editing response to Toshiba's motion to dismiss as requested by co-leads. |
| 51 | 5/13/2014 | Srinivasan, Kalpana | Partner | LI09 | 1.5 | 50 | 0 \$750.00 | Revising opposition to motion to dismiss as requested by co-leads. |
| 52 | 5/13/2014 | Treistman, Katherine G. | Partner | LI01 | 6.2 | 60 | 0 \$3,720.00 | Researching points of law re motion for reconsideration as requested by co-leads (2.0). Researching points of law re standard on 12(b)(6) motions not requiring proof of facts as requested by co-leads (2.5). Reviewing amended complaints for factual citations to hundreds of in-person meetings between and among defendants as requested by co-leads (.7). |
| 53 | 5/13/2014 | Sklaver, Steven G. | Partner | LI11 | 1.5 | 62 | 5 \$937.50 | Conferring re motion to dismiss opposition as requested by co-leads. |
| 54 | 5/13/2014 | Seltzer, Marc M. | Partner | LI11 | 0.6 | 97 | 5 \$585.00 | Emailing to and from K. Srinivasan re in pari delicto issues in response to motion to dimsiss. |
| 55 | | Seltzer, Marc M. | Partner | LI11 | 0.8 | 97 | \$780.00 | Further emailing with K. Srinivasan re in pari delicato arguments in response to motion to dismiss (.4). Further emailing re law an withdrawal from conspiracy in response to motion to dismiss (.4). |
| 56 | 5/14/2014 | Srinivasan, Kalpana | Partner | LI09 | 3.5 | 50 | 0 \$1,750.00 | Revising draft motion to dismiss and researching cases related to conspiracy withdrawal as requested by co- leads (1.0). Conferring with M. Seltzer re same (.5). |
| 57 | 5/14/2014 | Sklaver, Steven G. | Partner | LI09 | 4.5 | 62 | | Reviewing, revising, and conferring re opposition to Toshiba motion to dismiss assignment from co-leads. |
| 58 | | Sklaver, Steven G. | Partner | LI09 | 4.5 | | | Conferring with co-leads re opposition to motion to dismiss re LG and going forward tasks to combine oppositions from directs and indirects and editing and revising re same. |
| 59 | 5/17/2014 | Srinivasan, Kalpana | Partner | LI09 | 3.2 | 50 | | Editing and revising combined draft opposition to LG motion to dismiss on behalf of Indirect Purchaser Plaintiffs and Direct Purchaser Plaintiffs as requested by co-leads (1.5). Researching complaint citations as requested by co-leads (1.0). Reviewing motion to dismiss order and incorporating same into draft opposition as requested by co-leads (1.7). |
| 60 | 5/17/2014 | Sklaver, Steven G. | Partner | LI08 | 3.5 | 62 | \$2,187.50 | Revising, editing, and drafting opposition to LG subsidiary motion to dismiss as requested by co-leads. |
| 61 | 5/21/2014 | Sklaver, Steven G. | Partner | LI01 | 2.2 | 62 | 5 \$1,375.00 | Conferring with co-leads re request to edit opposition to motion to dismiss filed by LG subsidiary (1.2). Conferring re co-lead request re document review and editing opposition (1.0). |

| | В | E | F | J | K | N | 0 | P |
|----|------------|-------------------------|----------------------------|--------|---------|-----------------|----------------------------------|---|
| 1 | Matter # 0 | 013657 Lithium Batte | ries Antitrust Time Entrie | s fror | n 6/1/2 | 2013 through 2/ | 28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | | | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 62 | 5/22/2014 | Sklaver, Steven G. | Partner | LI08 | 6.5 | 625 | \$4,062.50 | Revising, editing, and drafting opposition to LGCAI motion to dismiss as requested by co-leads. |
| 63 | 5/22/2014 | Srinivasan, Kalpana | Partner | LI09 | 1.3 | 500 | | Reviewing and editing LGCAI opposition to motion to dismiss as requested by co-leads. |
| 64 | | Treistman, Katherine G. | Partner | LI07 | 1.8 | 350 | | Reviewing manual on document review (1.0). Reviewing indirect purchaser petition (.8). |
| 65 | 6/11/2014 | Treistman, Katherine G. | Partner | LI07 | 3.5 | 350 | , , | Reviewing Toshiba documents to support response to motion to dismiss (3.5). |
| 66 | 6/12/2014 | Treistman, Katherine G. | Partner | LI07 | 3.5 | 350 | | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 67 | | Treistman, Katherine G. | Partner | LI07 | 7.5 | 350 | | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 68 | | Treistman, Katherine G. | Partner | LI07 | 6 | 350 | | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 69 | | Treistman, Katherine G. | Partner | LI07 | 3.5 | 350 | | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 70 | | Treistman, Katherine G. | Partner | LIO7 | 4.5 | 350 | , , | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 71 | | Treistman, Katherine G. | Partner | LI07 | 6 | 350 | | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 72 | 6/19/2014 | Treistman, Katherine G. | Partner | LI07 | 5 | 350 | | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 73 | 6/20/2014 | Treistman, Katherine G. | Partner | LIO7 | 3 | 350 | | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 74 | 6/23/2014 | Treistman, Katherine G. | Partner | LI07 | 4 | 350 | \$1,400.00 | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 75 | 6/24/2014 | Treistman, Katherine G. | Partner | LIO7 | 4 | 350 | | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 76 | 6/25/2014 | Treistman, Katherine G. | Partner | LIO7 | 4 | 350 | \$1,400.00 | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 77 | 6/26/2014 | Treistman, Katherine G. | Partner | LIO7 | 4 | 350 | \$1,400.00 | Reviewing and coding Toshiba documents for purposes of responding to motions to dismiss and amending complaint. |
| 78 | 6/27/2014 | Treistman, Katherine G. | Partner | LIO7 | 4 | 350 | \$1,400.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 79 | 6/30/2014 | Treistman, Katherine G. | Partner | LIO7 | 5 | 350 | \$1,750.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 80 | 7/1/2014 | Treistman, Katherine G. | Partner | LIO7 | 3 | 350 | \$1,050.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 81 | 7/7/2014 | Treistman, Katherine G. | Partner | LIO7 | 2 | 350 | \$700.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 82 | 7/9/2014 | Treistman, Katherine G. | Partner | LIO7 | 3 | 350 | \$1,050.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 83 | 7/10/2014 | Hormann, Kevin C. | Staff Atty | LI09 | 4 | 275 | \$1,100.00 | Reviewing materials in preparation for document review project. |
| 84 | 7/10/2014 | Treistman, Katherine G. | Partner | LI07 | 2 | 350 | \$700.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 85 | 7/11/2014 | Hormann, Kevin C. | Staff Atty | LI09 | 1 | 275 | \$275.00 | Reviewing materials in preparation for document review project (.7). Conferring via email with K. Treistman and cocounsel re same (.3). |
| 86 | 7/11/2014 | Treistman, Katherine G. | Partner | LI07 | 5 | 350 | \$1,750.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 87 | 7/12/2014 | Treistman, Katherine G. | Partner | LIO7 | 1 | 350 | \$350.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 88 | 7/13/2014 | Treistman, Katherine G. | Partner | LI07 | 1 | 350 | \$350.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 89 | 7/14/2014 | Hormann, Kevin C. | Staff Atty | LI09 | 2 | 275 | | Reviewing materials in preparation for document review project (1.7). Conferring via email with cocounsel re same (.3). |
| 90 | 7/16/2014 | Treistman, Katherine G. | Partner | LIO7 | 2 | 350 | \$700.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 91 | 7/17/2014 | Treistman, Katherine G. | Partner | LIO7 | 3.5 | 350 | \$1,225.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 92 | 7/18/2014 | Treistman, Katherine G. | Partner | LIO7 | 5.25 | 350 | \$1,837.50 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |

| | В | E | F | J | K | N | 0 | P |
|-----|------------|-------------------------|----------------------------|-------|--------|-------------------------------------|----------------------------------|---|
| 1 | Matter # 0 | 013657 Lithium Batte | ries Antitrust Time Entrie | s fro | m 6/1, | /2013 through 2 | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | Historical Rate (w/ Doc Rev Cap) | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 93 | 7/21/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 350 | \$1,750.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 94 | 7/22/2014 | Treistman, Katherine G. | Partner | LI07 | | 350 | \$1,750.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 95 | 7/23/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 350 | \$1,750.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 96 | 7/24/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 350 | \$1,750.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 97 | 7/25/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 350 | \$1,750.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 98 | 7/26/2014 | Treistman, Katherine G. | Partner | LI07 | 2. | 5 350 | \$875.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 99 | 7/27/2014 | Treistman, Katherine G. | Partner | LI07 | 2. | 5 350 | \$875.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 100 | 7/28/2014 | Treistman, Katherine G. | Partner | LI07 | | 6 350 | | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 101 | 7/29/2014 | Treistman, Katherine G. | Partner | LI07 | | 6 350 | \$2,100.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 102 | 7/30/2014 | Treistman, Katherine G. | Partner | LI07 | | 6 350 | \$2,100.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 103 | 7/31/2014 | Treistman, Katherine G. | Partner | LI07 | | 6 350 | \$2,100.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 104 | 8/4/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 350 | \$1,400.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 105 | 8/5/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 350 | \$1,400.00 | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 106 | 8/6/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 350 | | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 107 | 8/7/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 350 | | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 108 | 8/8/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 350 | | Reviewing and coding LG Chem documents for purposes of responding to motions to dismiss and amending complaint. |
| 109 | 8/14/2014 | Hormann, Kevin C. | Staff Atty | LI07 | 1. | 2 275 | \$330.00 | Conferring via telephone conference with review team re status of document review project (.8). Reviewing materials in preparation for same (.4). |
| 110 | 8/14/2014 | Treistman, Katherine G. | Partner | LI07 | 0. | 8 350 | \$280.00 | Conferring by phone with trial team re document review status and answering questions re same. |
| 111 | 8/15/2014 | Hormann, Kevin C. | Staff Atty | LI07 | | 7 275 | ' / | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 112 | 8/18/2014 | Hormann, Kevin C. | Staff Atty | LI07 | | 2 275 | · · | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 113 | 8/18/2014 | Treistman, Katherine G. | Partner | LI07 | 5. | | | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 114 | | | Staff Atty | LI07 | 7. | | | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 115 | 8/19/2014 | Treistman, Katherine G. | Partner | LI07 | 5. | 350 | \$1,925.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 116 | 8/20/2014 | Hormann, Kevin C. | Staff Atty | LI07 | 8. | 5 275 | | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 117 | 8/20/2014 | Treistman, Katherine G. | Partner | LI07 | 5. | | | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 118 | 8/21/2014 | Hormann, Kevin C. | Staff Atty | LI07 | 6. | | | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 119 | 8/21/2014 | Treistman, Katherine G. | Partner | LI07 | 5. | 5 350 | | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 120 | 8/22/2014 | Treistman, Katherine G. | Partner | LI07 | 5. | 350 | | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 121 | 8/25/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |

| | В | E | F | J | K | | N | 0 | P |
|-----|------------|-------------------------|----------------------------|-------|-------|------------|-------------------|-----------------------------|--|
| 1 | Matter # 0 | 013657 Lithium Batte | ries Antitrust Time Entrie | s fro | m 6/1 | /20: | 13 through 2/ | ²⁸ /2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | | TKPR Name | : | | Hours | His | storical Rate (w/ | - | Narrative |
| 122 | 8/26/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 123 | 8/27/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 124 | 9/29/2014 | Treistman, Katherine G. | Partner | LIO7 | 0 | .5 | 350 | \$175.00 | Reviewing updated materials supplied in advance of 9/30/2014 team review conference call. |
| 125 | 9/30/2014 | Treistman, Katherine G. | Partner | LIO7 | 3.7 | 75 | 350 | \$1,312.50 | Attending team conference call (.25). Reviewing and coding documents (3.5). |
| 126 | 9/30/2014 | Hormann, Kevin C. | Staff Atty | LI11 | 0 | .3 | 275 | \$82.50 | Conferring via conference call with cocounsel re document review project. |
| 127 | 10/1/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 128 | 10/2/2014 | Treistman, Katherine G. | Partner | LIO7 | | 7 | 350 | \$2,450.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 129 | 10/3/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 130 | 10/5/2014 | Treistman, Katherine G. | Partner | LI07 | | 2 | 350 | \$700.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 131 | 10/6/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 132 | 10/7/2014 | Treistman, Katherine G. | Partner | LIO7 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 133 | 10/8/2014 | Treistman, Katherine G. | Partner | LIO7 | 1 | L O | 350 | \$3,500.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 134 | 10/9/2014 | Treistman, Katherine G. | Partner | LIO7 | 2.7 | 75 | 350 | \$962.50 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 135 | 10/10/2014 | Treistman, Katherine G. | Partner | LI07 | 2.7 | 75 | 350 | \$962.50 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 136 | 10/11/2014 | Treistman, Katherine G. | Partner | LIO7 | 2.7 | 75 | 350 | \$962.50 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 137 | 10/12/2014 | Treistman, Katherine G. | Partner | LIO7 | 2.7 | 75 | 350 | \$962.50 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 138 | 10/13/2014 | Treistman, Katherine G. | Partner | LIO7 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 139 | 10/14/2014 | Treistman, Katherine G. | Partner | LIO7 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 140 | 10/15/2014 | Treistman, Katherine G. | Partner | LIO7 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 141 | 10/16/2014 | Treistman, Katherine G. | Partner | LIO7 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 142 | 10/17/2014 | Treistman, Katherine G. | Partner | LIO7 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 143 | 10/20/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 144 | 10/21/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 145 | 10/22/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 146 | 10/23/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 147 | 10/24/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 148 | 10/27/2014 | Treistman, Katherine G. | Partner | LIO7 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 149 | 10/28/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 | 350 | \$1,750.00 | ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ |
| 150 | 10/29/2014 | Treistman, Katherine G. | Partner | LI09 | | 5 | 600 | \$3,000.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 151 | 10/30/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |

| | В | E | F | J | K | | N | 0 | P |
|-----|---|-------------------------|----------------------------|-------|-------|----------|-------------|------------------|--|
| 1 | Matter # 0 | 13657 Lithium Batte | ries Antitrust Time Entrie | s fro | m 6/1 | /2013 th | rough 2 | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ | TKPR Name | Title | ~~~~ | Hours | | al Rate (w/ | | Narrative |
| 152 | 10/31/2014 | Treistman, Katherine G. | Partner | LI07 | | 5 | 350 | \$1,750.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 153 | 11/3/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 154 | 11/4/2014 | Treistman, Katherine G. | Partner | LI07 | 4 | .5 | 350 | \$1,575.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 155 | 11/5/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 | 350 | \$1,400.00 | · |
| 156 | 11/6/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 157 | 11/7/2014 | Treistman, Katherine G. | Partner | LI07 | | 4 | 350 | \$1,400.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 158 | 11/10/2014 | Treistman, Katherine G. | Partner | LI07 | | 2 | 350 | \$700.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 159 | 11/11/2014 | Treistman, Katherine G. | Partner | LI07 | | 2 | 350 | \$700.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 160 | 11/12/2014 | Treistman, Katherine G. | Partner | LI07 | | 2 | 350 | \$700.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 161 | 11/13/2014 | Treistman, Katherine G. | Partner | LI07 | | 2 | 350 | \$700.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 162 | 11/14/2014 | Treistman, Katherine G. | Partner | LI07 | | 2 | 350 | \$700.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 163 | 11/24/2014 | Treistman, Katherine G. | Partner | LI11 | | 3 | 600 | \$1,800.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 164 | 11/25/2014 | Treistman, Katherine G. | Partner | LI07 | | 3 | 350 | \$1,050.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 165 | 11/26/2014 | Treistman, Katherine G. | Partner | LI07 | | 2 | 350 | \$700.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 166 | 11/28/2014 | Treistman, Katherine G. | Partner | LI07 | | 2 | 350 | \$700.00 | Reviewing documents produced by Panasonic for purposes of responding to motions to dismiss and amending complaint. |
| 167 | 12/2/2014 | Treistman, Katherine G. | Partner | LI07 | 0 | .5 | 350 | \$175.00 | Attending conference call re document review and coding issues. |
| 168 | 12/23/2014 | Treistman, Katherine G. | Partner | LI11 | | 5 | 600 | \$3,000.00 | Reviewing and conferring call with review team. |
| 169 | 12/24/2014 | Srinivasan, Kalpana | Partner | LI09 | 1 | .5 | 500 | \$750.00 | Conferring with team regarding review of defendants' discovery responses (.5). Preparing spreadsheet summary of discovery topics and defendants (1.0). |
| 170 | 12/24/2014 | Sobczak, Dennis | Paralegal | LI11 | 1 | .2 | 270 | \$324.00 | Preparing spreadsheet for use by counsel listing discovery requests and columns for responses. |
| 171 | 12/29/2014 | Hoek, Kathryn P. | Partner | LI09 | 3. | .1 | 525 | \$1,627.50 | Reviewing discovery responses and summarizing defendants objections and responses per lead counsel's request. |
| 172 | 12/30/2014 | Srinivasan, Kalpana | Partner | LI09 | 3 | .2 | 500 | \$1,600.00 | Reviewing Maxell Corp of America's responses to Plaintiff's Fourth Set of Requests for Production of Documents (1.0). Reviewing Samsung SDI's responses to Plaintiff's Fourth Set of Requests for Production of Documents (1.0). Summarizing responses and objections (1.2). |
| 173 | 12/30/2014 | Hoek, Kathryn P. | Partner | LI09 | 1 | .1 | 525 | \$577.50 | Reviewing discovery responses and summarizing defendants objections and responses per lead counsel's request. |
| 174 | 12/31/2014 | Srinivasan, Kalpana | Partner | LI09 | 5 | .6 | 500 | \$2,800.00 | Reviewing requests for production to Samsung, Sony and Toshiba (3.5). Preparing spreadsheet summary of responses and objections to same (2.1). |
| 175 | 1/5/2015 | Eccles, Lindsey Godfrey | Partner | LI09 | 0 | .1 | 500 | \$50.00 | Reviewing email regarding meet and confer with defendants regarding discovery. |
| 176 | | Treistman, Katherine G. | Partner | LI07 | 0 | .5 | 350 | \$ | Attending document review conference call. |
| 177 | 1/7/2015 | Sklaver, Steven G. | Partner | LI11 | 0 | .5 | 675 | \$337.50 | Conferring re meet and confer assignments re document productions 4 and 3 with co-lead and internally. |
| 178 | 1/8/2015 | Srinivasan, Kalpana | Partner | LI09 | 0 | .5 | 550 | \$275.00 | Conferring with D. Lambrinos regarding meet and confers and discovery follow-up (.3). Conferring with team regarding same (.2). |
| 179 | 1/12/2015 | Srinivasan, Kalpana | Partner | LI03 | 0 | .5 | 550 | \$275.00 | Reviewing meet and confer issues regarding discovery responses. |
| 180 | 1/13/2015 | Eccles, Lindsey Godfrey | Partner | LI09 | 0 | .1 | 500 | \$50.00 | Emailing K. Srinivasan re meet and confer letters to defendants re discovery issues. |
| 181 | 1/13/2015 | Treistman, Katherine G. | Partner | LI07 | 0 | .3 | 350 | \$105.00 | Attending document review conference call. |
| 182 | 1/14/2015 | Eccles, Lindsey Godfrey | Partner | LI09 | 2 | .2 | 500 | \$1,100.00 | Revising request for production response spreadsheet to add Sanyo. |
| 183 | 1/15/2015 | Eccles, Lindsey Godfrey | Partner | LI09 | 1 | .4 | 500 | \$700.00 | Revising request for production spreadsheet to add Sanyo. |

| | В | E | F | J | К | N | | 0 | P |
|------------|---|---|----------------------------|--------------|---------------|---|------------|------------------|---|
| 1 | Matter # | 013657 Lithium Batto | eries Antitrust Time Entri | ies fro | m 6/1/ | 2013 throug | h 2, | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| - | | TKPR Name | Title | ····· | ~~~~~~ | | | Extended Amount | <u> </u> |
| 2 | | | | | | Doc Rev Cap) | | (w/ Doc Rev Cap) | |
| 184 | 1/20/2015 | Treistman, Katherine G. | Partner | LI07 | 0.6 | | 350 | | Conferring by phone with document review team (.2) Reviewing Sony documents from prior batches requiring completion (.4). |
| 185 | 1/21/2015 | Sobczak, Dennis | Paralegal | LI11 | 1.4 | | 270 | , | Reviewing docket for companies represented by Winston Strawn (.6). Reviewing files and assembling discovery requests requested by counsel (.8). |
| 186 | 1/21/2015 | Hoek, Kathryn P. | Partner | LI06 | 2 | | 600 | \$1,200.00 | Preparing for and participating in conference call with DPPs counsel re upcoming meet and confer teleconferences with LG Chem and other defendants on responses to written discovery. |
| 187 | 1/22/2015 | Eccles, Lindsey Godfrey | Partner | LI09 | 0.3 | | 500 | \$150.00 | Reviewing defendants' requests for production response materials and related emails. |
| 188 | 1/22/2015 | Hoek, Kathryn P. | Partner | LI06 | 0.5 | | 600 | \$300.00 | Participating in teleconference with D. Lambrinos re strategy for upcoming meet and confer teleconferences with LG Chem and other defendants. |
| 189 | 1/23/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 3.2 | | 500 | \$1,600.00 | Preparing for and participating in meet and confer. |
| 190 | 1/23/2015 | Hoek, Kathryn P. | Partner | LI09 | 2.2 | | 600 | \$1,320.00 | Preparing for and attending teleconference with counsel for LG Chem re responses to written discovery. |
| 191 | 1/26/2015 | Hoek, Kathryn P. | Partner | LI06 | 1.8 | | 600 | | Preparing for and participating in meet and confer teleconference with counsel for Hitachi-MCA (1.3) Drafting follow-up letter (.5). |
| 192 | | Eccles, Lindsey Godfrey | Partner | LI06 | 3.9 | | 500 | . , | Preparing for and participating in meet and confer call (2.0). Reviewing draft LG Chemical meet and confer letter (1.0). Drafting Hitachi meet and confer letter (.9). |
| 193 | | Sobczak, Dennis | Paralegal | LI11 | 1.1 | | 270 | , | Locating and assembling copies of pleadings and discovery responses requested by counsel for purposes of preparing for meet and confer with Hitachi. |
| 194 | | Sobczak, Dennis | Paralegal | LI11 | 0.8 | - | 270 | | Locating and assembling copies of pleadings requested by counsel. |
| 195 | | Hoek, Kathryn P. | Partner | LI06 | 0.4 | ·} | 600 | | Revising letter to defense counsel for Hitachi-MCA re meet and confer issues. |
| 196 | | Eccles, Lindsey Godfrey | Partner | LI06 | 3.4 | | 500 | | Preparing for and participating in meet and confers with SDI and NEC (2.0). Researching custodian issue (.7). Revising and sending Hitachi letter (.7). |
| 197 | | Eccles, Lindsey Godfrey | Partner | LI06 | 1.1 | · ş · · · · · · · · · · · · · · · · · · | 500 | ļ | Preparing for and participating in meet and confer with LG Chemical. |
| 198 | 1/29/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 1.5 | | 500 | , | Reviewing email re meet and confer (.3). Preparing for and participating in Sony meet and confer (1.2). |
| 199 | 1/30/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 0.3 | ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ | 500 | \$ | Emailing re meet and confer with Sony re discovery responses. |
| 200 | | Eccles, Lindsey Godfrey | Partner | LI06 | 3.2 | | 500 | | Preparing for and participating in meet and confer with Hitachi and sending follow-up email (1.5). Preparing for and participating in Panasonic/Sanyo meet and confer (1.7). |
| 201 | | Eccles, Lindsey Godfrey | Partner | LI06 | 3.4 | ·} | 500 | ş | Drafting Panasonic/Sanyo meet and confer letter. |
| 202 | | Eccles, Lindsey Godfrey | Partner | LI06 | 1.5 | | 500 | , | Revising Panasonic/Sanyo meet and confer letter (.5). Preparing for Hitachi meet and confer (.5). Preparing for meet and confer with NEC and Toshiba (.5). |
| 203 | | Sklaver, Steven G. | Partner | LI01 | 0.5 | | 675 | £ | Conferring re Toshiba interrogatory limits issues. |
| 204 | | Eccles, Lindsey Godfrey | Partner | LI06 | 4.1 | | 500 | | Revising Panasonic/Sanyo, SDI and Sony meet and confer letters. Preparing for Hitachi meet and confer. |
| 205 | | Eccles, Lindsey Godfrey | Partner | LI06 | 2.9 | | 500 | | Emailing trial team re meet and confer (.3). Revising Panasonic/Sanyo letter (.8). Drafting and revising Hitachi letter (.8). |
| 206 | | Eccles, Lindsey Godfrey | Partner | LI06 | 0.3 | | 500 | | Participating in meet and confer with NEC. |
| 207 | | Eccles, Lindsey Godfrey | Partner | LI06 | 2.7 | - | 500 | } | Preparing for and participating in meet and confers with Panasonic/Sanyo. |
| 208 | | Eccles, Lindsey Godfrey | Partner | LI06 | 0.6 | | 500 | £ | Preparing for and participating in meet and confer with Toshiba. |
| 209 | | Eccles, Lindsey Godfrey | Partner | LI06 | 1 | - } | 500 | \$ | Reviewing cocounsel email re meet and confers. |
| 210 | | Eccles, Lindsey Godfrey | Partner | LI09 | 0.1 | - | 500 | { | Reviewing cocounsel email re Toshiba custodians. |
| 211 | | Eccles, Lindsey Godfrey | Partner | LI11 | 0.1 | | 500 | } | Reviewing cocounsel email re meet and confers. |
| 212 | | Eccles, Lindsey Godfrey | Partner | LI06 | 4 | <u> </u> | 500 | (| Preparing for and participating in meet and confers with Panasonic /Sanyo. |
| 213 | ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ | Eccles, Lindsey Godfrey | Partner | LI06 | 0.2 | ·\$ | 500 | ļ | Emailing cocounsel re meet and confers. Participation in Pagasonic/Samo call relation |
| 214 | | Eccles, Lindsey Godfrey | Partner | LI06 | 0.6 | ·ş······ | 500 | <u> </u> | Participating in Panasonic/Sanyo call re letter. |
| 215 216 | | Eccles, Lindsey Godfrey | Partner | LI09 | 1.3 2.7 | | 500 | ş | Preparing for sony meet and confer. Preparing for and participating in Sony meet and confer. |
| 216 | ~~~~~~~ | Eccles, Lindsey Godfrey | Partner | L106 | . | | 500 | <u> </u> | Preparing for and participating in Sony meet and confer. Participating in LG Chemical meet and confer. |
| 217 | ~~~~~~~ | Eccles, Lindsey Godfrey Eccles, Lindsey Godfrey | Partner | LI06 LI06 | 0.3 1.5 | -{ | 500 500 | } | Conferring with Plaintiffs' counsel re meet and confer (.5). Reviewing email re same (1.0). |
| 218 | | Eccles, Lindsey Godfrey Eccles, Lindsey Godfrey | Partner Partner | LIU6 | 3.6 | ·}····· | 500 | } | Preparing for and participating in Panasonic/Sanyo meet and confer. |
| 219 | | } | Partner Partner | LIU6 | 0.2 | · 3· · · · · · · · · · · · · · · · · · | 500 | ş | Reviewing email re meet and confers with Panasonic/Sanyo. |
| 220 | 3/10/2015 | Eccles, Lindsey Godfrey | raiulei | LIUD | U.2 | | JUU | \$100.00 | neviewing criticis to the content with randomic/JaffyU. |

| | В | E | F | J | K | N | | 0 | P |
|-----|--|-------------------------|-------------------------------|---------|-------|--------------|------|------------------|--|
| 1 | Matter # 0 | 013657 Lithium Batte | eries Antitrust Time Entri | es froi | m 6/1 | /2013 throu | gh 2 | /28/2017 - Histo | oric Rates (with Document Review Cap) |
| - | | TKPR Name | Title | | Hours | | _ | | Narrative |
| 2 | | | | | | Doc Rev Cap) | | (w/ Doc Rev Cap) | |
| 221 | 3/11/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 1. | 1 | 500 | \$550.00 | Emailing and reviewing draft letter re meet and confer with Panasonic/Sanyo. |
| 222 | 3/12/2015 | Eccles, Lindsey Godfrey | Partner | LI09 | | 2 | 500 | \$1,000.00 | Reviewing discovery order. |
| 223 | 3/13/2015 | Eccles, Lindsey Godfrey | Partner | LI07 | 1. | 5 | 350 | \$525.00 | Reviewing filings. Emailing re same. |
| 224 | 3/17/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 1. | 7 | 500 | \$850.00 | Reviewing filings re discovery and meet and confer letters. |
| 225 | 3/18/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 0. | 6 | 500 | \$300.00 | Reviewing email re meet and confers with Panasonic/Sanyo. |
| 226 | 3/19/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 1. | 7 | 500 | \$850.00 | Preparing for and participating in meet and confer with Panasonic/Sanyo. |
| 227 | 3/23/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 0. | 4 | 500 | \$200.00 | Emailing re meet and confers with Panasonic/Sanyo. |
| 228 | 3/24/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 2. | | 500 | \$ | Preparing for and participating in meet and confers with Panasonic/Sanyo. |
| 229 | | Eccles, Lindsey Godfrey | Partner | LI06 | 0. | | 500 | | Reviewing meet and confer related correspondence. |
| 230 | 4/6/2015 | Eccles, Lindsey Godfrey | Partner | LI06 | 1. | | 500 | } | Reviewing email re meet and confers with LG. |
| 231 | | Eccles, Lindsey Godfrey | Partner | LI06 | 1. | | 500 | } | Participating in meet and confers with LG. |
| 232 | | Eccles, Lindsey Godfrey | Partner | LI06 | 0. | | 500 | \$ | Conferring with co-counsel re meet and confers and discovery issues. |
| 233 | ······ | Eccles, Lindsey Godfrey | Partner | LI11 | 0. | | 500 | 4 | Emailing re discovery issues. |
| 234 | ······································ | Eccles, Lindsey Godfrey | Partner | LI11 | 0. | | 500 | <u> </u> | Emailing re discovery issues. |
| 235 | ······ | Eccles, Lindsey Godfrey | Partner | LI06 | 0. | | 500 | <u> </u> | Reviewing email re meet and confers with Panasonic/Sanyo. |
| 236 | | Eccles, Lindsey Godfrey | Partner | LI06 | 2. | | 500 | <u> </u> | Sending email re meet and confers and discovery issues. |
| 237 | | Eccles, Lindsey Godfrey | Partner | LI06 | 0. | | 500 | 4 | Reviewing email re meet and confers with Sony. |
| 238 | | Sklaver, Steven G. | Partner | LI01 | 0. | | 675 | <u> </u> | Conferring re Japanese document review request. |
| 239 | ······ | Sklaver, Steven G. | Partner | LI11 | | 1 | 675 | ٠ | Conferring with co-leads re Japanese document reviewers. |
| 240 | | Seltzer, Marc M. | Partner | LI11 | 0. | | 975 | . | Emailing to and from S. Sklaver re document discovery issues. |
| 241 | | Sklaver, Steven G. | Partner | LI11 | 0. | | 675 | <u>}</u> | Conferring with co-leads re Japanese document reviewers. |
| 242 | | Sklaver, Steven G. | Partner | LI09 | 1. | | 675 | <u> </u> | Handling Japanese document review translation assignment issues and coordination. |
| 243 | 6/9/2015 | Cobden, Jan | Paralegal | LI07 | 0. | 5 | 270 | \$135.00 | Preparing and reviewing email (.2). Reviewing incoming correspondence seeking plaintiff, pleadings and routing to appropriate file (.3). |
| 244 | 6/17/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 1. | 5 | 450 | \$675.00 | Conducting conference call to receive training for Catalyst online document review database and discussed coding instructions and overview of Lithium Ion Battery matter. |
| 245 | 6/17/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 1. | 5 | 450 | \$675.00 | Conducting conference call to receive training for Catalyst online document review database and discussing coding instructions and overview of Lithium Ion Battery matter. |
| 246 | 6/17/2015 | Sklaver, Steven G. | Partner | LI11 | | 1 | 675 | 3 | Conferring re document review project and assignment of Japanese translators. |
| 247 | 6/18/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | | 3 | 450 | \$1,350.00 | Reviewing IPP Merits Review Manual for background of case and coding instructions in Lithium Batteries matter. |
| 248 | | Seltzer, Marc M. | Partner | LI11 | 0. | | 975 | <u> </u> | Conferring with S. Sklaver re case status and work assignments. |
| 249 | 6/19/2015 | | Staff Atty - Foreign Language | LI07 | 0. | | 450 | | Reviewing List of Key Terms and other background materials received for Japanese language document review for the Lithium Batteries matter. |
| 250 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 2 | 450 | | Reading the coding manual, complaint, and other materials necessary to understand the case and familiarize myself with the software |
| 251 | | Sklaver, Steven G. | Partner | LI01 | 1. | | 675 | <i>.</i> | Conferring re New Hampshire plaintiff and document review issues for Japanese translators. |
| 252 | 6/20/2015 | | Staff Atty - Foreign Language | LI07 | | 7 | 450 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 253 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 2 | 450 | | myself with the software |
| 254 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 7 | 450 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 255 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 2 | 450 | , | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 256 | 6/22/2015 | | Staff Atty - Foreign Language | LI07 | | 4 | 450 | | batch Toshiba, Kubo, Hiroshi 0002. |
| 257 | 6/23/2015 | | Staff Atty - Foreign Language | LI07 | 0. | | 450 | | Conducting conference call with foreign language team to discuss document review for Kubo/Toshiba deposition. |
| 258 | 6/23/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 0. | 5 | 450 | \$225.00 | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |

| | В | E | F | J | К | N | 0 | P |
|-----|-------------|--|--|--------------|------------|---------------------|------------------|--|
| 1 | Matter # | 013657 Lithium Batte | ries Antitrust Time Entri | es fro | m 6/1/ | 2013 through 2 | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | | Hours | Historical Rate (w/ | | Narrative |
| 259 | 6/23/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | 450 | \$1,350.00 | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 260 | 6/23/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | ' ' | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 261 | 6/24/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 1 | 450 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 262 | 6/24/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 263 | 6/25/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 264 | 6/25/2015 | - | Staff Atty - Foreign Language | LI07 | 4 | .50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 265 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2.5 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 266 | 6/27/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 9 | | . , | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 267 | 6/27/2015 | - | Staff Atty - Foreign Language | LI07 | 4 | | . , | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 268 | 6/29/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 269 | 6/29/2015 | - | Staff Atty - Foreign Language | LI07 | 4 | 450 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 270 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 271 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 0.5 | | · · | Conducting conference call to report the status of review of Kubo/Toshiba documents and discuss areas of improvement. |
| 272 | 6/30/2015 | - | Staff Atty - Foreign Language | LI07 | 3.8 | 450 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 273 | 6/30/2015 | - | Staff Atty - Foreign Language | LI07 | 0.3 | | · · | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0002. |
| 274 | 7/1/2015 | - | Staff Atty - Foreign Language | LI07 | 4 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 275 | 7/2/2015 | - | Staff Atty - Foreign Language | LI07 | 4 | | , , | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 276 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 9 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 277 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 5.5 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 278 | 7/5/2015 | | Staff Atty - Foreign Language | LI07 | 4 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 279 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 8 | | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 280 | 7/6/2015 | - | Staff Atty - Foreign Language | LI07 | 4 | .50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 281 | | Yagihashi, Hiroyuki Yagihashi, Hiroyuki | Staff Atty - Foreign Language Staff Atty - Foreign Language | LI07 LI07 | 0.5 1.5 | <u> </u> | <u> </u> | Conducting a conference call to discuss the status of review of Kubo/Toshiba documents. Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in |
| 282 | 7/7/2015 | | Staff Atty - Foreign Language | LIO7 | 1.5 | | | batch Toshiba, Kubo, Hiroshi 0012. Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in |
| 283 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LIO7 | 2 | | , , | batch Toshiba, Kubo, Hiroshi 0012. Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in |
| 284 | 7/8/2015 | _ | Staff Atty - Foreign Language | LIO7 | 4 | | | batch Toshiba, Kubo, Hiroshi 0012. Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in |
| 285 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LIO7 | 2 | | | batch Toshiba, Kubo, Hiroshi 0012. Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in |
| 286 | 7/9/2015 | | Staff Atty - Foreign Language | LIO7 | 4 | | | batch Toshiba, Kubo, Hiroshi 0012. Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in |
| 287 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LIO7 | 2 | 450 | | batch Toshiba, Kubo, Hiroshi 0012. Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in |
| 288 | ., =5, 2013 | | 1.1.7.0 | | _ | 150 | 4300.00 | batch Toshiba, Kubo, Hiroshi 0012. |

| | В | E | F | J | K | | N | | 0 | Р |
|-----|------------------------|----------------------|---------------------------------------|--------------|----------|-------|--------------------------|----------|---|--|
| 1 | Matter # | 013657 Lithium Batte | eries Antitrust Time Entri | es fro | m 6/1/ | /2013 | through | 2/ | 28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | | rical Rate (v ev Cap) | | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 289 | 7/11/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 4 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 290 | 7/12/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | | 4 | 4 | 50 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 291 | 7/13/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | į | 5 | 4 | 50 | \$2,250.00 | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 292 | 7/13/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4 | 50 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 293 | 7/14/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | : | 2 | 4 | 50 | T | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 294 | 7/14/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | | 4 | 4 | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 295 | 7/15/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | | 4 | 4 | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 296 | 7/16/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 7 | 2 | 4 | 50 | , | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 297 | 7/16/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | | 4 | 4 | 50 | , , | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 298 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 8 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 299 | | - | Staff Atty - Foreign Language | LI07 | | 4 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 300 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 3 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 301 | 7/20/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 2 | 4 | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents for Kubo/Toshiba deposition in batch Toshiba, Kubo, Hiroshi 0012. |
| 302 | ļ | - | Staff Atty - Foreign Language | LI07 | | 4 | | 50 | , , | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 303 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 2 | | 50 | , | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 304 | | | Staff Atty - Foreign Language | LI07 | | 4 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 305 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 2 | | 50 | , | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 306 | 4 | * | Staff Atty - Foreign Language | LI07 | 4 | 4 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 307 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 4 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 308 | | - | Staff Atty - Foreign Language | LI07 | | 4 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 309 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | _ | 2 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 310 | | | Staff Atty - Foreign Language | LI07 | | 4 | | 50 | , , | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 311 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 8 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 312 | | - | Staff Atty - Foreign Language | LI07 | | 4 | | 50 | . , | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 313 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 3 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 314 | | * | Staff Atty - Foreign Language | LI07 | | 4 | | 50 | , , | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 315 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 3 | | 50 | , , | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 316 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | | 2 | | 50 | | Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 317 | 7/29/2015 7/29/2015 | Sklaver, Steven G. | Partner Staff Atty - Foreign Language | LI11 LI07 | 0.5 | | | 75 50 | | REDACTED Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 318 | 1,23,2013 | Julio, NEII | Starr Atty - i Oreign Language | LIU/ | ' | 7 | 4 | .50 | \$1,000.00 | g, 2, 2g, issue county and considering superiose language documents for takesining/NEC deposition. |

| | В | E | F | J | K | | N | 0 | P |
|-----|------------|----------------------|-------------------------------|--------|--------|---------------|------------------------|------------------------------------|--|
| 1 | Matter # (| 013657 Lithium Batte | eries Antitrust Time Entri | es fro | m 6/1/ | 2013 1 | through | 2/28/2017 - Hist | oric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | | cal Rate (v ev Cap) | / Extended Amount (w/ Doc Rev Cap) | Narrative |
| 319 | 7/30/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 320 | 7/30/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 321 | 7/31/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | 3 | 4. | 0 \$1,350.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese-language documents in batch Sanyo, Matsumoto Takanao 0002. |
| 322 | 7/31/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 323 | 8/1/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 5 | 5 | 4 | 0 \$2,250.00 | n Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 324 | 8/3/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4 | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 325 | 8/3/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4 | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 326 | 8/4/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 9 | 9 | 4 | 0 \$4,050.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 327 | 8/4/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | 3 | 4 | 0 \$1,350.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 328 | 8/4/2015 | Sklaver, Steven G. | Partner | LI07 | 0.5 | 5 | 3. | 0 \$175.00 | Conferring re Japanese document review issues re Takeshima/NEC documents. |
| 329 | 8/5/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 330 | 8/5/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 2 | 4 | 0 \$900.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 331 | 8/7/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 332 | 8/8/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 7 | 7 | 4. | 0 \$3,150.00 | ng Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 333 | 8/9/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 9 | Э | 4. | 0 \$4,050.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 334 | 8/10/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | O Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 335 | 8/11/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | 3 | 4. | 0 \$1,350.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 336 | 8/12/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 337 | 8/12/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4 | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 338 | 8/13/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 339 | 8/14/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4 | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 340 | 8/17/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | 3 | 4. | 0 \$1,350.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 341 | 8/17/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4 | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 342 | 8/18/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 2 | 4. | 0 \$900.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 343 | 8/18/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 344 | 8/19/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 345 | 8/20/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | 3 | 4. | 0 \$1,350.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 346 | 8/20/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 347 | 8/21/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | 0 Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 348 | 8/21/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 4 | 4. | 0 \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |

| | В | E | F | J | K | N | 0 | P |
|-----|------------|----------------------|-------------------------------|--------|--------|-------------------------------------|----------------------------------|---|
| 1 | Matter # (| 013657 Lithium Batte | eries Antitrust Time Entri | es fro | m 6/1/ | 2013 through 2 | - | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | Historical Rate (w/ Doc Rev Cap) | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 349 | 8/22/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 8 | 450 | \$3,600.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 350 | 8/24/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 351 | 8/24/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 352 | 8/25/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 353 | 8/25/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 354 | 8/26/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 355 | 8/26/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 356 | 8/27/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 357 | 8/27/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 358 | 8/28/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 359 | 8/28/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 360 | 8/31/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Takeshima/NEC deposition. |
| 361 | 8/31/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 362 | 9/1/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | 450 | \$1,350.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 363 | 9/2/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 364 | 9/3/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 4 | 450 | \$1,800.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 365 | 9/4/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 3 | 450 | \$1,350.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 366 | 9/4/2015 | Sklaver, Steven G. | Partner | LI07 | 0.5 | 350 | \$175.00 | Conferring re document review assignment for Japanese reviewers re Tachihara/Sanyo documents. |
| 367 | 9/5/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 368 | 9/8/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 369 | 9/8/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 370 | 9/9/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 371 | 9/9/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 372 | 9/10/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 373 | 9/10/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 374 | 9/11/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 375 | 9/11/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 376 | 9/12/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batch Maxell, Seiji Sumoto. |
| 377 | 9/14/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |

| | В | E | F | J | К | N | 0 | P |
|-----|-----------|----------------------|-------------------------------|--------|--------|---------------------|----------------------------------|--|
| 1 | Matter # | 013657 Lithium Batte | eries Antitrust Time Entri | es fro | m 6/1/ | 2013 through 2, | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| | Date | TKPR Name | Title | ~~~ | Hours | Historical Rate (w/ | Extended Amount (w/ Doc Rev Cap) | |
| 378 | 9/14/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 379 | 9/15/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 380 | 9/15/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 381 | 9/16/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 382 | 9/16/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 383 | 9/17/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 384 | 9/17/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 385 | 9/18/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 386 | 9/18/2015 | Seltzer, Marc M. | Partner | LI11 | 0.4 | 975 | \$390.00 | Emailing to and from K. Hoek, et al., re preparing for plaintiff's depositions and materials re same. |
| 387 | 9/19/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 388 | 9/21/2015 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Reviewing deposition emails and coordination for McGranhan and Lincoln in preparation of creating deposition tracking calendar. |
| 389 | 9/21/2015 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | \$67.50 | Reviewing deposition emails and coordination for J. Goldstein in preparation of creating deposition tracking calendar. |
| 390 | 9/21/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 391 | 9/21/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 392 | 9/21/2015 | Sklaver, Steven G. | Partner | LI01 | 0.7 | 675 | \$472.50 | Conferring re McGranahan deposition. |
| 393 | 9/22/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 394 | 9/22/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 395 | 9/22/2015 | Sklaver, Steven G. | Partner | LI11 | 0.8 | 675 | \$540.00 | Conferring re McGranahan and Lincoln depositions. |
| 396 | 9/23/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 397 | 9/23/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 398 | 9/24/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 399 | 9/24/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 400 | 9/24/2015 | Sklaver, Steven G. | Partner | LI11 | 1 | 675 | \$675.00 | Conferring re Linda Lincoln deposition and Florida class representative deposition. |
| 401 | | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | { | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 402 | 9/25/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 403 | 9/25/2015 | Sklaver, Steven G. | Partner | LI11 | 0.7 | 675 | \$472.50 | Conferring re Michigan class representative deposition and discovery meet and confer re same. |
| 404 | 9/28/2015 | Sklaver, Steven G. | Partner | LI11 | 1 | 675 | \$675.00 | Conferring re deposition scheduling issues (.5). Engaging in a conference call with co-leads re deposition preparation and scheduling (.5). |
| 405 | 9/28/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 406 | 9/28/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 407 | 9/29/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 408 | 9/29/2015 | Hoek, Kathryn P. | Partner | LI07 | 0.6 | 350 | \$210.00 | Reviewing emails concerning depositions and discovery issues. |

| | В | E | F | J | K | N | 0 | P |
|-----|------------|---------------------|-------------------------------|---------|---------|----------------|----------------------------------|---|
| 1 | Matter # | 013657 Lithium Bat | teries Antitrust Time Entri | es fron | n 6/1/2 | 2013 through 2 | /28/2017 - Histo | oric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task H | | | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 409 | 9/29/2015 | Sklaver, Steven G. | Partner | LI11 | 0.5 | 675 | \$337.50 | Conferring re deposition preparation for class representatives. |
| 410 | 9/29/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 411 | 9/30/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 412 | 9/30/2015 | Sklaver, Steven G. | Partner | LI11 | 2.5 | 675 | \$1,687.50 | Conferring re class representative deposition preparation and coordination. |
| 413 | 9/30/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 414 | 10/1/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed |
| 415 | 10/1/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Tachihara docs for Tachihara/Sanyo deposition Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 416 | 10/1/2015 | Sklaver, Steven G. | Partner | LI11 | 0.5 | 675 | \$337.50 | Conferring re class representative deposition scheduling. |
| 417 | 10/2/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 418 | 10/2/2015 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Reviewing deposition emails and coordination for R. McGranahan in preparation of creating deposition tracking calendar. |
| 419 | 10/2/2015 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | , | Reviewing deposition emails and coordination for Molfetas in preparation of creating deposition tracking calendar. |
| 420 | 10/2/2015 | Mata, Kenneth | Paralegal | LI07 | 0.5 | 225 | \$112.50 | Creating deposition tracking calendar with information extracted from multiple email correspondence for use during upcoming deposition and deposition preparation of plaintiffs. |
| 421 | 10/2/2015 | Mata, Kenneth | Paralegal | LI07 | 0.5 | 225 | \$112.50 | Reviewing and updating email and correspondence electronic folders with information extracted from internal and external correspondence and documents. |
| 422 | 10/2/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 423 | 10/2/2015 | Sklaver, Steven G. | Partner | LI11 | 0.5 | 675 | \$337.50 | Conferring re deposition preparation. |
| 424 | 10/5/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 425 | 10/5/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 426 | 10/6/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 427 | 10/6/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 428 | 10/7/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 429 | 10/7/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 430 | 10/8/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 431 | 10/8/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 432 | 10/9/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 433 | 10/9/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 434 | 10/12/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 435 | 10/12/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 436 | 10/13/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | , | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 437 | 10/13/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 438 | 10/14/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |

| | В | E | F | J | K | N | 0 | P |
|-----|------------|-------------------------|-------------------------------|--------|---------|-------------------------------------|----------------------------------|--|
| 1 | Matter # | 013657 Lithium Batte | eries Antitrust Time Entri | es fro | m 6/1/2 | 2013 through 2, | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | Historical Rate (w/ Doc Rev Cap) | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 439 | 10/14/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 440 | 10/15/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 441 | 10/15/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 442 | 10/16/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 443 | 10/18/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 444 | 10/19/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 445 | 10/19/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 446 | 10/20/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 447 | 10/20/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 448 | 10/20/2015 | Sklaver, Steven G. | Partner | LI11 | 3 | 675 | \$2,025.00 | Conferring re class representative deposition preparation and coordination. |
| 449 | 10/21/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 450 | 10/21/2015 | Hoek, Kathryn P. | Partner | LI09 | 1.5 | 600 | \$900.00 | Reviewing case materials in preparation for class member depositions. |
| 451 | 10/21/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 452 | 10/21/2015 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 453 | 10/21/2015 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 454 | 10/21/2015 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 455 | 10/21/2015 | Sklaver, Steven G. | Partner | LI11 | 2 | 675 | \$1,350.00 | Preparing for depositions and conferring re same. |
| 456 | 10/22/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 457 | 10/22/2015 | Hoek, Kathryn P. | Partner | LI11 | 0.5 | 600 | \$300.00 | Reviewing and responding to emails discussing class member depositions. |
| 458 | 10/22/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 459 | 10/22/2015 | Mata, Kenneth | Paralegal | LI07 | 0.5 | 225 | \$112.50 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 460 | 10/23/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 461 | 10/23/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 462 | 10/26/2015 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | \$67.50 | Reviewing, analyzing, issue-coding and translating Japanese language documents for Tachihara/Sanyo deposition |
| 463 | 10/26/2015 | Eccles, Lindsey Godfrey | Partner | LI01 | 0.5 | 500 | \$250.00 | Conferring via email re legal research re REDACTED |
| 464 | 10/26/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 465 | 10/26/2015 | Hoek, Kathryn P. | Partner | LI11 | 1.7 | 600 | \$1,020.00 | Conducting legal research regarding REDACTED for class member depositions (1.4). Reviewing emails and case materials (.3). |
| 466 | 10/26/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 467 | 10/27/2015 | Sklaver, Steven G. | Partner | LI11 | 3 | 675 | \$2,025.00 | Preparing for L. Lincoln deposition including researching issues re REDACTED |
| 468 | 10/27/2015 | Eccles, Lindsey Godfrey | Partner | LI01 | 5.1 | 500 | \$2,550.00 | Conducting legal research re REDACTED |
| 469 | 10/27/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 450 | \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |

| | В | E | F | J | K | N | 0 | Р |
|------------|------------|-------------------------|-------------------------------|---------|--------|--------------|---------------------------------------|---|
| 1 | Matter # (| 013657 Lithium Batte | eries Antitrust Time Entrie | es fron | n 6/1/ | 2013 through | 2/28/2017 - Histo | oric Rates (with Document Review Cap) |
| ~ | ····· | TKPR Name | Title | Task H | ~~~~~ | ·· | / Extended Amount (w/ Doc Rev Cap) | |
| 470 | 10/27/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 45 | 0 \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 471 | 10/28/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 45 | 0 \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 472 | 10/28/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 45 | 0 \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 473 | 10/28/2015 | Sklaver, Steven G. | Partner | LI05 | 6 | 67 | \$4,050.00 | Attending deposition telephonically of L. Lincoln (5.0) Drafting memorandum re same (1.0). |
| 474 | 10/29/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 45 | 0 \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 475 | 10/29/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 45 | 0 \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 476 | 10/30/2015 | Sato, Ken | Staff Atty - Foreign Language | LI07 | 2 | 45 | 0 \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 477 | 10/30/2015 | Hoek, Kathryn P. | Partner | LI09 | 1.5 | 60 | 0 \$900.00 | Reviewing materials in preparation for G. Molfetas deposition. |
| 478 | 10/30/2015 | Yagihashi, Hiroyuki | Staff Atty - Foreign Language | LI07 | 2 | 45 | 0 \$900.00 | Reviewing, analyzing, issue-coding and translating Japanese language documents in batches of unreviewed Tachihara docs for Tachihara/Sanyo deposition |
| 479 | 11/2/2015 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.3 | 50 | 0 \$150.00 | Conferring via email re deposition preparation. |
| 480 | 11/3/2015 | Hoek, Kathryn P. | Partner | LI04 | 4.5 | 60 | 0 \$2,700.00 | Reviewing deposition transcript, case materials, and discovery responses in preparation for deposition of Florida class representative G. Molfetas. |
| 481 | 11/4/2015 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.5 | 50 | 0 \$250.00 | Conferring via email and reviewing materials re McGranahan deposition. |
| 482 | 11/5/2015 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.8 | 50 | | Conferring via email re deposition (.2). Preparing for and attending deposition preparation (.6) |
| 483 | 11/6/2015 | Eccles, Lindsey Godfrey | Partner | LI05 | 5.1 | 50 | 0 \$2,550.00 | Preparing for class representative deposition. |
| 484 | 11/8/2015 | Hoek, Kathryn P. | Partner | LI05 | 2.5 | 60 | 0 \$1,500.00 | Attending via teleconference meeting with Florida class representative G. Molfetas. |
| 485 | 11/9/2015 | Hoek, Kathryn P. | Partner | LI04 | 9 | 60 | | Attending deposition of Gerasimo Molfetas (7.9). Discussing deposition with counsel for witness (1.1). |
| 486 | 11/9/2015 | Eccles, Lindsey Godfrey | Partner | LI11 | 4.9 | 50 | 0 \$2,450.00 | Preparing witness for class representative deposition. |
| 487 | 11/10/2015 | Eccles, Lindsey Godfrey | Partner | LI11 | 10.4 | 50 | 0 \$5,200.00 | Traveling to Detroit for and preparing to defend class representative deposition. |
| | 11/10/2015 | Hoek, Kathryn P. | Partner | LI09 | 2 | 60 | 0 \$1,200.00 | Reviewing rough transcript and preparing summary of deposition of Molfetas (1.0). Following up on issues raised during Molfetas deposition regarding document production and interrogatory responses (1.0). |
| 488 | 11/11/2015 | Sklaver, Steven G. | Partner | LI11 | 1.5 | 67 | 5 \$1,012.50 | Conferring re deposition of Michigan class representative and document supplementation and production. |
| 489 490 | 11/11/2015 | Eccles, Lindsey Godfrey | Partner | LI11 | 6.3 | 50 | n \$2,150,00 | Preparing class representative witness. |
| | | Eccles, Lindsey Godfrey | Partner | LI11 | 9.5 | <i>-</i> { | | Defending class representative deposition. |
| | | Sklaver, Steven G. | Partner | LI11 | 0.5 | <u> </u> | | Conferring re Michigan deposition and document production. |
| | | Eccles, Lindsey Godfrey | Partner | LI11 | 8.3 | - | | Traveling from and drafting email regarding class representative deposition. |
| | | Eccles, Lindsey Godfrey | Partner | LI05 | 2.2 | | | Drafting and reviewing emails re class representative deposition. |
| | | Hoek, Kathryn P. | Partner | LI04 | 0.5 | <i>\$</i> | | Reviewing and responding to emails regarding class member depositions. |
| | | Mata, Kenneth | Paralegal | LI09 | 0.4 | | | Reviewing received transcript and exhibits from the deposition of G. Molfetas (.2). Updating electronic files re same (.2). |
| | 11/17/2015 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.3 | 50 | 0 \$150.00 | Conferring via email re class representative deposition and following up. |
| | | Eccles, Lindsey Godfrey | Partner | LI06 | 0.3 | | | Attending teleconference re amending discovery responses. |
| | | Eccles, Lindsey Godfrey | Partner | LI06 | 0.1 | } | | Conferring via email re interrogatory responses. |
| | | Eccles, Lindsey Godfrey | Partner | LI06 | 0.1 | 50 | 0 \$50.00 | Conferring via email re interrogatory responses. |
| | ······ | Eccles, Lindsey Godfrey | Partner | LI03 | 0.7 | 50 | 0 \$350.00 | Revising interrogatory responses and conferring via email re same. |
| | | Eccles, Lindsey Godfrey | Partner | LI03 | 0.6 | 50 | 0 \$300.00 | Revising interrogatory responses and conferring via email re same. |
| | | Sklaver, Steven G. | Partner | LI11 | 0.6 | 67 | 5 \$405.00 | Conferring with referring counsel for class representative deposition. |
| 504 | 12/1/2015 | Eccles, Lindsey Godfrey | Partner | LI03 | 0.2 | 50 | 0 \$100.00 | Conferring via email re interrogatory responses. |
| 505 | | Mata, Kenneth | Paralegal | LI09 | 0.4 | 22 | 5 \$90.00 | Reviewing received transcript and exhibits from the deposition of R. McGranahan (.2). Updating electronic files re same (.2). |
| 506 | 12/2/2015 | Sklaver, Steven G. | Partner | LI05 | 1.5 | 67 | \$1,012.50 | Conferring re deposition coordination for class representatives. |

| | В | E | F | J | K | N | 0 | P |
|-----|------------|-------------------------|-----------------------------|--------|-------|-----------------|---|---|
| 1 | Matter # 0 | 013657 Lithium Batte | eries Antitrust Time Entrie | s from | 6/1/2 | 2013 through 2, | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task H | ours | | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 507 | 12/3/2015 | Eccles, Lindsey Godfrey | Partner | LI03 | 0.3 | 500 | \$150.00 | Conferring via email and telephone with J. Cuneo re interrogatory responses. |
| 508 | 12/7/2015 | Eccles, Lindsey Godfrey | Partner | LI03 | 0.3 | 500 | | Revising interrogatory responses and conferring via email re same. |
| 509 | 12/9/2015 | Hoek, Kathryn P. | Partner | LI04 | 0.2 | 600 | \$120.00 | Reviewing and responding to emails regarding class rep depositions. |
| 510 | 12/10/2015 | Hoek, Kathryn P. | Partner | LI04 | 1.5 | 600 | \$900.00 | Coordinating class rep depositions and reviewing case materials. |
| 511 | 12/10/2015 | Eccles, Lindsey Godfrey | Partner | LI03 | 0.2 | 500 | \$100.00 | Conferring via email re interrogatory responses and battery issue. |
| 512 | | Hoek, Kathryn P. | Partner | LI04 | 0.8 | | , | Reviewing emails and coordinating depositions of class representatives (.5). Following up on issues raised in deposition of Molfetas (.3). |
| 513 | 12/14/2015 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Updating deposition calendar with information extracted from deposition scheduling information. |
| 514 | 12/15/2015 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.1 | 500 | | Conferring via email re class representative deposition. |
| 515 | | Sklaver, Steven G. | Partner | LI05 | 2.5 | | | Coordinating depositions for class representatives and related preparation work and conferring with referring counsel re same. |
| 516 | 12/28/2015 | Sklaver, Steven G. | Partner | LI11 | 0.5 | \$ | | Coordinating depositions of class representatives. |
| 517 | | Hoek, Kathryn P. | Partner | LI07 | 1.5 | | , | Coordinating class member depositions (.8). Reviewing correspondence and case materials (.7). |
| 518 | | Hoek, Kathryn P. | Partner | LI05 | 1 | | , | Coordinating class member depositions (.5). Reviewing correspondence and case materials (.5). |
| 519 | 1/4/2016 | Sklaver, Steven G. | Partner | LI11 | 5.5 | 700 | \$3,850.00 | Conferring re deposition scheduling (2.0). Meeting and conferring with defendants re discovery responses and document production and new class representative issues given proposed potential modification of class definition (3.5). |
| 520 | 1/4/2016 | Hoek, Kathryn P. | Partner | LI11 | 1.2 | 600 | \$720.00 | Reviewing and responding to emails (.7). Coordinating depositions of class representatives (.5). |
| 521 | 1/4/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.1 | 550 | \$55.00 | Conferring via email re class representative deposition preparation. |
| 522 | 1/5/2016 | Hoek, Kathryn P. | Partner | LI11 | 1.5 | 600 | \$900.00 | Coordinating depositions of class representatives and conferring with referring counsel (.5). Investigating product purchases for purposes of determining whether existing class representatives will remain in class (.5). Preparing deposition outline (.5). |
| 523 | 1/5/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.5 | 550 | \$275.00 | Attending weekly conference call. |
| 524 | 1/5/2016 | Pachman, Krysta K. | Associate | LI10 | 0.5 | 375 | | Participating in call with REDACTED |
| 525 | | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | , | Reviewing class reps deposition chart and extracting information related to upcoming depositions re same. |
| 526 | | Hoek, Kathryn P. | Partner | LI11 | 1.1 | 600 | ' | Coordinating depositions of class representatives (.5). Investigating product purchases for purposes of determining whether existing class representatives will remain in class (.6). |
| 527 | 1/6/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 1.5 | | · | Drafting class representative deposition preparation outline (1.1). Conferring via email re class representative depositions (.4). |
| 528 | 1/6/2016 | Sklaver, Steven G. | Partner | LI11 | 3.5 | 700 | \$2,450.00 | Coordinating depositions (1.0). Attending telephonic preparation session for plaintiff D. Tolchin (2.0). Reviewing correspondence re discovery disputes from class representatives (.5). |
| 529 | 1/6/2016 | Pachman, Krysta K. | Associate | LI01 | 0.4 | 375 | \$150.00 | Researching legal issues re REDACTED |
| 530 | 1/6/2016 | Mata, Kenneth | Paralegal | LIO7 | 0.3 | 225 | | Compiling multiple transcripts of depositions for attorney review. |
| 531 | | Eccles, Lindsey Godfrey | Partner | LI05 | 4 | 550 | | Attending deposition preparation coordination call (2.0). Attending to deposition preparation (2.0). |
| 532 | | Sklaver, Steven G. | Partner | LI11 | 4 | | | Coordinating depositions, document production (2.5). Responding to meet and confer issues (1.5). |
| 533 | 1/7/2016 | Hoek, Kathryn P. | Partner | LI05 | 1.7 | 600 | \$1,020.00 | Reviewing documents and coordinating depositions of class representatives (.5). Investigating purchases of class representatives to ascertain whether they remain in the newly proposed class (.7). Reviewing and responding to emails (.5). |
| 534 | 1/7/2016 | Mata, Kenneth | Paralegal | LIO7 | 0.4 | 225 | 7 | Reviewing all documents related to S. Harmon for information related to specifically identified laptop (.2). Updating trial team of results re same (.2). |
| 535 | 1/8/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 2.3 | 550 | | Conferring via email re class representative depositions (.5). Attending to preparation materials and other class representative issues (1.8). |
| 536 | 1/8/2016 | Hoek, Kathryn P. | Partner | LI05 | 1.9 | 600 | \$1,140.00 | Reviewing documents and coordinating depositions of class representatives (.5). Investigating purchases of class representatives to ascertain whether they remain in the newly proposed class (1.0). Reviewing and responding to emails (.4). |
| 537 | 1/8/2016 | Pachman, Krysta K. | Associate | LI05 | 0.5 | 375 | \$187.50 | Discussing deposition prep with S. Sklaver and K. Srinivasan (.3). Reviewing emails re same (.2). |

| | В | E | F | J | K | N | 0 | P |
|-----|------------|-------------------------|-----------------------------|--------|-------|-------------------------------------|---|--|
| 1 | Matter # (| 013657 Lithium Batt | eries Antitrust Time Entrie | s from | 6/1/2 | 2013 through 2 | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task H | ours | Historical Rate (w/ Doc Rev Cap) | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 538 | 1/8/2016 | Mata, Kenneth | Paralegal | LI07 | 1.1 | 225 | \$247.50 | Compiling all pleadings and discovery responses produced for each class representative in preparation of updating electronic files and creating deposition preparation folders for same. |
| 539 | 1/8/2016 | Srinivasan, Kalpana | Partner | LIO4 | 0.5 | 550 | \$275.00 | Attending call with team regarding deposition coordination. |
| 540 | 1/9/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 1.9 | 550 | \$1,045.00 | Traveling to South Dakota and preparing for Bessette deposition preparation. |
| 541 | 1/9/2016 | Pachman, Krysta K. | Associate | LI05 | 3 | 375 | \$1,125.00 | Preparing for Cabral deposition. |
| 542 | 1/11/2016 | Pachman, Krysta K. | Associate | LI05 | 6.8 | 375 | \$2,550.00 | Preparing for Cabral deposition. |
| 543 | 1/11/2016 | Hoek, Kathryn P. | Partner | LIO5 | 4.2 | 600 | \$2,520.00 | Coordinating depositions of class representatives (.5). Reviewing deposition transcripts for other class representatives and preparing outline for meetings with class representatives to be deposed (2.0). Reviewing discovery from class representatives whose depositions have been requested to ensure all responsive non-privileged materials have been produced, and following up on issues raised by review (.5). Preparing materials for referring counsel for class representatives whose depositions have been requested (.5). Reviewing and responding to emails to/from co-leads and defense counsel regarding discovery issues (.7). |
| 544 | 1/11/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 14.5 | 550 | \$7,975.00 | Traveling to South Dakota and preparing for Bessette deposition preparation (8.0). Attending deposition preparation for Bessette (6.5). |
| 545 | 1/11/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | \$67.50 | Reviewing of entire discovery folder for Tolchin and identify duplicate and missing items in preparation of upcoming deposition (.2). Updating trial team of result re same (.1). |
| 546 | 1/11/2016 | Sklaver, Steven G. | Partner | LI11 | 2 | 700 | \$1,400.00 | |
| 547 | 1/12/2016 | Hoek, Kathryn P. | Partner | LIO5 | 5.9 | 600 | \$3,540.00 | Coordinating depositions of class representatives (.2). Preparing materials for referring counsel for class representatives whose depositions have been requested (.5). Reviewing and responding to emails to/from coleads and defense counsel regarding discovery issues (.3). Attending telephonic conference with K. Scanlan (counsel for Richard Johns) to discuss case background and deposition (1.5). Attending telephonic conference with L. Hogan (counsel for David Tolchin) and D. Tolchin in preparation for deposition (2.5). Conferring with counsel for D. Tolchin regarding document production, and reviewing and preparing additional materials for production (.9). |
| 548 | 1/12/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 9.4 | 550 | | Defending Bessette deposition (8.4). Conferring via email re class representative depositions (1.0). |
| 549 | 1/12/2016 | Pachman, Krysta K. | Associate | LI05 | 13.7 | | \$5,137.50 | Traveling to Boston for W. Cabral deposition (8.0). Participating in telephonic prep for W. Cabral deposition (4.0). Preparing for W. Cabral deposition (1.7). |
| 550 | 1/12/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Preparing redacted and un-redacted versions of documents related to Tolchin identified for service on opposing counsel in preparation for use during upcoming deposition re same. |
| 551 | 1/12/2016 | Sklaver, Steven G. | Partner | LI11 | 2 | 700 | \$1,400.00 | Conferring re Cabral serial numbers and photos and Tolchin AmEx receipts, new Utah representative and Molfetas document collection. |
| 552 | 1/13/2016 | Hoek, Kathryn P. | Partner | LI05 | 1.8 | 600 | \$1,080.00 | Coordinating depositions of class representatives (.3). Preparing materials for referring counsel for class representatives whose depositions have been requested (.5). Reviewing and responding to emails to/from coleads and defense counsel regarding discovery issues (.2). Reviewing and preparing additional materials for production (.8). |
| 553 | 1/13/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 10.2 | 550 | \$5,610.00 | Traveling back to Seattle from defending Bessette deposition and preparing summary and follow-up while traveling. |
| 554 | 1/13/2016 | Pachman, Krysta K. | Associate | LI05 | 4.1 | 375 | \$1,537.50 | Traveling to and attending W. Cabral prep (3.6). Emailing re document production and protective order (.5). |
| 555 | 1/13/2016 | Srinivasan, Kalpana | Partner | LI01 | 0.4 | 550 | \$220.00 | Attending call with IPP governmental entities. |
| 556 | 1/13/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | | , | Preparing redacted and un-redacted versions of documents related to Cabaral identified for service on opposing counsel in preparation for use during upcoming deposition re same. |
| 557 | 1/13/2016 | Sklaver, Steven G. | Partner | LI05 | 3 | 700 | | Conferring re Cabral protective order signature, deposition preparation and Hunt and Sellers depositions (2.0). Conferring re meet and confer demand from Toshiba (1.0). |
| 558 | 1/14/2016 | Sklaver, Steven G. | Partner | LIO7 | 4.5 | 350 | \$1,575.00 | Conferring re deposition of Cabral and document production issues (1.5). Engaging Kansas representative (1.0). Coordinating document collection issues and responding to demands of opposing counsel re motion to compel and deposition scheduling and dismissing class reps based on amended complaint (2.0). |
| 559 | 1/14/2016 | Hoek, Kathryn P. | Partner | LI05 | 6.5 | 600 | \$3,900.00 | Attending deposition of D. Tolchin (5.8) and preparing summary (.7). |
| 560 | | Eccles, Lindsey Godfrey | Partner | LI05 | 1.7 | <u> </u> | 3 | Drafting class representative letter and conferring via email re same (.8). Reviewing LCD deposition transcript (.9) |

| | В | E | F | J | K | N | 0 | P |
|------------|-----------|-------------------------|-----------------------------|--------|---------|-----------------|---|--|
| 1 | Matter # | 013657 Lithium Batte | eries Antitrust Time Entrie | s fron | n 6/1/2 | 2013 through 2, | /28/2017 - Histo | oric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task I | | | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 561 | 1/14/2016 | Pachman, Krysta K. | Associate | LI05 | 11.8 | 375 | \$4,425.00 | Driving to/from Cabral deposition (2.5). Attending Cabral deposition (8.0). Emailing re Cabral deposition (1.3). |
| 562 | 1/14/2016 | Mata, Kenneth | Paralegal | LIO7 | 0.4 | 225 | , | Preparing redacted and un-redacted versions of documents related to Tolchin identified for service on opposing counsel in preparation for use during upcoming deposition re same. |
| 563 | 1/15/2016 | Hoek, Kathryn P. | Partner | LI05 | 1.5 | 600 | \$900.00 | Reviewing and responding to emails (.5). Preparing for depositions of class representatives R. Johns (1.0). |
| 564 | 1/15/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.5 | 550 | <u> </u> | Conferring via email re class representative depositions. |
| 565 | 1/15/2016 | Pachman, Krysta K. | Associate | LI05 | 8.2 | 375 | \$3,075.00 | Traveling to LA from Boston from W. Cabral deposition. |
| 566 | 1/19/2016 | Srinivasan, Kalpana | Partner | LI09 | 1 | 550 | , , , , , , | Reviewing opposition to motion to compel (.5). Conferring with team regarding deposition issues (.5). |
| 567 | 1/19/2016 | Eccles, Lindsey Godfrey | Partner | LI03 | 4.2 | 550 | | Attending to class representative depositions, inclusive of scheduling and preparation, and motion to compel briefing. |
| 568 | 1/19/2016 | Hoek, Kathryn P. | Partner | LI05 | 2.2 | 600 | | Preparing for and attending telephone deposition preparation meeting of class representative. |
| 569 | | Pachman, Krysta K. | Associate | LI11 | 8.8 | 375 | , | Emailing re deposition scheduling (0.5). Preparing plaintiff's portion of joint letter brief re motion to compel (8.3). |
| 570 | | Mata, Kenneth | Paralegal | LI07 | 1.2 | 225 | .} | Extracting, editing and uploading discovery documents for all class representatives. |
| 571 | | Sklaver, Steven G. | Partner | LI08 | 3.5 | 700 | } | Drafting and revising motion to compel (3.0) .Deposition scheduling (.5). |
| 572 | 1/20/2016 | Eccles, Lindsey Godfrey | Partner | LI03 | 5.3 | 550 | <u> </u> | Attending to class representative depositions and motion to compel. |
| 573 | 1/20/2016 | Hoek, Kathryn P. | Partner | LI05 | 0.9 | 600 | \$540.00 | Following up on issues raised in depositions of class representatives Molfetas and Tolchin (.5). Reviewing files for R. Johns to confirm whether production was complete (.2). Reviewing and responding to emails (.2) |
| 574 | 1/20/2016 | Pachman, Krysta K. | Associate | LIO2 | 11.2 | 375 | \$4,200.00 | Preparing discovery letter brief. |
| 575 | 1/20/2016 | Mata, Kenneth | Paralegal | LIO3 | 0.4 | 225 | \$90.00 | Preparing documents re Molfetas identified for service production (.3). Updating production log re same (.1). |
| 576 | 1/20/2016 | Sklaver, Steven G. | Partner | LI11 | 0.8 | 700 | \$560.00 | Conferring re class representative discovery issues. |
| 577 | 1/21/2016 | Eccles, Lindsey Godfrey | Partner | LIO3 | 3.3 | 550 | \$1,815.00 | Attending to class representative deposition preparation and motion to compel (1.0). Attending Johns deposition preparation (2.3). |
| F 70 | | Mata, Kenneth | Paralegal | LIO7 | 1.3 | 225 | \$292.50 | Extracting, editing and preparing of documents identified in $1/21/16$ correspondence from opposing counsel re production of documents in accordance with standing order (1.0). Coordinating with local vendor re same (.3). |
| 578 579 | | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Corresponding with co-counsel and third party vendor re collection of final deposition transcript and exhibits. |
| 580 | 1/21/2016 | Hoek, Kathryn P. | Partner | LI05 | 1.5 | 600 | \$900.00 | Preparing for deposition of R. Johns and addressing discovery issues related thereto. |
| 581 | 1/21/2016 | Pachman, Krysta K. | Associate | LI09 | 8.8 | 375 | , | Reviewing and responding to emails re deposition scheduling (1.5). Reviewing and revising motion to compel (5.0). Participating in call with D. Fennelly re: retention agreement (1.5). Revising retention agreement (.8) |
| 582 | 1/21/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Extracting and compiling all discovery documents for use in support of upcoming discovery brief letter. |
| 583 | 1/21/2016 | Mata, Kenneth | Paralegal | LIO3 | 0.4 | 225 | \$90.00 | Preparing documents re R. Johns identified for service production (.3). Updating production log re same (.1). |
| 584 | 1/21/2016 | Sklaver, Steven G. | Partner | LI11 | 2.5 | 700 | , , | Editing drafts re motions to compel (2.0). Conferring re deposition scheduling, document production, and engagement agreement (.5). |
| 585 | 1/22/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 8.1 | 550 | | Attending to class rep depositions and conferring re same (1.0). Attending Johns deposition (6.0). Reviewing filings (1.1). |
| 586 | | Hoek, Kathryn P. | Partner | LI05 | 0.6 | 600 | , | Addressing issues arising in deposition of R. Johns (.3). Reviewing and responding to emails (.3) |
| 587 | · | Pachman, Krysta K. | Associate | LI08 | 4 | 375 | <u> </u> | Reviewing and revising motion to compel. |
| 588 | | Eccles, Lindsey Godfrey | Partner | LI11 | 0.9 | 550 | | Drafting summary of Johns deposition (.5). Conferring via email re revising interrogatories (.2). Reviewing pleadings (.2). |
| 589 | | Sklaver, Steven G. | | LI11 | 0.5 | 700 | <u> </u> | Conferring re deposition of Johns and report to co-leads re same. |
| 590 | | Eccles, Lindsey Godfrey | Partner | LI10 | 0.4 | 550 | <u> </u> | Attending to class certification briefing and class representative depositions. |
| 591 | | Pachman, Krysta K. | Associate | LI09 | 0.7 | 375 | | Reviewing motion for class certification (.4). Reviewing emails re deposition summaries (.2). Revising deposition prep outline (.1). |
| 592 | 1/25/2016 | Sklaver, Steven G. | Partner | LI11 | 0.5 | 700 | \$350.00 | Conferring re deposition schedules. |

| | В | E | F | J | K | N | 0 | P |
|------------|-----------|-------------------------|-----------------------------|---------|--------|-----------------|------------------|---|
| 1 | Matter # | 013657 Lithium Batt | eries Antitrust Time Entrie | es froi | m 6/1/ | 2013 through 2, | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| | Date | TKPR Name | Title | Task | Hours | | Extended Amount | Narrative |
| 2 | | | | | | | (w/ Doc Rev Cap) | |
| 593 | 1/25/2016 | Pachman, Krysta K. | Associate | LI11 | 2.7 | 375 | \$1,012.50 | Emailing re scheduling class rep depositions (.5). Emailing re production log (.5). Emailing re deposition prep (.5). Revising retention letter (.2). Participating in calls with C. Cleary and D. Lambrinos re deposition scheduling (1.0). |
| 594 | 1/25/2016 | Eccles, Lindsey Godfrey | Partner | LI09 | 5.5 | 550 | \$3,025.00 | Attending to class representative depositions (.8). Revising interrogatory responses (.5). Conferring via email re class certification motion (.5). Attending Sellers telephonic deposition preparation (3.7). |
| 595 | 1/25/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Extracting transcripts and exhibits from repository from the deposition of R. McGranahan (.3). Uploading to local files re same (.1). |
| 596 | 1/25/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | · · | Corresponding and uploading of all deposition transcripts with co-counsel for use and review. |
| 597 | | Hoek, Kathryn P. | Partner | LI09 | 1.9 | | | Reviewing correspondence (.4). Reviewing discovery responses and document productions of R. Johns to identify any areas for supplementation (1.5). |
| 598 | | Eccles, Lindsey Godfrey | Partner | LI05 | 0.1 | 550 | | Conferring via email re class representative depositions. |
| 599 | | Mata, Kenneth | Paralegal | LI07 | 0.6 | | , | Updating local files with all pleadings and orders received from electronic court notifications for review. |
| 600 | | Pachman, Krysta K. | Associate | LI05 | 0.6 | \$ | \ | Emailing re deposition scheduling. |
| 601 | | Eccles, Lindsey Godfrey | Partner | LI05 | 1 | ļ | | Attending to class representative depositions. |
| 602 603 | | Mata, Kenneth | Paralegal | LI07 | 0.6 | | | Compiling and extracting multiple emails and documents identified for review from discovery letter brief (.4). Uploading results to trial team re same (.2) Conferring re Utah representative and related discovery. |
| 603 | | Sklaver, Steven G. | Partner | LI11 | 0.5 | <u> </u> | <u> </u> | Reviewing correspondence re deposition of D. Tolchin (.3). Reviewing discovery responses and document |
| 604 | 1/2//2016 | Hoek, Kathryn P. | Partner | LIO7 | 1.3 | 350 | \$455.00 | productions to identify any areas for supplementation for D. Tolchin (.8). Preparing supplemental discovery responses for D. Tolchin (.2). |
| 605 | 1/27/2016 | Pachman, Krysta K. | Associate | LI09 | 8.6 | 375 | \$3,225.00 | Reviewing G. Murphy materials (1.5). Conferring with G. Murphy re discovery (.5). Conferring with J. Pankow re discovery (1.0). Conferring with C. Booze re discovery (1.0). Coordinating depositions and discovery for class plaintiffs (4.6). |
| 606 | 1/28/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 1.3 | 550 | \$715.00 | Attending to class representative depositions and document production. |
| 607 | 1/28/2016 | Hoek, Kathryn P. | Partner | LI09 | 0.9 | 600 | \$540.00 | Reviewing correspondence (.3). Reviewing discovery responses and document productions by B. Van Patten to identify any areas for supplementation (.2). Preparing for deposition of B. Van Patten (.4). |
| 608 | 1/28/2016 | Pachman, Krysta K. | Associate | L105 | 7 | 375 | \$2,625.00 | Conferring with J. Gerard Stranch re deposition scheduling (.5). Conferring with J. Jasnoch re deposition scheduling (.5). Conferring with M. Ence re discovery and deposition (1.0). Coordinating depositions and discovery (5.0). |
| 609 | 1/29/2016 | Eccles, Lindsey Godfrey | Partner | LI04 | 2 | 550 | \$1,100.00 | Attending to class representative depositions and document productions. |
| 610 | | Eccles, Lindsey Godfrey | Partner | LI05 | 0.6 | \$ | | Conferring via email re class representative depositions and document productions. |
| 611 | | Mata, Kenneth | Paralegal | LI07 | 1.2 | | | Preparing and coordinating with local vendor re multiple documents related to S. Seller identified for service prior to upcoming deposition re same. |
| 612 | | Hoek, Kathryn P. | Partner | LI11 | 0.4 | \$ | | Reviewing correspondence and case materials to prepare for deposition of B. Van Patten. |
| 613 | | Pachman, Krysta K. | Associate | LI05 | 4.6 | Ļ | | Coordinating deposition schedules and discovery. |
| 614 | 2/1/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 8.2 | 550 | \$4,510.00 | Conferring via email and preparing draft letter to opposing counsel re class representative depositions and document production (2.0). Traveling to Phoenix for Hunt and Sellers depositions and preparation of same (6.2). |
| 615 | 2/1/2016 | Pachman, Krysta K. | Associate | LI05 | 8.1 | 375 | \$3,037.50 | Coordinating deposition schedules and discovery. |
| 616 | 2/1/2016 | Hoek, Kathryn P. | Partner | LI05 | 2.2 | 600 | \$1,320.00 | Reviewing and responding to emails (.2). Reviewing case materials and deposition transcripts (.5). Preparing for 8. Van Patten deposition (1.5). |
| 617 | | Mata, Kenneth | Paralegal | LI07 | 1.1 | | , | Updating electronic and discovery files of class representatives with multiple documents in preparation of upcoming document production. |
| 618 | | Mata, Kenneth | Paralegal | LIO7 | 0.7 | 225 | | Compiling and redacting police report for C. Hunt in preparation of upcoming document production (.6). Updating production log re same (.1). |
| 619 | | Eccles, Lindsey Godfrey | Partner | LI05 | 6.1 | 550 | | Preparing Hunt and Sellers for deposition (5.5). Conferring via email re class rep depositions and document productions (.6). |
| 620 | | Pachman, Krysta K. | Associate | LI05 | 4.6 | | | Coordinating deposition schedules and discovery. |
| 621 | | Hoek, Kathryn P. | Partner | LI05 | 2.9 | 600 | , , | Reviewing and responding to emails (.3). Preparing for B. Van Patten deposition (2.0). Preparing revised discovery responses for D. Tolchin (.6). Compiling and updating of electronic document pleading folders with documents received from electronic court |
| 622 | 2/2/2016 | Mata, Kenneth | Paralegal | LI07 | 0.7 | 225 | \$157.50 | notices. |

| | В | E | F | J | K | N | | 0 | P |
|-----|------------|-------------------------|----------------------------|---------|-------------|--------------------------------|-------|----------------------------------|--|
| 1 | Matter # (| 013657 Lithium Batto | eries Antitrust Time Entri | es froi | m 6/1/ | 2013 throu | gh 2/ | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | Historical Rat Doc Rev Cap) | | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 623 | 2/2/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | "3 | 225 | | Updating production log with information extracted from previous productions. |
| 624 | 2/2/2016 | Sklaver, Steven G. | Partner | LI11 | 2.2 | - | 700 | \$1,540.00 | Conferring re class representative deposition issues and preparation for depositions and proposed amended |
| 625 | 2/3/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 8.6 | | 550 | \$4,730.00 | complaint. Defending Sellers class representative deposition (8.0). Preparing summary and conferring via email re same (.6). |
| 626 | 2/3/2016 | Pachman, Krysta K. | Associate | LI03 | 7.2 | | 375 | \$2,700.00 | Preparing discovery responses (4.5). Coordinating discovery (2.7). |
| 627 | 2/3/2016 | Sklaver, Steven G. | Partner | LI11 | 1 | | 700 | \$700.00 | Conferring re deposition summaries and MacBook Pro cylindrical battery issues. |
| 628 | 2/4/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 15.2 | | 550 | \$8,360.00 | Defending Hunt class representative deposition (8.0). Conferring via email re class representatives (.5). Traveling back to Seattle (6.7). |
| 629 | 2/4/2016 | Pachman, Krysta K. | Associate | L105 | 1.8 | | 375 | \$675.00 | Coordinating deposition schedules. |
| 630 | 2/4/2016 | Hoek, Kathryn P. | Partner | LI04 | 6.3 | | 600 | \$3,780.00 | Attending deposition of B. Van Patten (6.0). Reviewing and responding to emails and reviewing communications from defense counsel regarding discovery issues (.3). |
| 631 | 2/4/2016 | Sklaver, Steven G. | Partner | LI11 | 1.2 | | 700 | \$840.00 | Conferring re macbook pro cylindrical battery issues. |
| 632 | 2/5/2016 | Pachman, Krysta K. | Associate | LI05 | 2.1 | | 375 | \$787.50 | Reviewing case management statement (.5). Reviewing response to motion for leave to amend (.5). Coordinating deposition schedules and discovery (1.1). |
| 633 | 2/5/2016 | Hoek, Kathryn P. | Partner | LI03 | 0.8 | | 600 | \$480.00 | Reviewing communications and emails (.4). Preparing revised discovery responses for B. Van Patten (.4). |
| 634 | 2/6/2016 | Pachman, Krysta K. | Associate | LI05 | 0.4 | | 375 | \$150.00 | Coordinating deposition schedules and discovery. |
| 635 | 2/7/2016 | Pachman, Krysta K. | Associate | LI05 | 5.8 | 3 | 375 | \$2,175.00 | Coordinating deposition schedules and discovery. |
| 636 | 2/8/2016 | Pachman, Krysta K. | Associate | LI05 | 7.1 | | 375 | \$2,662.50 | Coordinating deposition schedules and discovery. |
| 637 | 2/8/2016 | Lee, Vanessa | IT Assistant | LI07 | 1 | • 3 | 125 | | Creating load files, tiffs, and associated text files for a set of PDF files. |
| 638 | 2/8/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 1.7 | ' | 550 | \$935.00 | Conferring via email re class representative issues (1.0). Reviewing case management statement (.7) |
| 639 | 2/8/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | | 225 | \$67.50 | Researching and compiling all complaints in case management file for attorney use and review in response to discovery correspondence. |
| 640 | 2/8/2016 | Mata, Kenneth | Paralegal | LI07 | 1 | | 225 | \$225.00 | Compiling and preparing multiple documents identified for upcoming document production (.9). Assisting with creating of load file re same (.1). |
| 641 | 2/9/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 3.1 | • | 550 | | Conferring via email re class representative issues (1.0). Reviewing case management statement (.5). Reviewing Seller deposition (1.6) |
| 642 | 2/9/2016 | Hoek, Kathryn P. | Partner | LI11 | 0.5 | | 600 | | Reviewing case communications and materials. |
| 643 | 2/9/2016 | Pachman, Krysta K. | Associate | LI09 | 2 .3 | | 375 | \$862.50 | Coordinating discovery. |
| 644 | 2/9/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | | 225 | \$90.00 | Revising and preparing documents identified for upcoming document production (.3). Assisting with creating of load file re same (.1). |
| 645 | 2/9/2016 | Sklaver, Steven G. | Partner | LI11 | 1.8 | | 700 | \$1,260.00 | Conferring re Palo Alto deposition, apple purchases, S. Bugee deposition, and departing class representative deposition issues. |
| 646 | 2/10/2016 | Eccles, Lindsey Godfrey | Partner | LI10 | 2 | | 550 | | Contacting referring counsel and conferring via email re same (1.0). Attending to class representative issues (1.0). |
| 647 | 2/10/2016 | Pachman, Krysta K. | Associate | LI04 | 9.3 | | 375 | \$3,487.50 | Participating in calls with opposing counsel re deposition scheduling (1.5). Coordinating deposition scheduling (7.8). |
| 648 | 2/10/2016 | Sklaver, Steven G. | Partner | LI11 | 1.5 | | 700 | \$1,050.00 | Conferring re mac purchases of class representatives and chart re same. |
| 649 | 2/11/2016 | Eccles, Lindsey Godfrey | Partner | LI03 | 1 | | 550 | \$550.00 | Revising Hunt interrogatory responses (.5). Conferring via email re class representative issues (.5). |
| 650 | 2/11/2016 | Pachman, Krysta K. | Associate | LI04 | 6.6 | | 375 | \$2,475.00 | Participating in meet and confer with opposing counsel re discovery and emails re same (3.5). Coordinating depositions and discovery (3.1). |
| 651 | 2/11/2016 | Sklaver, Steven G. | Partner | LI11 | 1.5 | | 700 | \$1,050.00 | Conferring re settlement agreement discovery dispute and related briefing in LCD matter and issues for opposing counsel on the issue. |
| 652 | 2/12/2016 | Pachman, Krysta K. | Associate | LI04 | 5.6 | i | 375 | \$2,100.00 | Coordinating depositions and discovery. |
| 653 | 2/13/2016 | Pachman, Krysta K. | Associate | LI04 | 0.2 | | 375 | \$75.00 | Emailing re discovery collection. |
| 654 | 2/15/2016 | Pachman, Krysta K. | Associate | LI04 | 7.4 | | 375 | \$2,775.00 | Preparing interrogatory responses. Participating in telephonic prep with G. Murphy. Coordinating discovery responses. |
| 655 | 2/15/2016 | Sklaver, Steven G. | Partner | LI11 | 1.2 | | 700 | | Editing letter to H. Abrams re discovery disputes and conferring re same. |
| 656 | 2/15/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | | 225 | \$67.50 | Compiling and preparing documents related to class representative Uehara for production (.2). Uploading production results to trail team re same (.1). |
| 657 | 2/15/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | | 225 | | Compiling and preparing documents related to class representative Fennelly for production (.3). Uploading production results to trial team re same (.1). |

| | В | E | F | J | K | N | 0 | P |
|-----|---|-------------------------|----------------------------|--------|---------|----------------|------------------|---|
| 1 | Matter # (| 013657 Lithium Batte | eries Antitrust Time Entri | es fro | m 6/1/2 | 2013 through 2 | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| - | | TKPR Name | Title | | | | Extended Amount | |
| 2 | | | | | | Doc Rev Cap) | (w/ Doc Rev Cap) | |
| 658 | 2/15/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | \$67.50 | Compiling and preparing documents related to class representatives Murphy and for production (.2) Uploading production results to trail team re same (.1) |
| 659 | 2/15/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | \$67.50 | Compiling and preparing documents related to class representative Pankow for production (.2). Uploading production results to trail team re same (.1). |
| 660 | 2/16/2016 | Sklaver, Steven G. | Partner | LI11 | 0.5 | 700 | | Conferring re deposition and discovery issues. |
| 661 | 2/16/2016 | Eccles, Lindsey Godfrey | Partner | LI03 | 0.6 | 550 | \$330.00 | Conferring via email re class representative depositions and other issues (.2). Reviewing letter to Abrams (.2). Revising interrogatory responses (.2). |
| 662 | 2/16/2016 | Pachman, Krysta K. | Associate | LI05 | 11.2 | 375 | | Traveling to San Francisco for Ames deposition (4.0). Attending Ames depo prep (4.0). Coordinating discovery (3.2). |
| 663 | 2/16/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | | Extracting multiple documents received from class representative McGuiness in preparation of document production. |
| 664 | 2/16/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | | Compiling and preparing documents related to class representative McGuiness for production (.3). Uploading production results to trail team re same (.1). |
| 665 | 2/17/2016 | Pachman, Krysta K. | Associate | LI05 | 12.8 | 375 | | Attending deposition of Jason Ames (7.0). Summarizing Ames deposition (1.0). Coordinating discovery (1.8). Traveling to Los Angeles from Ames deposition (3.0). |
| 666 | | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | , | Compiling and preparing documents related to class representatives Booze and for production (.3). Uploading production results to trail team re same (.1). |
| 667 | | Eccles, Lindsey Godfrey | Partner | LI10 | 2 | 550 | | Attending to class representative issues. |
| 668 | | Pachman, Krysta K. | Associate | LI05 | 11.2 | 375 | | Preparing for Gail Murphy prep (3.0). Attending Gail Murphy prep (5.0). Coordinating discovery and deposition errata (3.2). |
| 669 | ~~~~~~ | Eccles, Lindsey Godfrey | Partner | LI10 | 1.3 | 550 | | Attending to class representative issues. |
| 670 | ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ | Hoek, Kathryn P. | Partner | LI11 | 0.6 | 600 | | Reviewing case materials and reviewing and responding to emails. |
| 671 | ····· | Pachman, Krysta K. | Associate | LI04 | 14.1 | 375 | | Attending Gail Murphy deposition (7.0). Traveling to LA from Gail Murphy deposition (7.1). |
| 672 | | Sklaver, Steven G. | Partner | LI11 | 0.5 | 700 | | Conferring re G. Murphy deposition. |
| 673 | 2/19/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | , | Compiling entire production file of C. Hunt for attorney review (.3). Uploading results to trail team re same (.1). |
| 674 | 2/20/2016 | Eccles, Lindsey Godfrey | Partner | LI10 | 0.3 | 550 | | Attending to class representative issues. |
| 675 | | Pachman, Krysta K. | Associate | LI05 | 8.1 | 375 | , -, | Traveling to Lincoln, Nebraska for Cindy Booze deposition (7.0). Preparing for Cindy Booze deposition (1.1). |
| 676 | | Pachman, Krysta K. | Associate | LI05 | 6 | 375 | | Attending C. Booze deposition prep. (4.5). Preparing chart re discovery (1.0). Preparing response to Michael Hamburger (.5). |
| 677 | 2/22/2016 | Pachman, Krysta K. | Associate | LI05 | 17.4 | 375 | , -,- | Attending C. Booze deposition (8.0). Traveling to Los Angeles from Booze deposition (9.4). |
| 678 | ~~~~~~ | Eccles, Lindsey Godfrey | Partner | LI11 | 2.5 | 550 | | Attending to discovery dispute, privilege logs, and class representative issues. |
| 679 | | Hoek, Kathryn P. | Partner | LI05 | 2.6 | 600 | , , | Preparing for depositions of class representatives (2.0). Reviewing case materials and correspondence (.6). |
| 680 | | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | | Compiling all un-redacted versions of document productions related to C. Hunt for attorney review. |
| 681 | | Lee, Vanessa | IT Assistant | LI07 | 0.5 | 125 | | Creating load files, tiffs, and associated text files for a set of PDF files. |
| 682 | | Eccles, Lindsey Godfrey | Partner | LI07 | 0.2 | 350 | | Conferring with C. Surujbhan re privilege log (.1). Working on redaction project (.1). |
| 683 | | Hoek, Kathryn P. | Partner | LI09 | 2.3 | 600 | , , | Reviewing documents and discovery responses to prepare for depositions of class representatives Bugge (2.0). Reviewing and responding to emails and correspondence (.3). |
| 684 | | Pachman, Krysta K. | Associate | LI05 | 7.2 | 375 | | Preparing for McGuinness deposition prep. (2.5). Attending McGuinness prep (4.0). Emailing re discovery (.5). Amending McGuinness discovery responses (.2). |
| 685 | | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | | Compiling and preparing documents related to McGuiness identified for production (.3). Uploading of production results for service re same (.1). |
| 686 | | Hoek, Kathryn P. | Partner | LI09 | 0.6 | 600 | | Reviewing correspondence and case materials. |
| 687 | | Sklaver, Steven G. | Partner | LI11 | 1.5 | 700 | | Conferring re Batey and Palo Alto depositions. Proposition for McCuinness deposition (3.5). Attending McCuinness deposition (8.0). Coordinating discourse (4.2). |
| 688 | | Pachman, Krysta K. | Associate | LI05 | 12.4 | 375 | ' ' | Preparing for McGuinness deposition (2.5). Attending McGuinness deposition (8.0). Coordinating discovery (1.2). Preparing McGuinness deposition summary (.7). |
| 689 | | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | | Creating new document upload and link for document production related to McGuiness (.2). Updating trial team re same (.1). |
| 690 | | Eccles, Lindsey Godfrey | Partner | LI10 | 1.6 | 550 | | Attending to class representative issues. |
| 691 | 2/25/2016 | Sklaver, Steven G. | Partner | LI11 | 1.5 | 700 | \$1,050.00 | Conferring re deposition instructions and issues re questions related to arrest records, retainer agreements, and prior litigation (1.0). Conferring re discovery disputes based on meta-data and settlement agreements (.5). |

| | В | Е | F | J | K | N | 0 | P |
|-----|------------|-------------------------|-----------------------------|-------|---------|---------------------|------------------|--|
| 1 | Matter # (| 013657 Lithium Batte | eries Antitrust Time Entrie | s fro | m 6/1/2 | 2013 through 2 | /28/2017 - Histo | ric Rates (with Document Review Cap) |
| | | TKPR Name | Title | · | | Historical Rate (w/ | | Narrative |
| 692 | 2/25/2016 | Hoek, Kathryn P. | Partner | LI09 | 0.9 | 600 | | Reviewing correspondence and case materials (.7). Coordinating with counsel for class representative Bugge regarding deposition (.2). |
| 693 | 2/25/2016 | Pachman, Krysta K. | Associate | LI05 | 16.4 | 375 | \$6,150.00 | Traveling to Reymann prep. (10.0). Preparing for Reymann deposition (3.0). Coordinating discovery (3.4). |
| 694 | 2/25/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | \$67.50 | Reviewing defendants correspondence related to production deficiencies in preparation of converting production files for compliance. |
| 695 | 2/25/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | 7 | Creating new document upload and link for document production related to Murphy (.3). Updating trial team re same (.1). |
| 696 | | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | | Creating new document upload and link for document production related to Reymann (.3). Updating trial team re same (.1). |
| 697 | 2/26/2016 | Hoek, Kathryn P. | Partner | LI09 | 1.8 | 600 | | Reviewing discovery materials and documents for Bugge in preparation for deposition (1.5). Reviewing and responding to emails regarding discovery disputes and depositions (.3). |
| 698 | 2/26/2016 | Pachman, Krysta K. | Associate | LI05 | 13.1 | 375 | \$4,912.50 | Attending Reymann deposition (10.0). Coordinating discovery (3.1). |
| 699 | | Pachman, Krysta K. | Associate | LI14 | 1.4 | 375 | | Coordinating discovery (.7). Preparing charts for 3/1 hearing re motion for leave to amend (.7). |
| 700 | | Pachman, Krysta K. | Associate | LI04 | 6.6 | 375 | | Traveling from Salt Lake City to Chicago for Kopp/Pankow depositions. |
| 701 | 2/29/2016 | Pachman, Krysta K. | Associate | LIO4 | 10.4 | 375 | \$3,900.00 | Attending Kopp depo prep (6.0). Participating in telephone call re discovery issues for 3/1 hearing (1.0). Emailing re 3/1 hearing (1.0). Contacting referring counsel re class rep supplemental interrogatory responses (1.0). Preparing response to T. Bohnett re McGuinness deposition (1.4). |
| 702 | 2/29/2016 | Hoek, Kathryn P. | Partner | LI05 | 2.4 | 600 | \$1,440.00 | Preparing for deposition of class representatives Bugge (1.8). Reviewing and responding to emails and case correspondence (.3). Coordinating supplemental discovery among counsel for class representatives (.3). |
| 703 | 2/29/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | \$67.50 | Updating production log with information extracted from document productions. |
| 704 | 2/29/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Compiling and preparing documents related to Reymann identified for production (.3). Uploading of production results for service re same (.1). |
| 705 | 2/29/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | 1.7 | 350 | \$595.00 | Attending to redaction project (1.0). Attending to class representative depositions (.7). |
| 706 | - | Surujbhan, Camille | Paralegal | LI07 | 3 | 90 | , | Compiling and updating privilege log for IPPs and redacting documents to file per instruction from L. Eccles and K. Pachman. |
| 707 | 2/29/2016 | Surujbhan, Camille | Paralegal | LI07 | 2 | 90 | | Updating final edits to privilege log for IPPs and document redaction. |
| 708 | 3/1/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | 1 | 350 | | Attending to redaction project. |
| 709 | 3/1/2016 | Eccles, Lindsey Godfrey | Partner | LI10 | 0.3 | 550 | | Addressing class representative issues. |
| 710 | 3/1/2016 | Pachman, Krysta K. | Associate | LI04 | 9.4 | 375 | \$3,525.00 | Attending J. Kopp deposition (7.5). Summarizing J. Kopp deposition (1.0). Coordinating discovery (.9). |
| 711 | | Hoek, Kathryn P. | Partner | LI09 | 0.9 | 600 | 7 | Following up with class representatives and referring counsel regarding supplemental discovery issues per agreements with opposing counsel. |
| 712 | | Hoek, Kathryn P. | Partner | LI06 | 3.6 | 600 | | Preparing for and attending meeting with class representative S. Bugge and referring counsel to prepare for deposition of S. Bugge. |
| 713 | | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | ' ' ' | Corresponding with third party vendor re load file requirements per standing order and deficiency letter (.2). Update trial team of results re same (.1). |
| 714 | | Eccles, Lindsey Godfrey | Partner | LI10 | 0.8 | 550 | > | Addressing class representative issues. |
| 715 | | Pachman, Krysta K. | Associate | LI11 | 6.5 | 375 | | Attending J. Pankow deposition preparation (6.0) Emailing re discovery coordination (.5). |
| 716 | | Hoek, Kathryn P. | Partner | LI06 | 4.5 | 600 | | Preparing for and attending meeting with class representative S. Bugge and referring counsel to prepare for deposition of S. Bugge. |
| 717 | | Hoek, Kathryn P. | Partner | LI09 | 0.5 | 600 | | Reviewing emails and case materials re class member depositions of Bugge and Pham. |
| 718 | | Hoek, Kathryn P. | Partner | LI06 | 0.4 | 600 | | Following up with class representatives and referring counsel on issues raised in discovery meet and confers with opposing counsel. |
| 719 | | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | , | Meeting with third party vendor regarding standing order for production requirements of class representatives (.3). Updating trial team of results re-same (.1). Proposition decreases to extend to decrease special trial team of the purposition of the purposit |
| 720 | | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | · | Preparing documents related to class representative Bugge for load file and service (.3). Updating trial team of results for service re same (.1). Editing privilege log and sending final redacted documents to K. Mata for metadata load files. |
| 721 | | Surujbhan, Camille | Paralegal | LI07 | 0.5 | 90 | | Working on redaction project. |
| 722 | | Eccles, Lindsey Godfrey | Partner | LIO7 | 1 | 350 | τ | |
| 723 | 3/3/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 5.5 | 550 | \$3,025.00 | Attending S. Bugge deposition (5.0). Corresponding re Bugge deposition (.5) |

| | В | E | F | J | K | N | 0 | P |
|-----|------------|-------------------------|---------------------------|--------|--------|----------------|------------------|--|
| 1 | Matter # 0 | 013657 Lithium Batte | ries Antitrust Time Entri | es fro | m 6/1/ | 2013 through 2 | /28/2017 - Histo | oric Rates (with Document Review Cap) |
| | | TKPR Name | Title | ~~~~~ | ~~~~~ | | Extended Amount | |
| 2 | | | | | | Doc Rev Cap) | (w/ Doc Rev Cap) | |
| 724 | 3/3/2016 | Pachman, Krysta K. | Associate | LI11 | 2.4 | 375 | \$900.00 | Emailing re discovery coordination (1.0). Preparing correspondence to opposing counsel (1.4). |
| 725 | 3/3/2016 | Mata, Kenneth | Paralegal | LI07 | 2.6 | 225 | \$585.00 | Preparing redacted documents and all previously produced documents consisting of parts 1-3 for creation of load files and process of service (2.4). Uploading completed load files for service re same (.2). |
| 726 | 3/4/2016 | Pachman, Krysta K. | Associate | LI04 | 10.8 | 375 | \$4,050.00 | Attending J. Pankow deposition (8.0). Summarizing J. Pankow deposition (1.0). Reviewing and revising correspondence re discovery (1.0). Participating in call with R. Green and S. Harmon re discovery (.8). |
| 727 | 3/4/2016 | Hoek, Kathryn P. | Partner | LI05 | 0.8 | 600 | \$480.00 | Coordinating with referring counsel regarding deposition of T. Pham (.4). Reviewing materials provided by co- leads for T. Pham (.4). |
| 728 | 3/4/2016 | Mata, Kenneth | Paralegal | L107 | 0.5 | 225 | \$112.50 | Preparing documents related to class representative Harmon for load file and service (.4). Updating trial team of results for service re same (.1). |
| 729 | 3/5/2016 | Pachman, Krysta K. | Associate | LI02 | 8.7 | 375 | \$3,262.50 | Coordinating discovery (3.0). Traveling from Chicago to LA (5.7). |
| 730 | 3/6/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.2 | 550 | \$110.00 | Drafting summary of S. Bugge deposition. |
| 731 | 3/6/2016 | Eccles, Lindsey Godfrey | Partner | LI10 | 0.2 | 550 | \$110.00 | Conferring via email re class representative issues. |
| 732 | 3/7/2016 | Pachman, Krysta K. | Associate | LI04 | 10.5 | 375 | \$3,937.50 | Traveling to Portland, Oregon for S. Harmon deposition (7.5). Corresponding re discovery (1.0). Preparing supplemental interrogatory responses (2.0). |
| 733 | 3/7/2016 | Hoek, Kathryn P. | Partner | LI05 | 1.6 | 600 | \$960.00 | Preparing for T. Pham deposition. |
| 734 | 3/7/2016 | Hoek, Kathryn P. | Partner | LI09 | 1.4 | 600 | \$840.00 | Reviewing case materials, correspondence, and transcripts of recent depositions to prepare for Pham deposition. |
| 735 | 3/7/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.4 | 550 | \$220.00 | Attending to class representative issues. |
| 736 | 3/7/2016 | Mata, Kenneth | Paralegal | LI07 | 0.5 | 225 | \$112.50 | Compiling multiple documents related to class representatives identified for use in upcoming document production. |
| 737 | 3/8/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.4 | 550 | \$220.00 | Attending to class representative issues. |
| 738 | 3/8/2016 | Hoek, Kathryn P. | Partner | LI05 | 4.3 | 600 | \$2,580.00 | Attending meeting to prepare for deposition of T. Pham (3.0). Addressing discovery issues relating to upcoming and past depositions (.7). Reviewing case materials and correspondence to prepare for Pham deposition (.6). |
| 739 | 3/8/2016 | Pachman, Krysta K. | Associate | LI05 | 10.4 | 375 | \$3,900.00 | Attending Sheri Harmon deposition prep. (6.0). Coordinating discovery (4.0). Participating in call with Joe Mann re J. Ames interrogatory responses and errata (.4). |
| 740 | 3/8/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Compiling and preparing documents related to class representative Ames identified for use in upcoming document production (.3). Uploading completed load files for service re same (.1). |
| 741 | 3/8/2016 | Mata, Kenneth | Paralegal | LI07 | 0.4 | 225 | \$90.00 | Compiling and preparing documents related to class representative Bessette identified for use in upcoming document production (.3). Uploading completed load files for service re same (.1). |
| 742 | 3/8/2016 | Mata, Kenneth | Paralegal | LI07 | 0.3 | 225 | \$67.50 | Compiling and preparing documents related to class representative Murphy identified for use in upcoming document production (.2). Uploading completed load files for service re same (.1). |
| 743 | 3/8/2016 | Mata, Kenneth | Paralegal | LI07 | 0.5 | 225 | \$112.50 | Compiling and preparing documents related to class representative Pham identified for use in upcoming document production (.4). Uploading completed load files for service re same (.1). |
| 744 | 3/9/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 1.2 | 550 | \$660.00 | Attending to class representative issues. |
| 745 | | Hoek, Kathryn P. | Partner | LI09 | 1.2 | · } | | Reviewing case materials and correspondence to prepare for Pham deposition (.7). Following up on outstanding discovery issues re Pham and Bugge (.5). |
| 746 | 3/9/2016 | Pachman, Krysta K. | Associate | LI04 | 15.5 | 375 | \$5,812.50 | Attending Sheri Harmon deposition (8.0). Participating in telephone call with D. Lambrinos re 3/10 hearing (1.0). Participating in call with C. Hunt re interrogatory responses (1.0). Coordinating discovery (5.5). |
| 747 | 3/9/2016 | Mata, Kenneth | Paralegal | LI07 | 0.7 | 225 | \$157.50 | Compiling and preparing documents identified for use in upcoming deposition of T. Pham (.6). Uploading results to trial team re same (.1). |
| 748 | 3/10/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 1.9 | 550 | \$1,045.00 | Attending to class representative issues (1.5). Conferring with counsel for D. Shawn (.4). |
| 749 | | Hoek, Kathryn P. | Partner | LI09 | 0.6 | | | Conferring with counsel for T. Pham (.3). Conferring with opposing counsel regarding deposition of T. Pham (.1). Reviewing and responding to emails regarding discovery issues (.2). |
| 750 | 3/10/2016 | Pachman, Krysta K. | Associate | LI09 | 15.1 | 375 | \$5,662.50 | Traveling to Reno, Nevada for Ence deposition (4.0). Participating in Ence prep (6.0). Participating in call with D. Lambrinos re Request for Production and search terms (.5) Coordinating discovery (4.6). |

| П | В | E | F | J | K | N | 0 | P |
|-----|------------|-------------------------|--|-------|--------|---------------------|---|--|
| 1 | Matter # (| 13657 Lithium Batte | ries Antitrust Time Entrie | s fro | m 6/1/ | 2013 through 2 | /28/2017 - Histo | oric Rates (with Document Review Cap) |
| _ | | TKPR Name | ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ | | Hours | Historical Rate (w/ | - | Narrative |
| 2 | | | | | | | (w/ Doc Rev Cap) | |
| 751 | 3/10/2016 | Sklaver, Steven G. | Partner | LI11 | 2 | | | Conferring re Bugge deposition summary and issues, Hathaway responses and objections, and results from hearing of Ryu and adjustments to production required going forward. |
| 752 | 3/11/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 1.3 | 550 | \$715.00 | Attending to class representative issues. |
| 753 | 3/11/2016 | Hoek, Kathryn P. | Partner | LI09 | 1.1 | 600 | \$660.00 | Following up on discovery issues with class representatives and referring counsel (.4) Reviewing summary of hearing and related emails (.4). Conferring with T. Pham and M. Reich regarding amended and supplemental |
| 754 | 3/11/2016 | Pachman, Krysta K. | Associate | LI05 | 16.1 | 375 | \$6,037.50 | discovery responses (.3). Coordinating discovery (4.1). Attending Ence deposition (8.0). Traveling to Los Angeles, California from Ence deposition (4.0). |
| 755 | 3/11/2016 | Sklaver, Steven G. | Partner | LI11 | 0.8 | 700 | \$560.00 | Conferring re alleged metadata deficiencies raised by defendant. |
| 756 | 3/12/2016 | Pachman, Krysta K. | Associate | LI05 | 2.6 | 375 | \$975.00 | Preparing for Hathaway deposition prep (1.5). Coordinating discovery (1.1). |
| 757 | 3/13/2016 | Pachman, Krysta K. | Associate | LI03 | 12.4 | 375 | | Coordinating discovery verifications/responses (2.5). Preparing chart re Apple specifications (1.0). Traveling to Washington, D.C. for Hathaway & Associates deposition (8.9). |
| 758 | | Pachman, Krysta K. | Associate | LI05 | 8.5 | | | Attending Hathaway & Associates deposition prep. (5.0). Coordinating discovery verifications/responses (3.5). |
| 759 | | Eccles, Lindsey Godfrey | | LIO3 | į | | | Drafting response to Hathaway deposition notice (.5). Revising McGranahan supplemental interrogatory response (.5). Attending to other class representative issues (4.0). |
| 760 | | Hoek, Kathryn P. | | LI05 | 1.4 | | , | Preparing for deposition of T. Pham (1.0). Reviewing correspondence and case materials re Pham deposition(.4). |
| 761 | 3/14/2016 | Mata, Kenneth | Paralegal | LI07 | 1 | L 225 | \$225.00 | Compiling and preparing deposition summaries of all deponents to date in support of response to discovery request (.8). Uploading results to trial team re same (.2). |
| 762 | 3/14/2016 | Sklaver, Steven G. | Partner | LI11 | 1.5 | 700 | \$1,050.00 | · · · · · · · · · · · · · · · · · · · |
| 763 | 3/15/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 8.3 | 550 | | Attending class representative, D. Shawn deposition (7.0). Attending to class representative issues (1.3). |
| 764 | 3/15/2016 | Pachman, Krysta K. | Associate | LI03 | 6.7 | 375 | \$2,512.50 | Coordinating discovery responses (5.0). Reviewing and revising 4CAC (1.7). |
| 765 | 3/15/2016 | Hoek, Kathryn P. | Partner | LI05 | 7 | 600 | | Preparing for deposition of T. Pham (5.0). Traveling to and from deposition of T. Pham (2.0). |
| 766 | 3/15/2016 | Mata, Kenneth | Paralegal | LI07 | 0.6 | | | Attending conference call re metadata issues and resolutions re document productions. |
| 767 | | Mata, Kenneth | <u> </u> | LIO7 | 0.7 | | , | Compiling and preparing additional deposition summaries of all deponents to date in support of response to discovery request (.6). Uploading results to trial team re same (.1). |
| 768 | 3/15/2016 | Mata, Kenneth | Paralegal | LI07 | 2.7 | 7 225 | \$607.50 | Creating spreadsheet for all document productions and searching case entire case management files for native documents and correspondence in preparation of reproduction of all previously produced documents. |
| 769 | 3/15/2016 | Sklaver, Steven G. | Partner | LI11 | 2.0 | 700 | | Conferring re meet and confer efforts by M. Hamburger and discovery dispute re same. |
| 770 | 3/16/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 3.1 | 550 | , , | Attending to class representative issues (2.5). Reviewing order (.6). |
| 771 | 3/16/2016 | Pachman, Krysta K. | Associate | LI09 | 12.9 | 375 | | Traveling home from Washington, D.C. Coordinating discovery (11.5). Reviewing and revising 4CAC (1.4). |
| 772 | | Hoek, Kathryn P. | | LI05 | 7.3 | | | Attending deposition of T. Pham (6.5). Addressing discovery issues raised in deposition of T. Pham (.6). Reviewing correspondence re Pham deposition (.2). |
| 773 | | Sklaver, Steven G. | · | LI11 | 0.5 | | | Conferring re deposition preparation of class representatives and going forward schedule. |
| 774 | | Eccles, Lindsey Godfrey | <u>;</u> | LI11 | 0.5 | | | Attending to class representative issues. |
| 775 | | Pachman, Krysta K. | <u> </u> | LI09 | 1.6 | | | Coordinating discovery (1.1). Reviewing 4CAC (.5). |
| 776 | | Hoek, Kathryn P. | | LI09 | 1.2 | | | Reviewing transcript of T. Pham and preparing summary (1.0). Reviewing correspondence and case materials (2). |
| 777 | 3/1//2016 | Mata, Kenneth | Paralegal | LI07 | 3.2 | 225 | \$720.00 | Continuing creating spreadsheet of all document productions and searching case entire case management files for native documents and correspondence in preparation of reproduction of all previously produced documents. |
| 778 | 3/17/2016 | Mata, Kenneth | Paralegal | LI07 | 2.1 | 225 | \$472.50 | Continuing creating spreadsheet of all document productions and searching case entire case management files for native documents and correspondence in preparation of reproduction of all previously produced documents. |
| 779 | 3/17/2016 | Sklaver, Steven G. | Partner | LI11 | 1.5 | 700 | \$1,050.00 | Conferring re REDACTED |
| 780 | 3/18/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.4 | 550 | \$220.00 | Attending to class representative issues. |
| 781 | 3/18/2016 | Pachman, Krysta K. | Associate | LI09 | 4.2 | 2 375 | \$1,575.00 | Coordinating discovery (3.5). Reviewing 4CAC (.7). |
| 782 | 3/18/2016 | Pachman, Krysta K. | Associate | LI09 | 0.3 | 375 | \$112.50 | Logging documents on written chronology. |

| | В | E | F | J | K | | N | 0 | P |
|-----|------------|-------------------------|-----------------------------|--------|---------|----|-----|----------------------------------|--|
| 1 | Matter # 0 | 013657 Lithium Batt | eries Antitrust Time Entrie | es fro | om 6/1/ | | | | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | | | Extended Amount (w/ Doc Rev Cap) | Narrative |
| '83 | 3/18/2016 | Sklaver, Steven G. | Partner | LI11 | 0. | .8 | 700 | \$560.00 | Conferring re amended complaint, depositions, and dropping class representatives. |
| '84 | 3/21/2016 | Pachman, Krysta K. | Associate | LI05 | 4. | .7 | 375 | \$1,762.50 | Coordinating discovery (3.0). Preparing for Billingsley deposition prep (1.7). |
| '85 | 3/21/2016 | Pachman, Krysta K. | Associate | LI09 | 1. | .9 | 375 | \$712.50 | Logging documents on written chronology. |
| '86 | 3/21/2016 | Eccles, Lindsey Godfrey | Partner | LI03 | 0. | .3 | 550 | \$165.00 | Attending to discovery requests. |
| '87 | 3/21/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 0. | .3 | 550 | \$165.00 | Attending to class representative deposition scheduling. |
| '88 | 3/21/2016 | Mata, Kenneth | Paralegal | LI07 | 0. | .3 | 225 | | Corresponding with third party vendor and co-counsel re deposition transcript of D. Reymann (.2). Updating tria team of results re same (.1). |
| '89 | | Mata, Kenneth | Paralegal | LI07 | 0. | | 225 | | Preparing deposition transcript of D. Reymann for review and errata completion (.3). Updating transcript to trial team re same (.1). |
| '90 | | Eccles, Lindsey Godfrey | Partner | LI11 | 0. | | 550 | | Attending to class representative issues. |
| 91 | | Hoek, Kathryn P. | Partner | LI06 | 0. | | 600 | ' | Reviewing correspondence re Billinsley deposition (.5). Discussing discovery strategy with co-counsel (.4). |
| 92 | | Pachman, Krysta K. | Associate | LI05 | 12. | | 375 | | Coordinating discovery (2.0). Traveling to Memphis, Tennessee for Billingsley preparation (10.6). |
| 93 | | Eccles, Lindsey Godfrey | Partner | LI11 | 1. | | 550 | | Attending to class representative issues. |
| 94 | | Hoek, Kathryn P. | Partner | LI09 | 0. | | 600 | | Reviewing and responding to emails and correspondence re amending class representative discovery responses. |
| '95 | 3/23/2016 | Pachman, Krysta K. | Associate | LI05 | 18. | .7 | 375 | \$7,012.50 | Traveling from Memphis, TN to Booneville, MS for Billingsley prep. (4.0). Attending Billingsley prep. (4.0). Traveling from Booneville, MS to Los Angeles (10.0). Coordinating discovery (.7) |
| '96 | 3/24/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0. | .2 | 550 | \$110.00 | Attending to class representative issues. |
| 97 | 3/24/2016 | Hoek, Kathryn P. | Partner | LI09 | 0. | .4 | 600 | \$240.00 | Reviewing and responding to emails and correspondence re amending class representative discovery responses |
| '98 | 3/24/2016 | Pachman, Krysta K. | Associate | LI06 | 9. | .3 | 375 | \$3,487.50 | Attending calls re discovery (2.0). Reviewing and revising supplemental interrogatory responses (1.0). Preparing for Fennelly deposition (4.0). Attending telephone call with Mr. Fennelly re document collection (1.0). Reviewing deposition transcripts for erratas (1.3). |
| '99 | 3/24/2016 | Mata, Kenneth | Paralegal | LI07 | 0. | .5 | 225 | \$112.50 | Reviewing native document spreadsheet received from co-counsel legal assistant and assist with identification of native documents for upcoming document reproduction. |
| 800 | 3/24/2016 | Mata, Kenneth | Paralegal | LI07 | 0. | .6 | 225 | \$135.00 | Reviewing deposition errata of multiple individuals and creating files in preparation of service on court reporting service (.4). Serving documents re same (.2). |
| 01 | 3/24/2016 | Mata, Kenneth | Paralegal | LI07 | 0. | .3 | 225 | \$67.50 | Updating deposition roster with information extracted from deposition transcripts. |
| 02 | 3/25/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0. | .8 | 550 | \$440.00 | Attending to class representative issues. |
| 803 | 3/25/2016 | Pachman, Krysta K. | Associate | LI09 | | 4 | 375 | | Reviewing deposition transcripts for errata (3.5). Preparing supplemental interrogatory responses for service (.5). |
| 04 | 3/28/2016 | Pachman, Krysta K. | Associate | LI06 | 12. | .1 | 375 | | Attending call re Billingsley document collection (1.0). Coordinating discovery (11.1). |
| 805 | 3/28/2016 | Mata, Kenneth | Paralegal | LI07 | 1. | .2 | 225 | \$270.00 | Creating class representative files with related documents and all document productions in support of upcoming native file reproduction (.8). Uploading to external database re same (.4). |
| 306 | 3/28/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0. | .3 | 550 | \$165.00 | Attending to class representative issues. |
| 07 | 3/28/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | 0. | .4 | 350 | \$140.00 | Conferring with D. Lambrinos re privilege log. |
| 808 | 3/28/2016 | Hoek, Kathryn P. | Partner | LI09 | 0. | .6 | 600 | \$360.00 | Reviewing and responding to emails and correspondence re Billinsley deposition. |
| 09 | 3/29/2016 | Mata, Kenneth | Paralegal | LI07 | 0. | .4 | 225 | \$90.00 | Serving deposition errata of Booze and Bessette (.3). Updating production roster re same (.1). |
| 310 | 3/29/2016 | Mata, Kenneth | Paralegal | LI07 | 0. | .7 | 225 | \$157.50 | Creating deposition and errata files with related documents for co-counsel records (.5). Uploading to external database re same (.2). |
| 311 | 3/29/2016 | Mata, Kenneth | Paralegal | LI07 | 0. | .2 | 225 | | Corresponding with court reporting vendor re deposition transcripts for Bugge and Shawn (.1). Updating trial team of results re same (.1). |
| 12 | 3/29/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0. | | 550 | | Attending to class representative issues. |
| 313 | 3/29/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | | 2 | 350 | ' | Conferring with C. Surujbhan re privilege log (.5). Drafting letter to opposing counsel re same (1.5). |
| 314 | 3/29/2016 | Pachman, Krysta K. | Associate | LI05 | 10. | | 375 | | Attending call re Fennelly document collection (1.0). Emailing re discovery (1.0). Attending Billingsley deposition preparation (6.8). Reviewing Reymann transcript (2.0). |
| 15 | 3/29/2016 | Hoek, Kathryn P. | Partner | LI09 | 0. | .5 | 600 | | Reviewing case material and correspondence re Batey deposition and discovery responses. |
| 316 | 3/30/2016 | Pachman, Krysta K. | Associate | LI04 | 13. | .2 | 375 | \$4,950.00 | Attending Billingsley deposition (8.0). Emailing re discovery (1.0). Traveling from Billingsley deposition to Nashville for Batey deposition (4.2). |

| | В | E | F | J | K | N | | 0 | P |
|-----|------------|-------------------------|-----------------------------|---------|------------|-------------------------------|-----|---------------------------------|---|
| 1 | Matter # | 013657 Lithium Batto | eries Antitrust Time Entrie | es froi | m 6/1/ | 2013 through | 2/2 | 28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | Historical Rate (Doc Rev Cap) | | extended Amount w/ Doc Rev Cap) | Narrative |
| 817 | 3/31/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.6 | 72 | 550 | | Attending to class representative issues. |
| 040 | 3/31/2016 | Pachman, Krysta K. | Associate | LI03 | 15.2 | 3 | 375 | \$5,700.00 | Attending Caleb Batey deposition prep. (5.0). Traveling to Los Angeles from Nashville (8.0). Preparing |
| 818 | 2/24/2046 | Deelease Keeste K | Ai | 1107 | 4.3 | | 150 | Ć430.00 | supplemental interrogatory responses for service and emailing re discovery (2.2). |
| 819 | | Pachman, Krysta K. | Associate | L107 | 1.2 0.3 | | 350 | | Logging documents in written chron. Reviewing case materials and correspondence re Reymann deposition and discovery responses. |
| 820 | 3/31/2016 | Hoek, Kathryn P. | Partner | LI09 | 0.3 | į t | 500 | \$180.00 | neviewing case materials and correspondence re keymann deposition and discovery responses. |
| 821 | 4/1/2016 | Hoek, Kathryn P. | Partner | LI09 | 0.6 | .} | 500 | T | Reviewing case materials and correspondence in preparation for Fennelly deposition. |
| 822 | | Eccles, Lindsey Godfrey | Partner | LI11 | 1 | . <u></u> | 550 | | Attending to class representative issues (.3). Reviewing order (.2). |
| 823 | 4/2/2016 | Pachman, Krysta K. | Associate | LI06 | 1.3 | .k | 375 | | Emailing re discovery. |
| 824 | | Pachman, Krysta K. | Associate | LI05 | 13.1 | | 375 | | Traveling to Lawrence, Kansas for D. Fennelly deposition preparation (7.6). Attending D. Fennelly deposition preparation (5.5). |
| 825 | 4/4/2016 | Pachman, Krysta K. | Associate | LI05 | 13.1 | 3 | 375 | \$4,912.50 | Emailing re discovery (2.0). Traveling from Lawrence, Kansas to Los Angeles from D. Fennelly deposition preparation (11.1) |
| 826 | 4/4/2016 | Hoek, Kathryn P. | Partner | LI09 | 0.6 | (| 500 | \$360.00 | Reviewing case materials and correspondence in preparation for Beson deposition. |
| 827 | 4/4/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.5 | 5 | 550 | \$275.00 | Attending to class representative issues. |
| 828 | 4/4/2016 | DeGeorges, Simon | Paralegal | LI01 | 0.2 | 2 | 270 | \$54.00 | Searching court and internet records REDACTED |
| 829 | | Mata, Kenneth | Paralegal | LI07 | 0.7 | | 225 | ' | Updating electronic database folders with emails, correspondence and documents received from trial team and respondents. |
| 830 | | Pachman, Krysta K. | Associate | LI06 | 0.1 | | 375 | | Emailing re discovery. |
| 831 | | Pachman, Krysta K. | Associate | LI05 | 18.6 | | 375 | | Traveling to Nashville, Tennessee for Batey deposition (10.0). Participating in Batey preparation (5.0). Coordinating discovery (3.6). |
| 832 | | DeGeorges, Simon | Paralegal | LI07 | 0.3 | | 270 | | Drafting and sending email to TSG court reporting service to request deposition transcripts of Donna Shawn and Steve Bugge in accordance with K. Pachman's request. |
| 833 | | Hoek, Kathryn P. | Partner | LI09 | 0.4 | ·\$ | 500 | | Reviewing case materials and correspondence in preparation for Batey deposition. |
| 834 | 4/ // 2016 | Pachman, Krysta K. | Associate | LI04 | 10.5 | 3 | 375 | \$3,937.50 | Traveling to/from Caleb Batey deposition (2.0). Attending Caleb Batey deposition (7.5). Preparing Batey deposition summary (.5). Emailing re discovery (.5). |
| 835 | 4/8/2016 | Pachman, Krysta K. | Associate | LI05 | 12.7 | 3 | 375 | \$4,762.50 | Traveling to Naples, Florida for David Beson deposition preparation (8.0). Preparing supplemental interrogatory responses (.7). Attending David Beson deposition preparation (4.0). |
| 836 | 4/8/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | 3 | 3 | 350 | \$1,050.00 | Conferring and supervising E. Ehrenfeld re privilege log project. |
| 837 | | Eccles, Lindsey Godfrey | Partner | LI11 | 0.5 | <u></u> | 550 | \$275.00 | Attending to class representative issues. |
| 838 | 4/9/2016 | Pachman, Krysta K. | Associate | LI05 | 7.8 | 3 | 375 | \$2,925.00 | Traveling from Naples, Florida to Kansas City for Fennelly deposition (7.5). Emailing re deposition preparation (.3). |
| 839 | 4/10/2016 | Pachman, Krysta K. | Associate | LI05 | 0.3 | 3 | 375 | \$112.50 | Emailing re deposition preparation. |
| 840 | 4/11/2016 | Pachman, Krysta K. | Associate | LI05 | 13.6 | 3 | 375 | | Driving to Lawrence, Kansas for Fennelly deposition (2.0). Attending deposition preparation with Fennelly (3.0). Attending Fennelly deposition (7.0). Emailing re discovery (1.0). Preparing supplemental interrogatory responses |
| 841 | 4/11/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | 3 | 3 | 350 | \$1,050.00 | Attending to privilege log and document production. |
| 842 | | Hoek, Kathryn P. | Partner | LI07 | 4.6 | - | 350 | ' ' | Reviewing case materials and correspondence (1.0). Reviewing deposition summaries (1.0). Reviewing documents for relevance and production (2.6). |
| 843 | 4/11/2016 | Sklaver, Steven G. | Partner | LI11 | 1 | 7 | 700 | | Conferring re Beason document review for deposition. |
| 844 | | Mata, Kenneth | Paralegal | LI07 | 0.7 | | 225 | | Compiling all document productions identified for additional review of un-redacted versions of documents. |
| 845 | 4/12/2016 | DeGeorges, Simon | Paralegal | L107 | 5.2 | 2 | 270 | \$1,404.00 | Reviewing documents on Relativity database for any materials relating to or confirming Dave Beson's purchase of a Samsung laptop, model QX410, in October 2010, and emailing search results to K. Pachman in accordance with her request. |
| 846 | | Eccles, Lindsey Godfrey | Partner | LI07 | 0.2 | .} | 350 | | Attending to privilege log and document production. |
| 847 | 4/12/2016 | Pachman, Krysta K. | Associate | LI03 | 17.1 | | 375 | | Reviewing D. Beson documents for production (1.5). Traveling to D. Beson deposition (8.0). Preparing for D. Beson deposition (5.0). Emailing re discovery (2.0). Preparing supplemental interrogatory responses (.6). |
| 848 | | Hoek, Kathryn P. | Partner | LI07 | 4.5 | | 350 | | Reviewing Beson documents for relevance and production (3.7). Reviewing and responding to emails re document review protocol (.8). |
| 849 | 4/12/2016 | Wilson, Daniel | Staff Atty | LI07 | 6.8 | 2 | 275 | \$1,870.00 | Reviewing plaintiff's emails for responsive emails (5.8). Conferring by email with trial team (1.0). |

| | В | E | F | J | K | N | | 0 | P |
|-----|-----------|-------------------------|-----------------------------|-------|--------|---------------------------------|-------|----------------------------------|--|
| 1 | Matter # | 013657 Lithium Batt | eries Antitrust Time Entrie | s fro | m 6/1/ | 2013 throug | gh 2/ | 28/2017 - Histo | ric Rates (with Document Review Cap) |
| 2 | Date | TKPR Name | Title | Task | Hours | Historical Rate Doc Rev Cap) | | Extended Amount (w/ Doc Rev Cap) | Narrative |
| 850 | 4/13/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | 0.5 | ···{ | 350 | | Attending to privilege log and document production. |
| 851 | | Hoek, Kathryn P. | Partner | LI09 | 0.3 | | 600 | | Reviewing emails and case materials re Bryant deposition. |
| 852 | 4/13/2016 | Pachman, Krysta K. | Associate | LI05 | 17.4 | | 375 | \$6,525.00 | Attending D. Beson deposition preparation and deposition (12.0). Traveling from Naples, Florida to Rochester, New York for M. Bryant preparation (5.4). |
| 853 | 4/13/2016 | Sklaver, Steven G. | Partner | LI11 | 0.5 | i | 700 | \$350.00 | Conferring re document review. |
| 854 | 4/14/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | 1 | | 350 | \$350.00 | Conferring via email re document production and privilege log. |
| 855 | | Hoek, Kathryn P. | Partner | LI07 | 2.4 | | 350 | , | Reviewing additional Beson documents for responsiveness and production (2.0). Reviewing and responding to emails re upcoming depositions (.4). |
| 856 | 4/14/2016 | Pachman, Krysta K. | Associate | LI05 | 16.7 | | 375 | \$6,262.50 | Reviewing M. Bryant documents (1.5). Attending M. Bryant deposition preparation (5.0). Traveling from Rochester, New York to Kansas City, Missouri (7.5). Reviewing class rep documents (1.5). Preparing Rojanasathit interrogatory responses (1.2). |
| 857 | 4/14/2016 | DeGeorges, Simon | Paralegal | LIO7 | 4.9 | | 270 | \$1,323.00 | Reviewing documents on Relativity database for any materials relating to or confirming Christopher Hunt's purchase of a Sony laptop in 2003 and Compaq laptops in 2006 and 2010, Bradley Seldin's purchase of an Acer Aspire laptop in 2008, and John Kopp's purchase of a Dell laptop in 2005 and emailing search results to K. Pachman in accordance with her request. |
| 858 | 4/15/2016 | Eccles, Lindsey Godfrey | Partner | LI07 | 0.4 | | 350 | \$140.00 | Conferring via email re document production and privilege log. |
| 859 | | Hoek, Kathryn P. | Partner | LIO7 | 1.3 | | 350 | | Reviewing Bryant documents for responsiveness and production (1.0). Reviewing and responding to emails re document review (.3). |
| 860 | 4/15/2016 | Pachman, Krysta K. | Associate | LI04 | 6.8 | | 375 | \$2,550.00 | Attending J. O'Daniel deposition preparation (5.0). Reviewing documents for supplemental production and emails re same (1.8). |
| 861 | 4/15/2016 | DeGeorges, Simon | Paralegal | LI07 | 0.3 | | 270 | | Reviewing errata sheets of Maury Billingsley and Joseph Pankow and emailing same to production department at TSG Reporting in accordance with K. Pachman's request. |
| 862 | 4/15/2016 | DeGeorges, Simon | Paralegal | LI07 | 3.3 | | 270 | | Reviewing and updating production log in accordance with K. Pachman's request |
| 863 | 4/16/2016 | Pachman, Krysta K. | Associate | LI04 | 4.8 | | 375 | \$1,800.00 | Traveling from Kansas City to Los Angeles after J. O'Daniel deposition preparation (4.5). Emailing re discovery (.3). |
| 864 | 4/17/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.2 | | 550 | \$110.00 | Conferring via email re class representative issues. |
| 865 | 4/17/2016 | Pachman, Krysta K. | Associate | LI02 | 0.2 | ! | 375 | \$75.00 | Emailing re discovery. |
| 866 | 4/18/2016 | Pachman, Krysta K. | Associate | LIO2 | 7.3 | | 375 | \$2,737.50 | Finalizing requests for production for service (.8). Reviewing and revising privilege log (4.5). Preparing M. Bryant documents for service (.5). Reviewing class representative supplemental productions (1.5). |
| 867 | 4/18/2016 | Hoek, Kathryn P. | Partner | LI09 | 0.4 | | 600 | \$240.00 | Reviewing emails and case materials/correspondence re McGuinness discovery. |
| 868 | 4/18/2016 | DeGeorges, Simon | Paralegal | LI07 | 3.9 | | 270 | \$1,053.00 | Reviewing all production letters and updating production log to reflect ranges referenced in letters and document types in accordance with K. Pachman's request. |
| 869 | 4/19/2016 | Pachman, Krysta K. | Associate | LI11 | 12.7 | 1 | 375 | | Emailing re M. Bryant battery (.5). Emailing re P. McGuinness discovery call (.5). Coordinating discovery (11.7) |
| 870 | 4/20/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.1 | | 550 | \$55.00 | Reviewing emails re class representative issues. |
| 871 | | Hoek, Kathryn P. | Partner | LI09 | 0.4 | | 600 | ' | Reviewing emails and case materials/correspondence re verifying battery and purchases of class members. |
| 872 | | Pachman, Krysta K. | Associate | LI05 | 16.7 | 1 | 375 | , -, | Preparing for M. Bryant deposition (3.0). Attending M. Bryant deposition (8.0). Coordinating discovery (3.0). Reviewing documents for responsiveness (2.7). |
| 873 | | Sklaver, Steven G. | Partner | LI11 | 0.5 | · | 700 | | Conferring re depositions and alleged adequacy issues. |
| 874 | | Eccles, Lindsey Godfrey | Partner | LI11 | 1.5 | | 550 | | Reviewing emails re class representative issues. |
| 875 | | Pachman, Krysta K. | Associate | LI02 | 4.4 | | 375 | | Finalizing M. Bryant supplemental interrogatories (.7). Finalizing C. Batey errata (.7). Reviewing documents for privacy redactions (3.0). |
| 876 | | Hoek, Kathryn P. | Partner | LI09 | 0.5 | | 600 | , | Reviewing emails and case materials/correspondence re verfiying battery and purchases of class members. |
| 877 | | Pachman, Krysta K. | Associate | LI03 | 13.9 | | 375 | | Traveling from New York to Los Angeles (9.0). Preparing interrogatory responses for service (1.5). Reviewing and revising privilege log (3.4). |
| 878 | | DeGeorges, Simon | Paralegal | LI07 | 0.2 | | 270 | | Reviewing signed errata sheets of Brian Batey and Steven Bugge and emailing same to TSG Reporting in accordance with K. Pachman's request. |
| 879 | | Hoek, Kathryn P. | Partner | LI09 | 0.4 | .} | 600 | | Reviewing emails and case materials re O'Daniel purchases. |
| 880 | | Hoek, Kathryn P. | Partner | LI09 | 0.3 | | 600 | | Reviewing emails and deposition summaries. |
| 881 | | Pachman, Krysta K. | Associate | LI04 | 5.8 | | 375 | | Traveling from Los Angeles to Kansas City for O'Daniel deposition. |
| 882 | 4/27/2016 | Pachman, Krysta K. | Associate | LI04 | 6.3 | 1 | 375 | \$2,362.50 | Attending O'Daniel deposition. |

| | В | E | F | J | K | N | 0 | P |
|-----|-----------------|-------------------------|-----------------------------|---------|--------|----------------|------------------|---|
| 1 | Matter # (| 013657 Lithium Batte | eries Antitrust Time Entrie | es fror | n 6/1/ | 2013 through 2 | /28/2017 - Histo | oric Rates (with Document Review Cap) |
| | | TKPR Name | Title | Task | | | Extended Amount | |
| 2 | | | | | | Doc Rev Cap) | (w/ Doc Rev Cap) | |
| 883 | 4/28/2016 | Eccles, Lindsey Godfrey | Partner | LI11 | 0.2 | . 550 | \$110.00 | Attending to class representative issues. |
| 884 | 4/28/2016 | Hoek, Kathryn P. | Partner | LI09 | 0.4 | 600 | | Reviewing emails, case materials and deposition summaries. |
| 885 | 4/28/2016 | Pachman, Krysta K. | Associate | LI04 | 6.9 | 375 | \$2,587.50 | Traveling from Kansas City to Los Angeles from O'Daniel deposition (5.5). Summarizing O'Daniel deposition (.8). |
| 886 | 1/20/2016 | Pachman, Krysta K. | Associate | LI04 | 13.1 | 375 | \$4 Q12 E0 | Preparing for Rojanasathit deposition prep (.6). Traveling to San Francisco (5.0). Preparing for Rojanasathit deposition (8.1). |
| 887 | | Pachman, Krysta K. | Associate | LI111 | 0.2 | · | | Emailing re Rojanasathit deposition. |
| 888 | | Eccles, Lindsey Godfrey | Partner | LI05 | 0.2 | ·} | | Conferring via email re class representative depositions. |
| 889 | | Pachman, Krysta K. | Associate | LIO5 | 1.2 | - | | Emailing re discovery (.7). Participating in call re P. Rojanasathit deposition (.5). |
| 890 | | Hoek, Kathryn P. | Partner | LI03 | 0.5 | | 4 | Reviewing emails and deposition summaries of O'Daniel deposition. |
| 030 | | DeGeorges, Simon | Paralegal | LI07 | 0.3 | | | Reviewing and sending deposition errata sheets of D. Fennelly and T. Pham to TSG Reporting in accordance with |
| 891 | 3/2/2010 | Dedeorges, Simon | raraicgai | Lio | 0.5 | , 270 | 701.00 | K. Pachman's request. |
| 892 | 5/3/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.2 | . 550 | | Conferring via email re class representative depositions. |
| 893 | 5/3/2016 | Pachman, Krysta K. | Associate | LI05 | 4.1 | . 375 | \$1,537.50 | Traveling to San Francisco for P. Rojanasathit deposition (3.0). Reviewing and revising letter to counsel for |
| 894 | E/4/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.1 | 550 | ĊEE OO | Billingsley re dismissal from case (.5). Emailing re discovery (.6). Conferring via email re class representative depositions. |
| 034 | | Pachman, Krysta K. | Associate | LIO5 | 9.3 | | . \$ | Attending P. Rojanasathit deposition preparation (2.0). Attending P. Rojanasathit deposition (5.0). Traveling to |
| 895 | 3/4/2010 | raciiiiaii, ki ysta k. | Associate | LIUJ | 9.3 | 37. | , γο,467.50 | Los Angeles from San Francisco (2.3). |
| 896 | 5/5/2016 | Eccles, Lindsey Godfrey | Partner | LI05 | 0.2 | . 550 | \$110.00 | Conferring via email re class representative depositions. |
| 897 | 5/5/2016 | Hoek, Kathryn P. | Partner | LI09 | 0.6 | 600 | \$360.00 | Reviewing emails re class representative depositions. |
|)" | 5/5/2016 | Pachman, Krysta K. | Associate | LI06 | 1 | . 375 | \$375.00 | Attending call re class representative discovery wrap-up (.2). Emailing re deposition errata (.2). Participating in |
| 898 | | | | | | | | call with J. Mann re deposition transcript (.2). Summarizing P. Rojanasathit deposition (.4). |
| 899 | 5/9/2016 | Pachman, Krysta K. | Associate | LI03 | 0.2 | 375 | \$75.00 | Preparing supplemental interrogatory responses for Van Patten and emailing re same. |
| 900 | | Hoek, Kathryn P. | Partner | LI09 | 0.6 | .} | | Reviewing emails and updating interrogatory responses. |
| 901 | | Hoek, Kathryn P. | Partner | LI09 | 0.6 | | | Reviewing emails and preparing amended interrogatory responses for class reps. |
| 902 | | Eccles, Lindsey Godfrey | Partner | LI11 | 0.2 | | | Conferring via email re class representative issues. |
| 903 | | Hoek, Kathryn P. | Partner | LI09 | 0.3 | 4 | | Reviewing emails and preparing amended interrogatory responses to Tolchin. |
| 904 | | Pachman, Krysta K. | Associate | LI09 | 0.5 | .} | | Emailing re J. Ames interrogatory responses (.2). Emailing re case update for C. Batey (.3). |
| | | Pachman, Krysta K. | Associate | LI03 | 1.3 | | 4 | Preparing amended interrogatory responses for J. Ames (.5). Preparing responses to K. Warren's letters re |
| 905 | | | | | | | | discovery (.8). |
| 906 | | Hoek, Kathryn P. | Partner | LI09 | 0.4 | .} | ·} | Reviewing emails re Tolchin's documents. |
| 907 | | Pachman, Krysta K. | Associate | LI05 | 0.3 | .} | | Emailing re deposition errata. |
| 908 | | Pachman, Krysta K. | Associate | LI07 | 0.2 | | ·\$ | Emailing re D. Tolchin's documents. |
| 909 | 5/23/2016 | DeGeorges, Simon | Paralegal | LI07 | 0.5 | 5 270 | \$135.00 | Reviewing, confirming and revising deposition log sent by M. Caylao from Cotchett Pitre and emailing revised version of same to K. Pachman in accordance with her request. |
| 910 | 5/23/2016 | Pachman, Krysta K. | Associate | LI11 | 0.8 | 375 | \$300.00 | Emailing re discovery. |
| 911 | | Pachman, Krysta K. | Associate | LI09 | 0.2 | ·} | | Emailing re discovery. |
| 912 | | Hoek, Kathryn P. | Partner | LI09 | 0.5 | | | Reviewing emails and opposition to motion for class certification |
| 913 | | Pachman, Krysta K. | Associate | LI04 | 0.2 | | | Emailing class representatives re deposition errata and deposition scheduling. |
| - | | Pachman, Krysta K. | Associate | LI04 | 0.2 | · | | Emailing class representatives re deposition errata (.1). Responding to correspondence from defendants (.1). |
| 914 | C 4 100 / - | S 6 6: | | | ~ - | | 4 | De in its describing to the off M Described on the control of the |
| 915 | 6/1/2016 | DeGeorges, Simon | Paralegal | LI07 | 0.2 | 270 | \$54.00 | Reviewing deposition errata sheet of M. Bryant and emailing same to TSG Reporting in accordance with K. Pachman's request. |
| 916 | 6/1/2016 | Pachman, Krysta K. | Associate | LI09 | 0.7 | 375 | \$262.50 | Emailing re discovery. |
| 917 | | Pachman, Krysta K. | Associate | LI09 | 0.3 | - | | Reviewing opposition to motion for class certification. |
| 918 | | Pachman, Krysta K. | Associate | LI03 | 0.7 | | 4 | Preparing letter re D. Beson (.5). Serving interrogatory responses (.2). |
| 919 | | Sklaver, Steven G. | Partner | LI04 | 0.8 | | <u> </u> | Conferring re Beson deposition issues. |
| 920 | | Pachman, Krysta K. | Associate | LI04 | 0.9 | | \$337.50 | Coordinating deposition preparation. |
| | | DeGeorges, Simon | Paralegal | LI07 | 1 | | \$270.00 | Reviewing docket to ascertain if Samsung SDI is a defendant and whether it filed a Motion to Dismiss for Lack of |
| 021 | | <u> </u> | _ | | | | | Personal Jurisdiction or Motion to Transfer Venue, email results, in addition to most recent complaint from |
| 921 | | | 1 | | | |] | March 18, 2016 to K. Srinivasan. |

| _ | | | | 1 | | 1 | | |
|-----|------------|--------------------|-----------------------------|----------|---------|---------------------|------------------|--|
| | В | E | F | J | K | N | 0 | Р |
| 1 | Matter # 0 | 013657 Lithium Bat | teries Antitrust Time Entri | es fro | m 6/1/2 | 2013 through 2, | /28/2017 - Histo | oric Rates (with Document Review Cap) |
| | Date | TKPR Name | Title | Task | Hours | Historical Rate (w/ | Extended Amount | Narrative |
| 2 | | | | | | Doc Rev Cap) | (w/ Doc Rev Cap) | |
| 922 | 6/15/2016 | Pachman, Krysta K. | Associate | LI05 | 6.1 | 375 | \$2,287.50 | Traveling from Nashville to Miami for B. Seldin deposition preparation (5.0). Preparing for B. Seldin deposition preparation (1.1). |
| | 6/16/2016 | Pachman, Krysta K. | Associate | LI04 | 12.1 | 375 | \$4,537.50 | Participating in B. Seldin deposition preparation (4.0). Traveling from Miami to Los Angeles (7.5). Preparing |
| 923 | | | | | | | | amended and supplemental interrogatory responses (.5). Emailing re B. Seldin preparation (.1). |
| 924 | 6/17/2016 | Pachman, Krysta K. | Associate | LI03 | 0.3 | 375 | \$112.50 | Emailing re interrogatory responses (.2). Finalizing and serving supplemental interrogatory responses (.1). |
| 925 | 6/27/2016 | Pachman, Krysta K. | Associate | LI04 | 8.2 | 375 | \$3,075.00 | Traveling to B. Seldin deposition and preparing while traveling. |
| 926 | 6/28/2016 | Sklaver, Steven G. | Partner | LI11 | 0.5 | 700 | \$350.00 | Conferring re B. Seldin deposition and summary. |
| 927 | 6/28/2016 | Pachman, Krysta K. | Associate | LI05 | 12.6 | 375 | \$4,725.00 | Preparing for B. Seldin deposition (1.0). Attending B. Seldin deposition (5.0). Traveling from Miami to Los Angeles from B. Seldin deposition (6.6) |
| 928 | 6/29/2016 | Pachman, Krysta K. | Associate | LI06 | 0.2 | 375 | \$75.00 | Emailing re discovery. |
| 929 | 6/30/2016 | Pachman, Krysta K. | Associate | LI03 | 0.4 | 375 | \$150.00 | Preparing and sending service email. |
| 930 | 7/28/2016 | Pachman, Krysta K. | Associate | LI07 | 0.3 | 350 | \$105.00 | Revising C. Batey interrogatory responses. |
| 931 | 8/9/2016 | Tan, Joel | Paralegal | LI07 | 1.5 | 270 | \$405.00 | Gathering of all deposition exhibits and preparing same for delivery to co-counsel. |
| 932 | 8/11/2016 | Pachman, Krysta K. | Associate | LI03 | 0.1 | 375 | \$37.50 | Emailing re deposition errata. |
| 933 | 8/12/2016 | Pachman, Krysta K. | Associate | LI09 | 0.1 | 375 | \$37.50 | Emailing re deposition exhibits. |
| 934 | 8/15/2016 | Pachman, Krysta K. | Associate | LI03 | 0.1 | 375 | \$37.50 | Emailing re scheduling a call to discuss interrogatory responses. |
| 935 | 8/25/2016 | Pachman, Krysta K. | Associate | LI07 | 0.1 | 350 | \$35.00 | Emailing re production log. |
| 936 | 11/13/2016 | Pachman, Krysta K. | Associate | LI10 | 0.6 | 375 | \$225.00 | Emailing re class certification hearing. |
| 937 | 1/6/2017 | Pachman, Krysta K. | Associate | LI12 | 0.2 | 375 | \$75.00 | Emailing re approval of settlement. |
| 938 | | | | <u> </u> | İ | <u> </u> | | |
| 939 | | | | <u> </u> | 2,781.9 | | \$1,181,409.50 | |

EXHIBIT E

EXHIBIT E

In re Lithium Ion Batteries Antitrust Litigation SUSMAN GODFREY L.L.P.

Reported Expenses Incurred on Behalf of IPPs

EXPENSE REPORT

| CATEGORY | AMOUNT INCURRED |
|--|--------------------|
| Attorney Service | |
| Litigation Assessment | |
| Court Fees (Filing, etc.) | \$310.00 |
| Document Production | |
| Experts/Consultants | |
| Federal Express | |
| Transcripts (Hearing, Deposition, etc.) | \$2,182.65 |
| Investigation | |
| Lexis/Westlaw | \$2,434.30 |
| Messenger/Delivery | \$3,089.82 |
| Photocopies – In House (capped at \$0.20 per copy) | \$1,729.60 |
| Photocopies – Outside | \$2,330.25 |
| Postage | |
| Service of Process | |
| Supplies | |
| Telephone/Telecopier | \$28.40 |
| Travel | \$52,070.82 |
| Miscellaneous | \$126,348.04 |
| TOTAL: | \$190,523.88 |